@Irsprings

Edition

Airspring.com | Airtech 04
Contitech | Dunlop | Firestone —
Goodyear | Pirelli | Springride | Vibracoustic

airsprings Mool



a|rsr| nSTM Introduction

Welcome

We at Granning are proud to present the Fourth Edition of our Air

(5' rS p rl n ! l S " Spring Catalogue.

In this latest edition we have added an extra 100 new
references, and we have made the identification process of
your air spring a quick and easy exercise.

Through our extensive product knowledge and the vast amount
of air spring references we have available, the catalogue has
been divided into sections, to enable you to go directly to the air
spring you require.

With the growing popularity of CAB and CAR air springs these
products now have their own section.

We believe at Airsprings.com we carry the widest range of air
springs in Europe. Should you be unable to find the appropriate
item you are looking for, please ring our dedicated sales teams
who will endeavour to assist you.

All the information in this catalogue, along with all the products
we stock and distribute can be found online at www.airsprings.
com

May | also take this opportunity to thank all those involved

in completing this catalogue, a special thank you goes to
Rafal Pastula for his time and patience in putting together the
appropriate information.

For further information or any feedback you may have with
regard to this catalogue and how it may be improved upon
please contact us on any of the numbers listed below.

As always we appreciate your comments.

Mr Andrew Clayton L’,\

Director
Granning UK
Granning Group
Granning Ireland Ltd Granning UK Ltd Granning (NI) Ltd Granning Poland
Naas Industrial Estate 37 Melford Court Herdman Channel Road Ul. Pultuska 63 E
Naas Hardwick Grange Off Duncrue Street 02-700 Wyszkow
Co. Kildare Warrington, Cheshire Belfast, Northern Ireland woj. mazowieckie
WA1 4RZ England BT3 9BL Poland

Tel. +353 (0) 45 875 996 Tel. +44 (0) 1925 810400 Tel: +44 (0) 2890 740055 Tel: +48 (0) 785 875 996
Fax +353 (0) 45 894 305 Fax +44 (0) 1925 817153 Fax: +44 (0) 2890 740203

- Granning UK Ltd +44 (0) 1925 810 400
H i Granning Ireland Ltd +353 (0) 45 875 996
airsprings Granning (NI) Ltd +44 (0) 2890 740 055

Granning Poland +48 (0) 785 875 996



Introduction (al FSpri nSm

@Irsprings

Dedicated Product Catalogues

™ Exhaust
airsprings Cxaa:iilogue

one Egiton

Airtech

Dunlop 01
ide

GGGGGGGG
Brake Drums, Discs, Pads & Calipers

il

Ceatalogue

All Parts Catalogue Edition 1

Parabolic Spring Manual Valve and Air Brake Catalogue

Granning UK Ltd +44 (0) 1925 810 400
Granning Ireland Ltd +353 (0) 45 875 996 1 i
2 Granning (NI) Ltd +44 (0) 2890 740 055 airsprings

Granning Poland +48 (0) 785 875 996



a|rsr| nSTM Introduction

@Irsprings

Dedicated Product Website

L+ ] ek e, ¥ sy K

(@ITSprings - €,

Airsprings.com is proud to present our new look wesite,
this site allows you to directly check on line from our
product database. All major suppliers of airsprings

are listed, also are all the leading suppliers of commercial
vehicles. The web site allows you to find the parts you
require at a touch of a button.

i

We supply Airsprings for
Bus, Cab.Truck, Traller & Industrial Applications

If you are searching for a part number e.g. equivalent to
Conti 725N, type in the part Number in the “competitors
box”. A minimum of 3 digits is required. At this point
you will be presented with a list of parts, choose the
appropriate part number you require. Should you have
a manufactures part number e.g. Meritor 21222442
type this also into “competitors box” either part or the
complete number should be typed in. If you already
know the Granning part number but just would like to
check dimensions type in the appropriate number e.g.
15732 in the Granning part number box. This will then
give you a picture and dimensioon of the required item.

ey e AT g
(&1

go with your airspring shipment, go back to the main menu
and click on the appropiate ‘tab’ this will take you to our
lisitings on the other products we stock.

_ If you require a shock absorber, brake drum, silencer etc to

f ANl Elakra Cafalogum
g i

B Aruprings Catsiogus

& Lt Dviarww P80 Ak saarad T of Bibeni |

Should your search not be successful, please contact our parts department and they will be only to happy to help.

Granning UK Ltd +44 (0) 1925 810 400
H i Granning Ireland Ltd +353 (0) 45 875 996
airsprings Granning (NI) Ltd +44 (0) 2890 740 055
Granning Poland +48 (0) 785 875 996


http://www.airsprings.com
http://www.airsprings.com
http://www.airsprings.com

Introduction a|rsr| nSm

Contents Page
Common Air Spring TerminoloQy ... 5
Air Spring ComMPONENTS .......ooiiiii e 6
Air Spring Identification ... 7
Removing an Old Air SPHNG....cooiiii e, 8

Installing a New Airsprings.com Rolling Lobe Air Spring without Metal Parts....8

Installing a New Airsprings.com Rolling Lobe Air Spring with Top Plate .......... 9
Section 1 Airspring Supplier Cross Reference ListS..........ccccc.ovoo. 11
Section 2 Cab Spring Technical Drawings...........ccccccvviiiiiiiiiiinnnnn.. 67
Section 3 Car Spring Technical Drawings..........cccccooeeeeeiiiiiiiieeeecc, 83
Section 4 Airspring Technical Drawings ............cccvvvviiiiviiiiiiiiiinnnnn., 87
Section 5 BPW Airspring Service Parts........ccccccccvvii 177
Section6 Diaphagm Technical Drawings ..........cccccovvvveeeeiiiiiieee.. 183
Section7  Dunlop Type Convoluted Parts .............ccccoviiieeee 197
Section8  Air Spring Manufacturer Cross Reference Lists.............. 207
Piston 1dentifiCation LIST...........cooiriiicee e 274

Main Causes for Premature Air Spring Failures and How to Prevent Them ..275

Granning UK Ltd +44 (0) 1925 810 400
Granning Ireland Ltd +353 (0) 45 875 996 1 i
Granning (NI) Ltd +44 (0) 2890 740 055 airsprings

Granning Poland +48 (0) 785 875 996



a|rsr| nSTM Introduction

Common Air Spring Terminology

4 J— )
[l
Complete Air Spring Complete Air Spring Straight Sided Single Convoluted
Assembly Assembly Diaphragm
Rolling lobe or reversible Vulcanised style.
sleeve style.

4 H )
N J
Service Assembly Cab Mount Air Spring Tapered Diaphragm Double Convoluted

Complete Assembly
minus the piston (Base).
4 )
N J
Piston Only Seat Mount Air Spring Diaphragm with Triple Convoluted
Moulded Bottom Plate
(End Closure)
Note: The contents of this catalogue must not be copied or
reproduced without the written permission from
Granning UK Ltd.
Granning UK Ltd +44 (0) 1925 810 400

Granning (NI) Ltd +44 (0) 2890 740 055

airsprings Granning Ireland Ltd +353 (0) 45 875 996
Granning Poland +48 (0) 785 875 996 f ;



Introduction a|rsr| nSm

Air Spring Components

1. Stud Shown as:- @ 1i— —

A permanent part of the bead plate assembly

used to attach the air spring to the suspension. C S5
2 4

Combination Stud Shown as:- O

~

This provides a dual purpose of mounting the air
spring to the suspension and providing an air
entrance.

6

3. Blind Nut (Threaded Hole)Shown as:- ®
A permanent part of the bead plate assembly
providing an alternative mounting system to the
Stud.

I\

4. Air Fitting Hole Shown as:- (X \
A tapped hole providing air entrance for the part. [ 7

2
5. Bead Plate (Top Plate)
Permanently crimped onto the bellows, diaphragm
during manufacture. %
O

6. Bellows
The heart of the airspring.Includes at least four ply,
or layers of material - an inner layer, two ply of cord
reinforced fabric and an outer layer.

©

7. Bumper (Bump Stop)
A solid moulded rubber fail safe device used 4 3
on many suspension applications. Prevents excessive | |
damage to the vehicle and suspension in the case of

sudden air pressure loss. % 5
8. Piston

The lower section of the airspring made from 6

aluminium, steel or composite material ie. plastic.

Provides lower mounting arrangement for the

airspring in the form of threaded holes or studs.

_ 10

9. Piston Bolt

Attaches the piston to the bellows assembly and in

some cases is extended to serve as a means of

attaching the airspring to the suspension.
10. Girdle Hoop (Centre Ring)

A ring between the convolutions of the convoluted

0,
type air spring, helps provide stability in the part. t j— 5

The contents of this catalogue must not be copied or

reproduced without the written permission from
Granning UK Ltd.

Granning UK Ltd +44 (0) 1925 810 400
Granning Ireland Ltd +353 (0) 45 875 996 1 i
6 Granning (NI) Ltd +44 (0) 2890 740 055 airsprings

Granning Poland +48 (0) 785 875 996




@irsprings’

Introduction

1

WO01-358-9096

N /

Air Spring ldentification

~

N

3

~

N

1. Read Part Numbers & Bellows
Numbers
The first step to identifying an airspring for
replacement is to read the part number on
the label attached to the bead plate ie.WO01-
358-9096. If the number is illegible read the
bellows number which is normally moulded
in to the rubber. A Style number such as
IT15M-6 or 22 would tell exactly which
bellows is needed so therefore bypass
sections 2 & 3.
If the bellows number is illegible then
determine the style by comparing it to the
illustrations in this guide. Proceed to section
2 if rolling lobe assembly or section 3 for
convoluted.

4

~

}

N

J
2. Rolling Lobe Style

Measure the bead plate diameter and the
moulded uninflated diameter of the rubber
bellows and compare this with the rolling
lobes illustrated in this guide until a match
is found. Please note that the molded
diameter can increase slightly with years of
service.
Then measure from the bottom of the piston
to the top of the bead plate when the part
is (uninflated) and extended. Next, find
the same or similar measurement in the
rolling lobe section that was previously
determined. When this has been done go
to section 4.

~

1.D. Numbers

J
3. Convoluted Style

First determine whether the airspring is a
single, double or triple convoluted style by
comparing it to the illustrations in this guide.
Then measure the bead plate diameter
and the diameter of the bellows across
its widest area (uninflated) and compare
these dimensions with those given in the
convoluted section. Once a match has been
made proceed to section 4.

6

- J

J
4. Bump Stop Fitted

Many airsprings contain a rubber bumper
inside the spring. To determine if one is
present compress the spring to its minimum
height and measure from the bottom plate
or piston to the top of the bead plate.
Compare this compressed height with
the illustrations in the appropriate bellows
section that was determined in either the
rolling lobe or convoluted sections. Then
proceed to section 5 if you have rolling lobe
style or section 6 if you have a convoluted
style.

airsprings

J
5. Rolling Lobe (Top Plate & Piston)
The same bellows are used with many
different combinations of top plates and
pistons, so please check closely.
Look at the fixtures on the top plate. Note
how the air is fed into the airsprings. Is it
part of one of the studs or is it completely
separate. Measure the centres of the
fixation studs or bolts. Once this has been
done look through the appropriate section
previously determined and look at the
column marked “Top View” until the correct
top plate is selected.

Note: The contents of this catalogue must not be copied or

Granning UK Ltd

Granning Ireland Ltd

Granning (NI) Ltd
Granning Poland

6. Convoluted Style
The same bellows are used with many
different combinations of bead plates.
Compare these top plates and bottom
plates with those illustrated in the
convoluted section. Note how the air is fed
into the airspring and measure the centres
of the fixation studs or bolts.

reproduced without the written permission from

Granning UK Ltd.

+44 (0) 1925 810 400
+353 (0) 45 875 996

+44 (0) 2890 740 055

+48 (0) 785 875 996



Introduction a|rsr| nSm

Removing an Old Air Spring

1. Jack up the vehicle securely as high as possible. Make sure it cannot fall off its supports.

2. Let the air out of the air spring system.

3. Remove the old air spring.

4. Please note that for conical rolling lobe air springs, the narrow end must be placed on the piston.

Installing a New Airsprings.com Rolling Lobe
Air Spring without Metal Parts

1. Clean the bead seats on the clamping plate and spring piston. Check that the mounting hardware is
free of burr and is not corroded (replace if necessary). Apply a soap solution or an approved fitting
lubricant (not grease) to the bead seat of the piston.

2

2. Compress the new air spring to a 3. Place the folded air spring between 4. Fix the lower bead to its seat on the
hand’s width, while pushing it in the piston and the clamping plate. piston and the upper bead to its
below the upper bead. seat on the clamping plate.

o

5. Pressurise the air spring so that its 6. Lower the vehicle and the air spring
beads fit precisely between the plate will automatically roll down the
and piston. The beads should snap piston. The air spring is now fitted.
into place.

Note: The contents of this catalogue must not be copied or
reproduced without the written permission from

Granning UK Ltd.

Granning UK Ltd +44 (0) 1925 810 400
Granning Ireland Ltd +353 (0) 45 875 996 1 i
8 Granning (NI) Ltd +44 (0) 2890 740 055 airsprings

Granning Poland +48 (0) 785 875 996



a|rsr| nSTM Introduction

Installing a New Airsprings.com
Rolling Lobe Air Spring with Top Plate

1

- . '||"|I_--'-h,--.
N
The bolts or threads on complete 1. Fit the top crimping plate of the 2. Align the bottom clamping plate
Airspring.com replacement air air spring to the chassis / frame of and the piston to coincide with the
spring normally match the vehicle’s the vehicle. Press the bottom bead hole pattern of the axles and stick
hole pattern. into an oval shape and push the the bottom clamping plate in the
bottom clamping plate through. piston holes.

The Piston and the bottom clamping
plate should be cleaned if the piston
is to be reused.

- "'{
]
- & wnl

e

3. Screw the bottom clamping 4. Mount the piston on the vehicle
plate tightly onto the piston axle, inflate the air spring and lower
(if necessary secure the air spring vehicle. The rolling lobe air spring is
with another person’s help to prevent now fitted and will automatically roll
it from twisting, or tighten prior to onto the piston.

final mounting).

Note: The contents of this catalogue must not be copied or
reproduced without the written permission from

Granning UK Ltd.

- Granning UK Ltd +44 (0) 1925 810 400
H i Granning Ireland Ltd +353 (0) 45 875 996
airsprings Granning (NI) Ltd +44 (0) 2890 740 055 9

Granning Poland +48 (0) 785 875 996



Introduction

Note: The contents of this catalogue must not be copied or

reproduced without the written permission from
Granning UK Ltd.

10

Granning UK Ltd
Granning Ireland Ltd
Granning (NI) Ltd
Granning Poland

+44 (0) 1925 810 400
+353 (0) 45 875 996
+44 (0) 2890 740 055
+48 (0) 785 875 996

@irsprings’



Section 1

Air Spring Supplier
Cross Reference Lists

Manufacturer Page
Airspring.com Part Numbers.................... 11
AIMECH . 15
Blacktech ......oooooiie, 19
CONNECT.....oeeee e 21
CoNtiteCh......cveveiicce e 23
DUNIOP v, 28
Dunlop France.......c.cccoceeeeeeececiciee, 29
FIreStONe ..o, 32
G o USRS 42
GOOUYEAC ... 43
KBV ..., a0
1T 1 (0] R 93
MONTOB ..o, 95
PROBNIX....c.eoieiiiieeee e, 25
PIrellicceeeeeee s 58
SACNS ..o 60
TAUUS .o 61
VibracoustiC ......covevrveeeerceseeeeee e 62

Note: Manufactures part numbers used in this catalogue are for cross reference purposes only
and do not imply the origin or manufacturer of the product.



Airspring Supplier Cross Reference Lists

Airsprings.com

A|rspr|ngs com Alrsprlngs com Alrsprlngs com A|rspr|ngs com

15510 15614 15669 15750

15512 76 15615 150 15670 132 15755 93
15513 76 15615-C 150 15671 172 15758 152
15514 76 15616 167 15672 170 15765 141
15515 76 15617 155 15673 138 15768 144
15516 77 15618 87 15676 93 15769 142
15517 85 15619 115, 160 15677 93 15775 94
15518 85 15621 183 15678 92 15777 94
15519 77 15622 183 15680 129 15778 134
15521 77 15623 183 15682 140 15779 133
15522 77 15625 183 15684 140 15782 143
15523 72 15626 184 15687 185 15783 144
15524 72 15627 138 15690 151 15784 131
15525 78 15630 155 15692 151 15785 144
15528 79 15633 151 15694 156 15790 177
15530 68 15634 167 15697 141 15791 176
15531 68 15635 164 15698 185 15793 135
15532 68 15637 184 15699 156 15795 118
15533 69 15639 184 15700 185 15797 118
15534 69 15641 184 15701 186 15798 135
15535 69 15642 185 15702 186 15799 161
15580 115 15643 116 15704 186 15801 197
15593 84 15644 146 15706 186 15803 197
15595 129 15645 116 15707 148 15805 197
15597 85 15646 134 15709 112 15807 198
15598 137 15647 133 15710 116, 132 15809 199
15599 131 15650 134 15711 116, 146 15811 199
15600 115, 160 15651 161 15712 117, 148 15813 200
15601 115, 160 15652 123 15713 117,151 15814 200
15602 146 15653 167 15714 117, 156 15814B 200
15603 131 15654 162 15715 117, 156 15817 201
15605 123, 160 15655 123 15725 87 15819 201
15606 164 15656 123 15731 142 15821 202
15607 138 15657 144 15732 142 15822 203
15608 145 15658 124 15735 118, 135 15824 203
15609 148 15663 133 15736 138 15826 203
15610 150 15664 134 15737 139 15829 204
15611 150 15665 141 15738 172 15830 204
15612 155 15666 135 15739 148 15832 205
15613 164 15668 131 15747 149, 93 15836 175

- Granning UK Ltd +44 (0) 1925 810 400
H H Granning Ireland Ltd +353 (0) 45 875 996
airsprings Granning Lynx (NI) Ltd +44 (0) 2890 740 055 1 1

Granning Lynx Poland +48 (0) 785 875 996



Airspring Supplier Cross Reference Lists

Airsprings.com

Alrsprlngs com A|rspr|ngs com Alrsprmgs com Alrsprmgs com

15837 15933 16048 16224

15842 203 15937 189 16052 159 16225 89
15844 187 15944 189 16065 168 16226 89
15847 203 15948 189 16067 119 16227 106
15848 204 15954 190 16068 119 16228 106
15850 201 15956 104 16070 154 16230 113
15851 201 15957 104 16071 154 16241 180
15860 199 15959 178 16076 145 16242 180
15867 172 15960 190 16077 145 16244 181
15868 173 15961 178 16080 157 16247 191
15869 175 15962 104 16081 152 16265 89
15870 175 15963 104 16082 165 16270 89
15871 175 15964 105 16084 168 16275 136
15872 198 15965 105 16087 152 16276 136
15887 198 15966 190 16089 137 16905 181
15889 198 15967 180 16091 168 16917 181
15890 176 15990 87 16091ATP 168 16918 181
15892 197 15992 174 16092 165 16919 182
15896 202 15993 162 16098 161 17002 171
15897 202 15994 147 16099 161 17016 204
15899 198 15995 92 16101 173 17017 204
15901 177 15996 87 16104 112 17025 192
15902 177 15997 174 16105 119, 172 17026 192
15903 179 15998 158, 92 16114 191 17028 152
15905 179 16001 140 16120 165 17029 137
15906 187 16002 140 16122 169 17031 153
15907 167, 91 16008 157 16124 169 17032 153
15908 187 16009 145 16136 200 17033 153
15909 178 16012 159 16140 202 17034 158
15912 187 16013 158 16142 202 17035 159
15913 188 16015 163 16155 105 17036 147
15914 132 16016 149 16156 105 17040 139
15915 132 16018 190 16160 106 17043 197
15916 177 16022 133 16166 191 17045 199
15917 179 16032 94 16190 136 17052 192
15918 179 16034 118 16195 88 17055 192
15919 180 16036 137 16204 112 17060 90
15923 188 16045 88 16206 106 17061 90
15927 188 16046 112 16213 113 17065 173
15929 188 16047 191 16218 88 17066 90

Granning UK Ltd +44 (0) 1925 810 400
Granning Ireland Ltd +353 (0) 45 875 996 H i
1 : 2 Granning (NI) Ltd +44 (0) 2890 740 055 airsprings

Granning Poland +48 (0) 785 875 996



Airspring Supplier Cross Reference Lists

Airsprings.com

A|rspr|ngs com Alrsprlngs com Alrsprlngs com A|rspr|ngs com

17072 50158 90105 92901

17074 195 50159 80 90106 130 93000 122
17077 193 50162 72 90208 119 93001 170
17080 193 50163 73 90250 199 93002 170
17082 194 50501 80 90900 83 93003 170
17090 107 50502 80 90901 83 93004 171
17105 149 50503 81 90902 83 93005 171
17120 200 50505 70 90903 83 93100 114
17130 201 50506 70 90904 84 93210 90
17136 94 50507 70 90907 84 93211 114
17137 95 50508 70 90908 84 93450 182
17138 95 50509 82 91300 107 93603 174
17139 95 50510 82 91303 113 93700 173
17140 95 50511 75 91306 107 93801 124
17141 96 50512 75 91400 113 93910 125
17142 96 50514 82 91800 101 93911 125
17143 96 50515 81 91801 114 93912 125
17144 96 50517 81 92000 157 93913 125
17145 97 50519 81 92100 158 93914 126
17162 97 50521 71 92400 141 93915 126
17163 97 50522 71 92500 124 93916 107
17164 97 50523 71 92501 120 93917 108
17166 98 50524 71 92502 120 93918 108
17167 98 50525 72 92503 120 93919 126
17168 98 50532 75 92504 120 93920 126
17169 98 50533 75 92504/1 121 93922 127
17170 99 50534 78 92505 121 93924 127
17171 99 53303 73 92506 121 93925 108
17172 99 53304 73 92507 121 93926 127
17173 99 53305 73 92509 122 93930 127
17174 100 53306 74 92600 162 93931 108
17175 100 53307 74 92602 147 93932 109
17176 100 53308 74 92603 162 93933 109
17177 100 53489 67 92605 163 93934 174
17178 101 53490 67 92607 163 93935 109
17179 101 53620 82 92801 165 93936 109
17180 101 90101 129 92802 166 93937 110
50155 79 90102 129 92805 166 93938 110
50156 79 90103 130 92806 166 93939 106
50157 79 90104 130 92900 169 93940 110

- Granning UK Ltd +44 (0) 1925 810 400
H H Granning Ireland Ltd +353 (0) 45 875 996
airsprings Granning Lynx (NI) Ltd +44 (0) 2890 740 055 1 3

Granning Lynx Poland +48 (0) 785 875 996



Airspring Supplier Cross Reference Lists
Airsprings.com

Airsprings.com

93941
94001
94002
94003
94015
94020
94021
94100
94101
94102
94104
94510
94511
94514
94515
94516
94517
94900
94901
94902

14

11

102
102
102
102
111

11

103
103
103
103
193
114
193
194
194
195
128
128
176

Granning UK Ltd
Granning Ireland Ltd
Granning (NI) Ltd
Granning Poland

+44 (0) 1925 810 400
+353 (0) 45 875 996
+44 (0) 2890 740 055
+48 (0) 785 875 996

@irsprings’



TrechrinAc Airspring Supplier Cross Reference Lists
CLIRS rl@§ Airtech

Airtech Airsprings.com Page Airtech Airsprings.com
Part No. Part No. 9 Part No. Part No.
183

3644 15622 3944 15704 186
3661 15621 183 3945 15641 184
3662 15623 183 3975 15937 189
3673 15927 188 30008 * .
3701 15706 186 30789 94514 193
3706 16247 191 30792 94515 194
3713 15929 188 30907 * .
3715 15626 184 31277 16166 191
3716 15693 * 31415 94604 *
3719 15701 186 31421 15960 190
3720 15702 186 31720 15702 186
3727 15700 185 16047 191
5728 15930 . 31774 15913 188
757 16017 . 31884 15948 189
3746 * . 31885 15948 189
3757 16018 190 31688 ’ :
3762 15698 185 o1924 16236 '
s768 16019 . 34881 15961 178
5760 15705 . 34882 94002 102
— 16238 . 34883 94003 102
5780 15703 . 34884 94001 102
5786 15933 80 121051 15515 76
3788 15934 * 121052 15516 77
s617 15038 . 121053 15512 76
5810 15966 190 121054 15513 76
s636 15940 . 121055 50505 7*0
5873 15941 . 121086 15526
s876 17092 . 121101 50502 80
3882 15944 189 121201 50501 80
3883 15945 * 121202 50503 81
94517 195 121207 50515 81
3884 15946 . 121208 50516 .
3896 15639 184 121209 15528 79
3897 15642 185 121414 15525 78
3916 15912 187 126045 94900 128
3921 17091 * 126046 94901 128
3927 15637 184 319250 17082 194
3928 15625 183 319270 17072 194
3936 16235 : 320270 17074 195
3943 15696 ' 320285 17056 )

- Granning UK Ltd +44 (0) 1925 810 400
H H Granning Ireland Ltd +353 (0) 45 875 996
airsprings Granning (NI) Ltd +44 (0) 2890 740 055 1 5

Granning Poland +48 (0) 785 875 996



Airspring Supplier Cross Reference Lists C —Q "
Airtech airs rlmg

Airtech Airsprings.com Airtech Airsprings.com

393290 2 B-370 15821
336323 * . 19622 7
1B 120 90100 ’ #oToT® * *
101169K 50159 80 > 19829 o
128001K 50517 81 #oAoT® * *
" c0518 ) 201180K 50157 79
— c0515 o 201181K 50158 80
— c0531 * 202186K 50155 79
oo c0507 o 202187K 50156 7
— c0508 o 203001K 50162 72
S c0521 . 204001K 50163 73
— s0500 5 205001K 50511 75
eorax c0523 . 206001K 50512 75
i s0524 5 206014K 15523 72
— c0505 . 206015K 15524 72
— c0508 0 206057K 53307 &
e c0s14 o 206058K 53308 7
" c0510 . 207001K 50532 75
S— s3620 0 208001K 50533 75
— 16036 . 228849K 50534 78
o 15804 . 228879K 15521 7
— - = 228893K 15527 i
— 15603 . 228908K 15519 7
2 B-220-3 15599 131 I 19809 1?9
2B-225 15670 132 2o :gg}g 201
15710 116, 132 15819 201
2 B-250 16051 . 3 B-300-HYD 15865R4 i
2 B-250-HYD 15846 : 17132
2 B-255 15807 198 3 B-301HYD ’ *
» B.260 . . 3B-310 15673 138
2 B-285 15923 188 S i
2 B-300 15813 200 o * *
15814 200 3 B-355-HYD * i
2 B-301 15646 i 35:8%6 ) *
2 B.315 . . 3 B-356-HYD * :
2 B-320 15666 19 3 B-ee7 ) *
16276 136 3B-370 15824 203
2 B-350 16136 200 3 B-370-HYD 17014R4 .
2 B-355 122;2 122 3 B-400 15832 205
) B35 YD . . 3 B-400-HYD 90390 .
5550 . . 30073K * ’

Granning UK Ltd +44 (0) 1925 810 400
Granning Ireland Ltd +353 (0) 45 875 996 H i
1 6 Granning (NI) Ltd +44 (0) 2890 740 055 airsprings

Granning Poland +48 (0) 785 875 996



TrechrinAc Airspring Supplier Cross Reference Lists
CLIRS rl@§ Airtech

Airtech Airsprings.com Page Airtech Airsprings.com Page
Part No. Part No. 9 Part No. Part No. 9

30076K 34156-07KPP 16081 152
30081-01K 15993 162 34156-08KPP 15633 151
30081K 15654 162 34156-10K 15758 152
30283K 93003 170 34156-12K 15713 117, 151
30907K * * 34156-13K * *
31415-01K 93211 14 34156KPP 15633 151
31924K 16213 113 34157KPP 15731 142
32303K 17065 173 34158KPP 15657 144
30618KPP 15651 161 54159-02K 16008 157
30619KPP 16099 161 34159-02KPP 15630 185
32918K 16062 * 34159-03K * *
32923KPP 16091ATP 168 34159-04K 92000 157
32926K 15669 171 34159-04KPP 15612M *
330301K 15717 * 34159-05K 15617 155
330304K 92505 121 34159-06KPP 15714 117, 156
330305K 92502 120 34159-07KPP 15612 155
330306K 92507 121 34159-08KPP 15614 155
330307K 92503 120 34159-09K * 2
331114K 92506 121 34159-10KPP 16008 157
334506K 92501 120 34159-11K * *
33708K * * 34159-12KPP * *
34004K 15651 161 34159K * *
34004KPP 15651ATP * 34159S1K-ALU 15714 117, 156
34022K 16099 161 34183-23K 93918 108
34022KPP 16099ATP 2 34183-24K 93931 108
34023K 16091 * 34187-21K 93925 108
34390-21K 93917 108
84028K * ' 34390-22K 93916 107
3415-25 15908 187 34390-23K 93932 109
3415-28 12954 190 34390-24K 93933 109
34154-01K * * 34420K . .
34154-02KPP 15739 148 3450.95 16109 .
34154-04K 15712 117, 148 34713K 15656 123
34154-04KPP 15712 117, 148 34718K 15658 104
34154-06KPP 15712 117,148 34737.01K 16227 106
84154KPP 91801 114 34737-02K 16228 106
34156-02KPP 15610M ' 34737-21K 93935 109
84156-03K 15615 150 34737-22K 93936 109
34156-05KPP 15610 150 34757.01K 15962 104
34156-06KPP 15611 150 34757.00K 16160 106

- Granning UK Ltd +44 (0) 1925 810 400
H H Granning Ireland Ltd +353 (0) 45 875 996
airsprings Granning (NI) Ltd +44 (0) 2890 740 055 1 7

Granning Poland +48 (0) 785 875 996



Airspring Supplier Cross Reference Lists

Airtech
34757-21K 93937 34961K 16244
34757-22K 93938 110 34961KPP 16244 181
34757-29K 93939 110 34961P 16244 181
34758-01K 94020 111 36075K 16048 124
34758-21K 94021 11 36108K 93919 126
34813K 15653 167 36113K 93926 127
34838-01K 15963 104 36199K 16067 119
34838-02K 15964 105 36200K 16068 119
34838-22K 93940 110 362421K * *
34838-23K 93941 111 36247K 93922 127
34881-01K 15905 179 36251K 15619 115, 160
34881-01KPP 16905 181 36416K 92500 124
34881K 15905 179 36418K 93911 125
34882K 94102 103 36420-01K 93912 125
34883K 94101 103 3661K 91303 113
34884K 94100 103 36753K 93801 124
34885K 94015 102 36760K 93920 126
34885P * 2 36762K 93924 127
34886K 94104 103 36770K 93930 127
34886P * * 36884K * *
34911-01K 94105 * 36885K * *
34911-04K 94106 * 3701K * *
34911K 16230 113 3724K 16101 173
34911P * * 3725-01K 15868 173
34912-01K 94107 * 3725K 15867 172
34912-10K 93100 114 3725P 16100 >
34912K 16046 112 37315K 15601 115, 160
34912P 15910 * 37803K 93914 126
34913K 16105 119, 172 37804K 93910 125
34915-01K 16232 * 37805K 93915 126
34922K * * 38050K 15738 172
34925K 15691 * 3810K 15635 164
34940K * * 3811-01K 16091 168
34940KPP 16241 180 3811-02K 15634 167
34940P 16241 180 3811-06K * *
34941K 16242 180 3811-07K 15907 167, 91
34941P 16242 180 3811K 15907 167, 91
34942P * * 3813-05K 15616 167
34960KPP 93450 182 3813K 15634 167
34960P 15909 178 38185KPP 15657 144

Granning UK Ltd +44 (0) 1925 810 400
Granning Ireland Ltd +353 (0) 45 875 996 H i
1 8 Granning (NI) Ltd +44 (0) 2890 740 055 airsprings

Granning Poland +48 (0) 785 875 996



Airspring Supplier Cross Reference Lists
Airtech & Blacktech

Airtech Airsprings.com Page Airtech Airsprings.com
Part No. Part No. 9 Part No. Part No.

38186KPP 15782 39293K *
3836-01P 15991 * 39294K * 2
3836-02K 15996 87 39321KPP 16052 159
3836-02P 15999 - 39371K 16028 -
3836-04K 17060 90 39373K 16013 158
3836-06K 17061 90 39391K 16077 145
3836K 17066 90 3940-01K 19500 *
38608KPP 92605 163 3940K 15919 180
38683K 16224 88 3940KPP 16919 182
3876K 16204 112 3940P 15916 177
3881-01K 15917 179 3941-01KPP 16918 181
3881-01KPP 16917 181 3941K 15918 179
3881K 15917 179 3941P 15901 177
3881P 15790 177 3942-01K 15903 179
3887K 16045 88 39422K 16009 145
3897K 93934 174 3942K 15903 179
39002-A3-01KPP 15769 142 3942P 15902 177
39002-A3KPP 15732 142 3944K * 2
39002-A8KPP 15731 142 39466K 15998 158, 92
3901K 93200 * 3951P 15959 178
3902K 16104 112 39780K 93913 125
39039K 15608 145 39910K 15709 112
39069K 15747 149, 93 4390-01K 15956 104
391208K 15617 155 4390-02K 15957 104
391209K * * 4390-03K 16155 105
391210-01K * - 4390-04K 16156 105
391210K * * RL 9027 15912 187
39121K 15613 164
3912K 15671 172
391304K * * Part No. Part No.
301305k % « RL 9032 17091 .
391314K 15671 172 RL 9038 15637 184
391318K * - RL 9039 15625 183
391319K 15634 167 RL 9047 16235 *
391320K 15635 164 RL 9054 15696 *
391322K 15653 167 RL 9055 15704 186
39213K * * RL 9056 15641 184
39265K * * RL 9086 15937 189
39270K 15994 147 RL 92035 * 2

- Granning UK Ltd +44 (0) 1925 810 400
H H Granning Ireland Ltd +353 (0) 45 875 996
airsprings Granning (NI) Ltd +44 (0) 2890 740 055 1 9

Granning Poland +48 (0) 785 875 996



Airspring Supplier Cross Reference Lists

Blacktech

@irsprings’

Blacktech Airsprings.com Blacktech Airsprings.com
189

RL 92345 * * RL 9993 15944
RL 92526 * * RL 9994 15945 *
RL 92532 15960 190 RL 9995 15946 *
RL 92831 15702 186 RML 70081 C 15654 162
RL 92885 15913 188 RML 7012 C 93200 *
RL 92920 17090 107 RML 7013 C 16104 112
RL 92987 16215 * RML 7023 C1 15669 171
RL 92996 15948 189 RML 7023 C2 15671 172
RL 9526-36 15908 187 RML 7051 C 15919 180
RL 9526-39 15954 190 RML 7051 CP 16919 182
RL 9561-36 * * RML 7052 C 15918 179
RL 9755 15622 183 RML 7052 CP 16918 181
RL 9772 15621 183 RML 7053 C 15903 179
RL 9773 15923 188 RML 73836 C 15868 173
RL 9784 15927 188 RML 75022 C 16230 113
RL 9812 15706 186 RML 75023 C 16046 112
RL 9817 16247 191 RML 75024 C 16105 119, 172
RL 9820 15701 186 RML 75115 C 15651 161
RL 9824 15929 188 RML 75119 C 15672 170
RL 9826 15626 184 RML 75120 C 17002 171
RL 9827 15693 * RML 75133 CP 16099 161
RL 9831 15702 186 RML 75133 CP2 16098 161
RL 9838 15700 185 RML 75134 C 16091 168
RL 9839 15930 * RML 75139 C 93002 170
RL 9848 16017 * RML 75139 C5 15634 167
RL 9857 * * RML 75260 C3 16008 157
RL 9868 16018 190 RML 75260 C4 15612 155
RL 9870 15705 * RML 75260 C6 15617 155
RL 9873 15698 185 RML 75260 C7 15617 155
RL 9879 16019 * RML 75260 C8 * *
RL 9886 16238 * RML 75260 CP11 * *
RL 9893 15703 * RML 75260 CP12 * *
RL 9897 15933 189 RML 75260 CP13 * *
RL 9899 15934 * RML 75260 CP14 * *
RL 9907 15639 184 RML 75260 CP9 15630 155
RL 9908 15642 185 RML 75265 CP5 91801 114
RL 9928 15938 * RML 75266 C 15651 161
RL 9949 15940 * RML 75267 C 15610 150
RL 9984 15941 * RML 75267 C6 15633 151
RL 9987 17092 * RML 75267 C7 * *

20

Granning UK Ltd
Granning Ireland Ltd
Granning (NI) Ltd
Granning Poland

+44 (0) 1925 810 400
+353 (0) 45 875 996
+44 (0) 2890 740 055
+48 (0) 785 875 996



Airspring Supplier Cross Reference Lists

Blacktech & Connect

Blacktech Alrsprmgs com Connect Alrsprlngs com

RML 75267 C9 15615 C 321101 50502

RML 75267 CP10 16081 152 C 321201 50501 80
RML 75267 CP11 * * C 321202 50503 81
RML 75267 CP14 15633 151 CA 11001 50159 80
RML 75267 CP15 16081 152 CA 11002 50155 79
RML 75267 CP16 * * CA 11003 50156 79
RML 75268 CP3 * * CA 11004 50162 72
RML 75268 CP4 15731 142 CA 11005 50163 73
RML 75268 CP5 15732 142 CA 11006 50511 75
RML 75268 CP6 15782 143 CA 11007 50512 75
RML 75268 CP8 15750 142 CA 11008 50157 79
RML 75268 CP9 15732 142 CA 11009 50158 80
RML 75269 CP10 15750 142 M 11421 15960 190
RML 75270 C * * M 11774 15913 188
RML 75531 C 16048 124 M 11885 15948 189

RML 75824 C 15656 123 M 11924 * *
RML 75829 C 15658 124 M 141525 15908 187
RML 75921 C5 16092 165 M 141528 15954 190

RML 75924 C 15653 167 M 1608 15815 *
RML 75992 C 15905 179 M 1608-01 15646 134
RML 75992 CP 16905 181 M 1644 15622 183
RML 75993 C 94102 103 M 1661 15621 183
RML 75994 C 94101 103 M 1662 15623 183
RML 75995 C 94100 103 M 1673 15927 188
RML 76199 C 16067 119 M 1701 15706 186
RML 76200 C 16068 119 M 1706 16247 191
RML 77315 C 15601 115, 160 M 1713 15929 188
RML 77527 C 92500 124 M 1715 15626 184

RML 77529 C 93911 125 M 1716 15693 *
RML 78186 CP o * M 1719 15701 186
RML 7835 C2 16101 173 M 1720 15702 186
RML 7835 C3 16101 173 M 1727 15700 185

RML 7836 C2 15867 172 M 1728 15930 )

RML 7836 C3 15868 173 M 1737 16017 ¥

RML 7863 C 16108 * M 1746 * *
RML 78914 C 93914 126 M 1757 16018 190
C 21005 15514 76 M 1762 15698 185

C 321051 15515 76 M 1768 16019 *

C 321053 15512 76 M 1769 15705 *

C 321054 15513 76 M 1775 16238 ¥

- Granning UK Ltd +44 (0) 1925 810 400
H H Granning Ireland Ltd +353 (0) 45 875 996
airsprings Granning (NI) Ltd +44 (0) 2890 740 055 : 2 1

Granning Poland +48 (0) 785 875 996



Airspring Supplier Cross Reference Lists

Connect
Part No. Part No Part No. Part No
M 17782 15703 MD 14159KP09 15630
M 1786 15933 189 MD 14183K24 93918 108
M 1819 15966 190 MD 14185K01 * *
M 1838 15940 * MD 14390K01 15956 104
M 1873 15941 * MD 14390K02 15957 104
M 1882 15944 189 MD 14420K 16048 124
M 1883 15945 * MD 14506K 92501 120
M 1884 15946 * MD 14644K * *
M 1895 15947 * MD 147134 15656 123
M 1896 15639 184 MD 14718K 15658 124
M 1897 15642 185 MD 14737K 16227 106
M 1916 15912 187 MD 14757K 15962 104
M 1921 17091 * MD 14757P01 16160 106
M 1927 15637 184 MD 14810K 15613 164
M 1928 15625 183 MD 14810K05 16091 168
M 1943 15696 * MD 14813K 15653 167
M 1944 15704 186 MD 14838K 15963 104
M 1945 15641 184 MD 14881K 15905 179
M 1975 15937 189 MD 14881KP 16905 181
MD 10304K 92505 121 MD 14882K 94102 103
MD 1272K * * MD 14884K 94100 103
MD 14004K 15651 161 MD 14911K 16230 113
MD 14004KP 15651ATP * MD 14912K 16046 112
MD 14022K 16099 161 MD 14913K 16105 119, 172
MD 14022-K81 15654 162 MD 14940K 16241 180
MD 14022-K8101 15993 162 MD 14941K 16242 180
MD 14022KP 16099ATP * MD 14960K 93450 182
MD 14023K 16092 165 MD 14961K 16244 181
MD 14028K 93002 170 MD 1608-02 16276 136
MD 14156K 15633 151 MD 16416K 92500 124
MD 14156K01 15610 150 MD 16418K 93911 125
MD 14157KP04 15731 142 MD 16420K e 128
MD 14157KP05 15732 142 MD 1725K 15867 172
MD 14157KP06 15769 142 15868 173
MD 14157KP14 15731 142 MD 17315K 13501 115, 160
VD 14157KP16 — 143 MD 17315KP 15601 115, 160
MD 14158KP 15657 144 MD 17803K SEEN 126
MD 14159K 16008 157 MD 17804K 93910 12
MD 14159K0f 15612 155 LD LA 15635 164
MD 14159KP01 15614 155 MD 18TiKie 15907 16791

Granning UK Ltd +44 (0) 1925 810 400
Granning Ireland Ltd +353 (0) 45 875 996 H i
: 2 : 2 Granning (NI) Ltd +44 (0) 2890 740 055 airsprings

Granning Poland +48 (0) 785 875 996



Airspring Supplier Cross Reference Lists
Connect & Contitech

Connect Airsprings.com Page Contitech Airsprings.com
Part No. Part No. 9 Part No. Part No.

MD 1836K01 17066 1421 N 15960 190
MD 1836K02 15996 87 1720 N 16047 191
MD 1881K 15917 179 1774 N 15913 188
MD 1881KP 16917 181 1782 N1 * *
MD 1887K 16224 88 1788 N * *
MD 1887K01 16045 88 1819 N 15966 190
MD 1895 15603 131 1876 N * *
MD 1895-01 15599 131 1884 N1 15948 189
MD 1940K 15919 180 1885 N1 15948 189
MD 1940KP 16919 182 1886 N * *
MD 1941K 15918 179 1924 N1 16214 S
MD 1941KP 16918 181 1924 N1 P05 16213 113
MD 1942K 15902 177 1924 NP05 16215 *
MD 197295KP 15713 117, 151 2136 M 93920 126
MD 197308KP 15714 117, 156 3271 M 93930 127
MD 197368KP 15692 151 4004 NP02 15651 161
MD 19901K 93200 2 4004 NPO3 15651 161
MD 19902 16104 112 4007 NPO1 94518 *
MD 199079KP 15611 150 4008 NPO1 15672 170
MD 199081KP 15610 150 4022 NP02 * *
MD 199101KP 15612 155 4022 NP03 16099 161
MD 199104KP 15715 117, 156 4022 NP05 16098 161
MD 19912K02 15671 172 4023 N 16091 168
MD 199192KP 15614 155 4023 NP0O3 16091 168
MD 199242KP 15699 156 4028 NP02 93002 170
4028 NP05 15634 167
4030 NP 93003 170
Part No. Part No. 4154 NP05 15609 148
2673 15927 188 91801 14
o715 e 184 4156 NP06 15633 151
2710 15701 186 4156 NPO7 15633 151
5750 e 186 4156 NP09 15615 150
o727 15698 185 4156 NP10 16081 152
2758 P 185 4156 NP14 15610 150
o737 16017 . 4157 NP04 15731 142
- o 150 4157 NP05 15732 142
2762 15608 185 4157 NP06 15782 143
1234 N1 P2 . X 4157 NP0O8 15750 142
1415 N PO 93211 114 sy [E 15732 142

- Granning UK Ltd +44 (0) 1925 810 400
H H Granning Ireland Ltd +353 (0) 45 875 996
airsprings Granning (NI) Ltd +44 (0) 2890 740 055 : 2 3

Granning Poland +48 (0) 785 875 996



Airspring Supplier Cross Reference Lists

Contitech
Contitech Alrsprlngs com Contitech Alrsprlngs com
4157 NP10 15769 4644 NPO1 91300
4157 NP11 15731 142 4644 NP02 91306 107
4158 NP02 * * 4705 N1 P03 94007 *
4158 NP03 15657 144 4705 N1 P04 94008 *
4159 NP04 15612 155 4713 NP02 15656 123
4159 NP05 * * 4718 NPO1 15658 124
4159 NP06 16008 157 4736 NP21 * *
4159 NP07 15617 155 4737 NPO1 16227 106
4159 NP08 15614 155 4737 NP02 16228 106
4159 NP09 15630 155 4737 NP21 93935 109
4180 NPO1 * * 4737 NP22 93936 109
4183 NP23 * * 4757 N1 94004 *
4183 NP24 93918 108 4757 N2 94005 *
93931 108 4757 NPO1 15962 104
4184 NP21 * *
4757 NP09 16160 106
4184 NP22 * *
4757 NP21 *
4185 N 93902 ’ 93937 110
4185 NPO1 93903 * 4757 NP22 93938 110
4185 NP21 " * 4757 NP29 93939 110
4186 NP21 * * 4758 NPO1 94020 111
4186 NP22 * * 4758 NP02 * *
4187 NP21 93925 108 4758 NP21 94006 *
4187 NP22 * * 94021
4758 NP23 * *
4188 NP21 * *
4759 N & *
4390 N1 93904 &
4759 NP21 * *
4390 N2 93905 *
4786 NP21 * *
4390 NPO1 15956 104
4788 NP21 * *
4390 NP02 15957 104
4810 NPO3 164
4390 NP03 16155 105 S5
4810 NP05 165
4390 NP04 16156 105 16092
4811 NPO3 167
4390 NP21 93917 108 15616
4813 NPO7 167
4390 NP22 93916 107 15653
4838 NPO1 104
4390 NP23 93932 109 1B
4838 NP02 105
4390 NP24 93933 109 15964
4838 NP03 105
4391 N1 93906 * 15965
4838 NP21 * *
4391 N2 93907 :
4838 NP22 110
4391 NPO1 93908 * 93940
4838 NP23 M
4391 NP02 93909 * 93941
4880 N1 P01 *
4420 NPO1 16048 124 94009
X 4881 NP02 (no 15961 178
4644 N 91307 piston) 16905 181

Granning UK Ltd +44 (0) 1925 810 400
Granning Ireland Ltd +353 (0) 45 875 996 H i
: 2 4 Granning (NI) Ltd +44 (0) 2890 740 055 airsprings

Granning Poland +48 (0) 785 875 996



Contitech Airsprings.com Page Contitech
Part No. Part No. g Part No.

4882 N1 PO1
4882 N1 P05
4883 N1 PO1
4883 N1 P06
4883 N1 P07
4884 N1 PO1
4884 N1 P06
4884 N1 P07
4885 N

4885 N1 P02
4886 NPO1

4886 NP02
4911 N
4912 N

4912 NP0O7
4913 N

4913 NP02

4913 NP04
4915 N

4915 NP06

4916 N1 P07
4940 N

4940 NP0O2
4941 N
4942 N
4960 N

4960 N P02

4961 N
4961 NP02
4962 N
54760 M
54762 M
54770 M
603 N
607 N
608 N
620 N

622 N

94002

94102 103
94003 102
94101 103
94101 103
94001 102
94100 108
94100 103
94000 -
94015 102
94016 :
94104 103
94017 *
16230 13
16046 112
16046 112
16105 119, 172
16105 119, 172
16105 119, 172
16232 -
94018 *
16241 180
16241 180
16242 180
93401 *
15909 178
15909 178
93450 177
16244 181
16244 181
93400 *
93920 126
93924 127
93930 127
15920 i
15922 *
15923 188
15914 132
15915 132
15240 *

Airspring Supplier Cross Reference Lists
Contitech

6416 N
6418 N
6420 N
6420 N-O1
644 N
644 NPO1
644 NP02
644 NP04
6602 NP02
6604 NPO1
6609 NPO1
661 N
661 NPO1
661 NP02
661 NP0O5
662 N
673 N
700 N
701 N
706 N1
713N
715 MB
715N
716 N
719N
720 N
724 N
724 NPO1
725N

725 NPO1
725 NP02
725 NPO3
726 NPO1
727 N
728 N
737N
746 N
752 NPO1
753 N

Granning UK Ltd
Granning Ireland Ltd
Granning (NI) Ltd
Granning Poland

Airsprings.com
Part No.

92500
93911
93912
93912
15622
91300
91301

93926
93919
93924
15621
91303
91304

15623
15927

15706
94506
15929
91305
15626
15693
15701
15702
16101

15867
15868

16100
15867
15868

15700
15930
16017

15906

+44 (0) 1925 810 400
+353 (0) 45 875 996
+44 (0) 2890 740 055
+48 (0) 785 875 996

124
125
125
125
183
107

127
126
127
183
113

183

188

186

188

184

186

186

173

172
173

172
173

185

187

25



Airspring Supplier Cross Reference Lists

Contitech
756 N 15693 836 MK1 17066
757 N 16018 190 836 MK7 15990 87
762 N 15698 185 838 N 15940 '
768 MB * « 873N 15941 .
768 N 16019 * 876 MB 16204 12
769 M1 93202 . 876 N 17092 '
769 MB 93205 ) 879N 16234 )
769 N 15705 * 881 MB 15917 179
774N 15913 188 16917 o
S 16238 ) 881 MB (no piston) 15790 177
. 63200 . 882 N1 15944 1?9
7803 N 93914 126 . ;igﬁ 195
7804 N 93910 125 884 N1 15946 .
7805 N 93915 126 884 NP03 91702 )
782 MB 93206 * 884 NP04 91703 :
782 MB3 93205 * 887 M * *
782N 15703 * 887 MBK6 16045 88
782 NP04 93204 - 887 MK1 16224 88
786 N 15933 189 887 MK3 16226 89
788 N 15934 * 887 MK4 16218 88
809 NT 16054 - 887 NP0O3 94105 .
809 NTB 15773 * 887 NP0O4 94106 :
810 MB 15635 164 889 MK2 16225 89
810 NT 16056 ¥ 895 N 15603 131
810 NTB 16057 * 896 N 15639 184
811 M16K1 15907 167, 91 897 MB 93934 174
813 MB4 15634 167 897 N 15642 185
816 Z 15516 77 901 N 93200 :
817 MB 91700 : 902 N 16104 12
817 N 15938 * 910-21 P 448 16052 159
819 MB 17090 107 910S-16 A 382 17065 173
819 N 15966 190 912 NPO1 15669 7
819 NPO1 16206 106 912 NP02 15671 172
822N 15939 * 916 N1 15912 187
832 MB 91701 * 921 MB 16222 )
836 M 15991 * 921N 16221 .
836 M2 15999 * 926 N * )
836 M2K1 15996 87 927N 15637 184
836 MBK4 17060 90 928 N 15625 183
836 MBK6 17061 90 930 N 17006 i

Granning UK Ltd +44 (0) 1925 810 400
Granning Ireland Ltd +353 (0) 45 875 996 H i
: 2 6 Granning (NI) Ltd +44 (0) 2890 740 055 airsprings

Granning Poland +48 (0) 785 875 996



Airspring Supplier Cross Reference Lists

Contitech
Contitech Alrsprlngs com Contitech Alrsprlngs com
940 MB 15919 FS 70-7 90102
16919 182 FT 210-32 15809 199
93502 *
940 MB (no piston) 15916 177 FT330-29
941 MB 15918 179 i 15816 ’
16918 181 FT 530-32 15736 138
941 MB (no piston) 15901 177 RZ 415-25 15908 187
942 MB 15903 * RZ 415-28 15954 190
942 MB (no piston) 15902 177 RZ 450-25 16109 *
943N 15696 * SK 145-25 15725 87
944 N 15704 186 SK 37-6 * .
945N 15641 184 SK 86-10 15526 )
951 MB 15959 178 SK 95-26 15655 123
15967 180 SZ 100-11 * *
975 N 15937 189
SZ 115 * .
9780 N 93913 125
SZ 130-25 P04 94900 128
9802 M 93924 127
SZ 130-25 P05 94901 128
BZ 450 16265 89
SZ 135-19 15518 85
F 200-10 90104 130
SZ 135-23 15517 85
FD 120-17 16036 137
SZ 140-11 * *
FD 138-18 15803 197
SZ 35-11 * C
FD 200-19 15603 131
15710 116, 132 SZ50-10 15513 76
FD 200-19 3/4 m8 15784 131 SZ 50-11 * *
FD 200-19 NP02 15784 131 SZ 50-6 15514 76
FD 200-19 P04 15599 131 SZ 50-8 15512 76
FD 200-19 S 15681 * SZ50-9 15515 76
FD 200-22 15603 131 SZ 50-9 P02 15525 78
FD 200-25 15670 132 SZ51-10 * *
FD 210-22 15807 198 SZ51-4 90000 *
FD 330-22 15646 134 Sz 515 90001 *
FD 40-10 * * SZ 51-7 90002 *
FD 412-18 15813 200 SZ59-7 15520 *
FD 530-22 16022 133 SZ 70-11 * *
FD 530-30 P03 94108 *
FD 70-13 * *
FS 120-9 90103 130
FS 138-8 90150 .
FS 200-10 * *
FS 330-11 90105 130
FS 40-6 90101 129
FS 530-11 90106 130

- Granning UK Ltd +44 (0) 1925 810 400
H H Granning Ireland Ltd +353 (0) 45 875 996
airsprings Granning (NI) Ltd +44 (0) 2890 740 055 : 2 7

Granning Poland +48 (0) 785 875 996



Airspring Supplier Cross Reference Lists TCHrNAG
Airspri @Irsprings

Dunlop Airsprings.com Dunlop Airsprings.com

A 110 320 000 93301 A 312 980 027 16118

A 110 330 001 93302 * A 313 290 200 17095 -
A 111 930 006 93303 * A 313 370 032 17047 ¥
A 111 940 007 93304 * E 312 150 027 94510 193
A 112 640 003 93305 * E 316 800 035 94511 114
A 112 650 004 93306 * IC 3118, 05 16114 191
A 112 650 104 93307 * IC 3118, 15 15817 201
A 113 340 008 93308 * IC 3301 PSL02 *
A 113 340 108 93309 * IC 3305 PSLO1 *
A 113 470 003 93310 * IC 3306 17006 ¥
A 113 870 028 TPFO1 * IC 3308 15625 183
A 113 990 014 94508 * ICM 3016 15831 *
A 114 980 018 94507 * ICM 3436 TPNO2 *
A 115 000 010 94508 2 PNP 037 690 200 15705 *
A 115 010 011 15637 184 PNP 300 080 100 15637 184
A 115 060 028 TPTO06 * PNP 300 260 000 PSTO1 *
A 115 090 019 PSDO3 * PNP 301 000 100 15702 186
A 115 580 006 16166 191 PNP 301 000 101 15702 186
A 116 640 002 93311 * PNP 301 470 102 15622 183
A 116 670 005 93312 * PNP 302 730 101 15623 183
A 116 950 003 93313 * PNP 304 140 101 15842 203
A 117 010 009 93314 : PNP 304 140 102 15847 203
A 117 040 002 93315 * PNP 304 140 117 15821 202
A 119 220 012 90250 199 PNP 304 140 137 15822 203
A 212 990 018 TPDO2 * PNP 304 150 101 17016 204
A 212 990 019 TPD02 2 PNP 304 150 116 15848 204
A 213810012 TPDO3 * PNP 304 620 101 15701 186
A 213 820 013 TPDO5 2 PNP 304 890 101 15626 184
A 213870018 PSD04 * PNP 304 980 101 15621 183
A 214 120 027 TPTO7 * PNP 305 140 100 15639 184
A 214 130 028 TPTO8 * PNP 305 210 100 15642 185
A 214 140 029 TPDO5 * PNP 305 210 101 15642 185
A 215320 012 TPTO09 * PNP 305 450 110 15809 199
A 218 970 028 TPP02 * PNP 305 450 112 15807 198
A 219 150 026 PSDO8 * PNP 305 450 121 15899 198
LT TPPO1 * PNP 305 450 129 15860 199
A 221 290 019 TPT10 * PNP 305 450 130 15872 198
A 221 390 019 PST02 * PNP 305 490 108 15805 197
A 222 000 020 94508 * PNP 305 500 112 15804 ¥
A 310 950 013 16166 191 PNP 305 510 111 15801 197

Granning UK Ltd +44 (0) 1925 810 400
Granning Ireland Ltd +353 (0) 45 875 996 H i
: 2 8 Granning (NI) Ltd +44 (0) 2890 740 055 airsprings

Granning Poland +48 (0) 785 875 996



Airspring Supplier Cross Reference Lists
Dunlop & Dunlop France

Dunlop Airsprings.com Page Dunlop Airsprings.com
Part No. Part No. 9 Part No. Part No.

PNP 305 520 118 15813 PNP 316 730 100 17009 *
PNP 305 520 147 15850 201 PNP 316 740 100 17050 *
PNP 305 520 170 15851 201 PNP 316 750 100 17051 *
PNP 305 520 174 15896 202 PNP 316 760 100 17052 192
PNP 305 520 178 15816 * PNP 316 900 100 17053 *
PNP 305 550 112 15804 * PNP 316 910 100 17054 *
PNP 306 160 100 17007 * VSM 10131 15806 *
PNP 306 250 119 15865 * VSM 10132 15818 5
PNP 306 420 100 15700 185 VSM 10176 15808 *
PNP 306 790 200 TPDO4 @ VSM 10177 15802 5
PNP 306 960 200 TPBO1 * VSM 10178 15815 *
PNP 307 520 000 15612 155 VSM 10180 15804 *
PNP 307 800 100 15698 185 VSM 10248 15823 *
PNP 307 980 000 15891 2 VSM 10798 15810 2
PNP 308 760 200 PSDO1 *

PNP 308 870 200 PSB02 y

PNP 310 470 000 PSD02 * Part No. Part No.

PNP 310 740 000 15869 175 6x2 * *
PNP 310 740 001 15870 175 D10S01 * *
PNP 310 740 004 15871 175 D10S02 15705 *
PNP 311 380 000 15635 164 D10S04 16221 :
PNP 311 540 000 15836 175 D10S05 15696 *
PNP 311 550 200 TPJ02 2 D10U01 94002 102
PNP 311 560 100 17001 * D11A30 15901 177
PNP 311 660 101 17008 * 16918 181
PNP 311 670 000 15634 167 DTIAST :gg:g 1;;
PNP 311 670 100 15686 2 D11A32 15651 161
PNP 311 770 000 15634 167 16099 161
PNP 311 780 000 15635 164 D11A33 16098 161
PNP 311 970 000 15888 * D11B31 16919 182
PNP 312 170 100 15887 198 D11B32 16918 181
PNP 312 540 200 15839 * D11B33 16918 181
PNP 312 700 000 16110 * D11B34 15651 161
PNP 312 700 004 16114 191 D11B35 16099 161
PNP 313 160 100 15833 . D11B36 16918 181
PNP 313 170 100 15832 205 D11B37 16098 161
PNP 314 410 200 15838 & D11B38 16918 181
PNP 315 580 100 16114 191 D11B39 16919 182
PNP 316 720 100 15951 * D11501 15622 183

- Granning UK Ltd +44 (0) 1925 810 400
H H Granning Ireland Ltd +353 (0) 45 875 996
airsprings Granning (NI) Ltd +44 (0) 2890 740 055 : 2 9

Granning Poland +48 (0) 785 875 996



30

Airspring Supplier Cross Reference Lists

Dunlop France

Dunlop France | Airsprings.com Page Dunlop France | Airsprings.com Page
Part No. Part No. 9 Part No. Part No. 9

D11S02
D11U30
D11U31
D11U31
D12A01

D12A05

D12A06

D12A07

D12A10
D12B01
D12B04
D12B06
D12B07
D12B08
D12B09
D12B10
D12B11
D12B12
D12B13
D12B14
D12B15
D12B16
D12B17
D12B18
D12B19
D12B22
D12B24
D12S01
D12S02
D12S03
D12S04
D12S05
D12S06
D12S07

15641
15901
15916
15919

15617
15630
15656
15699
16008
16080

15651
16099

15615
15633

15731
15732

15657
16008
15630
16080
15617
16080

*

*

15699
15651
16099
15617
15615
15732
15731
15633
15657
15656
16235
15621
15625
15702
15912
15946
15948

Granning UK Ltd
Granning Ireland Ltd
Granning (NI) Ltd
Granning Poland

177
177
180

155
155
123
156
157
157

161
161

150
151

142
142

144
157
155
157
155
157

156
161
161
155
150
142
142
151
144
123

183
183
186
187

189

D12S08
D12S09
D12S10
D12S11

D12S12
D12T10
D12T11

D12U13
D12U25
D12U26
D13A01

D13A02

D13A03

D13A04K

D13A05

D13A08
D13A09
D13A34
D13A36
D13B01
D13B02
D13B03
D13B04
D13B05
D13B09
D13B10
D13B12
D13B13
D13B14
D13B15D

+44 (0) 1925 810 400
+353 (0) 45 875 996
+44 (0) 2890 740 055
+48 (0) 785 875 996

15908

15954 190
15956 104
15957 104
15944 189
15956 104
15957 104
15651 161
93904 *
93905 *
15635 164
15837 164
16092 165
16120 165
15634 167
15653 167
15907 167,91
16065 168
16084 168
16091 168
16124 169
15671 172
16033 *
17002 171
17003 )
17004

15990 87
15996 87
17066 90
16046 112
16230 13
15907 167, 91
15907 167, 91
15635 164
15634 167
15672 170
17002 171
15837 164
15653 167
16084 168
15671 172
17003 *



Airspring Supplier Cross Reference Lists

Dunlop France

Dunlop France | Airsprings.com Page Dunlop France | Airsprings.com Page
Part No. Part No. 9 Part No. Part No. 9

D13B15G 17004 D14B44 16905

D13B17 15907 167, 91 D 93004 17
D13B18 16084 168 D14U36 15790 177
D13B19 15634 167 D14U36 15790 177
D13B20 15635 164 16917 o
I 16033 . D14U37 15905 179
D13B22 15653 167 D 1233}, 1:13
D13B23 & - D14U38 16100 *
D13B24 15907 167, 91 D14U42 16105 19,172
D13B25 16092 165 508200 16036 137
D13B26 16091 168 509201 15603 131
D13B27 16120 165 509208 15599 131
D13B28 16124 169 509280 15670 132
D13B29 16065 168 $12201 15646 134
D13B31 15996 87 $12280 15666 135
D13B32 17066 90 $12302 15673 138
D13B33 15990 87 $12350 17040 139
D13B34 15907 167, 91 SP 1003 15807 198
D13B36 15907 167, 91 SP 1033 15865 .
D13B40 16046 12 SP 1039 15823 :
D13B41 16230 13 SP 1344 * )
D13B42 15654 162 SP 1346 * *
D13S01 15623 183 SP 1482 15801 197
D13S02 15698 185 SP 1490 15803 197
D13S03 15945 i SP 1538 G *
D13504 15700 185 SP 1539 15809 199
D13U31 15999 . SP 1541 15813 200
D13U32 15991 - SP 1542 15816 :
D14A36 16917 181 SP 1556 15821 202
D14A37 15905 179 SP 1557 15829 204

16905 181 SP 1558 15824 203
D14A38 15867 172

15868 173 SP 1988 15822 203
D14A42 16105 119, 172 SP 2007 19827 '
D14B36 16917 181 SP2141 15832 208
D14B37 16905 181 SP 2340 oty 204
D14B40 15867 172 SP 2530 16140 202
D14B41 16917 181 SP 2540 * )
D14B42 16105 119, 172 SP 255 15808 '
D14B43 15868 173 SP 256 D :

93005 17

- Granning UK Ltd +44 (0) 1925 810 400
H H Granning Ireland Ltd +353 (0) 45 875 996
airsprings Granning (NI) Ltd +44 (0) 2890 740 055 3 1

Granning Poland +48 (0) 785 875 996



Airspring Supplier Cross Reference Lists e TM
Dunlop France & Firestone ( IrsS Q ala 9 S

Dunlop France | Airsprings.com Firestone Airsprings.com
198 28 *

SP 2561 15872 16004
SP 259 15818 * 38 15777 94
SP 2665 15814 200 38 15607 138
SP 2666 15817 201 38 15673 138
15897 A 115 90105 130
SP 2703 15805 197 16 90103 130
SP 2738 201
15851 R 15734 .
SP 2763 15887 198 15766
SP 2782 16136 200 210 * *
SP 2783 15851 201 233 15779 133
SP 2813 * * 260 16031 *
SP 543 15802 * 313 15736 138
15737 139
SP 920 198
15807 15780 .
SP 976 15804 20-Feb 15710 116, 132
1R 1A 260 285 15696 5
1R 1A 370 285 15704 186
Firestone Airsprings.com Page 15927 188
Part No. Part No. 9 1R 1A 380 260 15705 *
20 15599 131 1 R 1A 390 295 15622 183
20 15603 131 1 R 1A 415 260 16035 *
20 15784 131 16221
1R 1A 415 285 15703 )
20 15659 *
1R 1A 460 290 15641 184
20 15681 *
1R 1A 480 330 16017 *
20 15724 *
1R 1B 390 270 15687 ¥
20 15776 *
1R 1B 415 270 15844 *
21 15647 133
1R 1C 335 310 15626 184
21 15663 133
1R 1C 390 310 15621 183
21 16022 133
1R 1D 355 355 15623 183
22 15643 116
1R 1E 335 320 15689 )
22 15645 116
1 R 1G 445 370 16000 )
22 15646 134
1 R 1G 525 370 15686 N
22 15650 134
1R 1J 415 285 15637 184
22 15778 134
1R 1J 520 285 15639 184
22 16006 *
1 R 1K 380 320 15625 183
22 16051 *
1 R 1K 440 320 15642 185
22 15735 118, 135
1R 1T 320 195 15937 189
26 16036 137
1 R 2A 380 305 16018 190
26 15774 *
1 R 2A 380 330 16019 *
28 16190 136
1 R 2A 445 280 15948 189
28 15774 *
1 R 2A 450 305 15693 )

Granning UK Ltd +44 (0) 1925 810 400
Granning Ireland Ltd +353 (0) 45 875 996 H i
3 : 2 Granning (NI) Ltd +44 (0) 2890 740 055 airsprings

Granning Poland +48 (0) 785 875 996



TrechrinAc Airspring Supplier Cross Reference Lists
CLIRS rl@§ Firestone

Firestone Airsprings.com Firestone Airsprings.com

1R 2A 460 295 15702 186 1T15M05 LA i
1 R 2A 480 330 16017 . 1T15M-1 16052 0
1 R 2A 490 305 15960 190 1715 M2 15602 e
1R 2D 390 360 15698 185 1T15M-2 15644 e
1R 2D 460 360 15700 185 1T15M-2 16090 *
1 R 2D 470 360 15930 . 1715 M2 15711 11
1R 2D 530 360 15701 186 1TisM4 L2 e
1R 2S 355 245 15933 e 1T 15 M4 15707 I
1R 3M 340 340 15706 186 1T15M-4 15739 e
1R 4R 465 260 15944 . 1T15M-4 16016 -
94517 1T 15 M-4 15744 -
1R 4U 395 260 16166 191 1T 15 M-4 16010 '

1 R 5P 345 290 15908 187 1T 15 M-4 15712 117,148
1R 5P 410 290 15954 190 1T 15 M-4 15747 149, 93
1T 14 C-1 15684 140 1T 15M-6 15676 93
1T 14 C-1 16001 140 17 15 M6 15610 150
1T 14 C-1 16002 140 1T 15M-6 15610 150
1T14C-3 15682 140 1T15M-6 15611 150
1T14C-3 15765 141 1T 15 M-6 15615 150
1T14C-3 16003 ’ 1T 15 M-6 15633 151
1T 15AA-3 15665 17 1T 15 M-6 15690 151
1T 15AA-3 92400 141 1T 15 M-6 15692 151
1T 15AA3 15619 115, 160 1T 15M-6 15758 152
1T 15AA-6 16032 94 1T 15 M-6 16081 152
1T 15 AAAZ-6 16195 88 1T 15M-6 16087 152
1T15L-15 16009 145 1T 15M-6 17028 152
1T15L-4 16077 145 1T 15M-6 17031 183
1T15L-6 15773 : 1T 15 M-6 17032 153
1T15L-6 16054 ’ 1T 15 M-6 17033 153
1T15LD-5 15795 18 1T15M-6 16024 :

1T15LLR-5 16225 89 1T 15 M-6 16037 .
1T 15LN-3 15797 18 1T 15 M-6 16090 .
1T 15LN-3 15796 . 1T 15 M-6 15713 17,151
1T 15 LNR-3 16218 88 1T 15 M-75 16070 154
1T 15 LNR-3 16224 88 1T 15 M-75 16071 154
1T 15 LNR-3 16226 89 1T 15 M9 15612 155
1T 15LNR-5 16225 89 1T 15 M-9 15614 155
1T 15 LUX-11 16034 18 1T 15 M-9 15617 155
1T 15 M-0 15608 145 1T 15 M-9 15617 155
1T 15 M0 15770 ’ 1T 15 M-9 15630 185

- Granning UK Ltd +44 (0) 1925 810 400
H H Granning Ireland Ltd +353 (0) 45 875 996
airsprings Granning (NI) Ltd +44 (0) 2890 740 055 3 3

Granning Poland +48 (0) 785 875 996



Airspring Supplier Cross Reference Lists C —Q "
Firestone airs rlmg

Firestone Airsprings.com Firestone Airsprings.com
173

17 15 M-9 15694 156 1T 15 ZR-6 17065
1T15M-9 15699 156 1T 17 AR-4.5 15990 87
1T 15M-9 16008 157 1T 17 AR-4.5 15996 87
1T 15 M-9 16080 157 1T17 AR-4.5 17060 90
1T 15M-9 15628 . 1T 17 AR-4.5 17061 90
1T 15 M-9 15629 * 1T17AR-4.5 17066 90
1T 15 M-9 15648 * 1T 17 AR-4.5 15991 )
1715 M-9 15649 . 1T 17 AR-4.5 16200 -
1715 M-9 15714 117,156 1T 17 AR-4.5 17062 .
1T 15M-9 15715 117, 156 1T17AR-4.5 17063 ¥
1T 15 MP-7 15731 142 1717 B-11 15654 162
1T 15 MP-7 15732 142 1T 17 BP-4 * *
17 15 MP-0 15657 144 1717 BR-8 15656 123
1T 15 MPW-7 91400 13 16048 124
17T 15 MPW-7 15731 142 1717880 15651 s
1T 15 MPW-7 15732 142 1117856 LT 11
17T 15 MPW-7 15750 142 ' T178S6 16099 s
17T 15 MPW-7 15769 142 1Tres Ui ;
e 15782 s 1717 CL-9.5 15654 162
B 16260 . 1717 CL-9.5 15993 162
17T 15 MPW-9 15657 144 1T17CLes 92600 102
1T 15 MPW-0 15768 a4 1T 17 D-11.8 15959 178
17T 15 MPW-9 15783 144 1717043 15916 77
T 15 WP 15785 i 1717 D-4.3 15919 180
1T 15 MT-11 17035 159 171783 15901 "
1T 15 MT-6 15998 158, 92 11783 e 181
- 16013 s 1717 DJ-6 92607 163
s 17034 8 1717 DJ-7 92605 163
1715 S-11 15601 115, 160 1T19ES 17002 7
1155 15718 " 1719 F-11 15616 167
R 5741 . 1719 F-11 15634 167
1155 15744 n 1719 F-11 15653 167
1T 1556 15600 115, 160 1TI9R 16065 108
1155 15616 15, 160 1719 F-11 16091 168
R 15608 5 160 1719 F-11 16122 169
T 15505 15750 o 1719 F-11 16124 169
1T 15T 15755 93 1TI9ET 15660 '
1715 V-11 15993 162 1T 1 :
1T 15V-6 16265 89 19 15771 '
T 15 VP 16074 n 1719 F-11 16050 C

Granning UK Ltd +44 (0) 1925 810 400
Granning Ireland Ltd +353 (0) 45 875 996 H i
3 4 Granning (NI) Ltd +44 (0) 2890 740 055 airsprings

Granning Poland +48 (0) 785 875 996



TrechrinAc Airspring Supplier Cross Reference Lists
CLIRS rl@§ Firestone

Firestone Airsprings.com Firestone Airsprings.com

1T19F-11 16061 1T 19 L-14 16105 119, 172
1719 F-11 16064 ’ LUy 15635 164
1T19 F-11 15907 167, 91 1T19L7 16082 165
1T 19 F-12 15672 170 1T19 L7 16092 165
1T 19 F-12 16063 * 1T19L7 16092 165

1T 19 F-12/F-14 15754 . 1T19L7 92805 166
1T19F-14 15671 172 1719 L7 92806 166
1T 19 F-14 16105 119, 172 1T19 L7 16056 *
1T19F-5 16015 163 1T19L7 16057 *
1T19F-5 12875 * 1T19L-7 92800 ¥
1T19F-7 15606 164 1719 LD-10 * *
1T19F-7 15613 164 1Ty 15738 172
1T19F-7 15635 164 1T26D-7 15618 87
1T19F-7 16120 165 1T 66 D-10.8 15868 173
1T19F7 15760 * 1T 66 D-10.8 15790 177
1T 19 FR13 16105 119, 172 1T 66 D-10.8 15917 179
1719 G-12 15709 12 1T 66 D-10.8 16917 181
1T19 G-12 15761 * 17T 66 D-13.5 15902 177
1T19G-5 * . 1T 66 D-13.5 15903 179
1719J-6 15738 172 1766 D-7.0 15961 178
1T19L-10 15772 * 1T 66 D-7.0 15905 179
1T 19 L-10 16059 * 1T 66 D-7.0 16905 181
1719 L-11 15616 167 1766 E-10.8 15867 172
1T 19 L-11 15634 167 1T 66 E-13.8 15791 176
1719 L-11 15634 167 1766 F-10.8 16917 181
1T 19 L-11 15653 167 1766 F-13.5 15902 177
1T19L-1 16065 168 1T 66 F-70 16905 181
1T 19 L-11 16084 168 113-1 90106 130
1719 L-11 16091 168 127mm 15725 87
1T 19 L-11 93003 170 20F 15603 131
1719 L-11 93004 171 20 F-2 15670 132
1T 19 L-11 15907 167, 91 20-2 15670 132
1T19L-12 15672 170 20C-2 15670 132
1T19L-12 93001 170 20C-2 15710 116, 132
1T19L-12 93002 170 210C-15 16275 136
1T 19 L-14 16046 12 210C-1.5 16275 136
1719 L-14 15669 171 21-2 15664 134
1719 L-14 15671 172 15775 %
1T19L-14 16033 * 220 ) *
1719 L-14 16105 119, 172 22C5 15798 19

- Granning UK Ltd +44 (0) 1925 810 400
H H Granning Ireland Ltd +353 (0) 45 875 996
airsprings Granning (NI) Ltd +44 (0) 2890 740 055 3 5

Granning Poland +48 (0) 785 875 996



Airspring Supplier Cross Reference Lists

Firestone
22 D-15 16276 W01-095-0211 16017
22-15 15666 135 WO01-095-0212 16018 190
224 C 15920 2 W01-095-0213 16019 *
228-1.5 17029 137 W01-095-0219 16051 *
22C 15643 116 W01-095-0226 16035 *
22C 15645 116 W01-095-0228 15625 183
22C-1.5 15666 135 W01-095-0229 15642 185
22C-1.5 15793 135 W01-095-0244 15637 184
22C-1.5 15798 135 W01-095-0245 15639 184
22C-15 16276 136 W01-095-0295 15844 187
233-2 16270 89 W01-095-0366 16105 119, 172
233-2 15781 * W01-095-0381 15908 187
265 DT-2 * * W01-095-0382 15954 190
322BB 17040 139 W01-095-0419 15930F *
352C 15673 138 W01-095-0429 15948 189
362C * * W01-095-0435 15944 189
W01-095-0008 15688 * W01-095-0436 15933 189
W01-095-0009 15681 * WO01-095-0437 15937F 189
WO01-095-0021 15621 183 WO01-095-0453 16166 191
W01-095-0031 15640 * W01-095-0472 15960 190
W01-095-0063 15641 184 W01-095-0481 94602 *
W01-095-0087 15626 184 W01-095-0482 94600 *
W01-095-0104 15638 * W01-095-0483 94601 *
W01-095-0115 15686 * WO01-095-0484 94603 *
W01-095-0118 15622 183 W01-095-0500 16105 119, 172
W01-095-0121 15687 185 WO01-358-0622 15600 115, 160
W01-095-0132 16000 * W01-358-0627 15718 *
W01-095-0134 15689 * W01-358-0734 15719 *
WO01-095-0145 15693 * WO01-358-0743 15602 146
W01-095-0167 15695 * W01-358-1098 16075 *
W01-095-0189 15696 * WO01-358-1619 15648 *
W01-095-0190 15698 185 W01-358-2119 16002 140
W01-095-0191 15700 185 W01-358-5310 16027 *
W01-095-0192 15701 186 W01-358-5331 15684 140
W01-095-0195 15702 186 W01-358-5405 16003 *
W01-095-0197 15703 * W01-358-5406 15765 141
W01-095-0198 15704 186 W01-358-5414 15721 *
W01-095-0204 15705 * W01-358-5426 15685 *
W01-095-0205 15706 186 W01-358-5708 15697 141
W01-095-0207 15623 183 W01-358-5764 15722 *

Granning UK Ltd +44 (0) 1925 810 400
Granning Ireland Ltd +353 (0) 45 875 996 H i
3 6 Granning (NI) Ltd +44 (0) 2890 740 055 airsprings

Granning Poland +48 (0) 785 875 996



TrechrinAc Airspring Supplier Cross Reference Lists
CLIRS rl@§ Firestone

Firestone Airsprings.com Page Firestone Airsprings.com
Part No. Part No. 9 Part No. Part No.

WO01-358-5780 16088 * WO01-358-8119 16011 -
WO01-358-6801 90215 * W01-358-8170 90214 *
W01-358-6808 15664 134 W01-358-8708 92603 162
WO01-358-6900 15659 . WO01-358-8738 93208 *
W01-358-6917 15604 * W01-358-8853 15629 )
W01-358-6923 15724 * W01-358-8927 16005 )
WO01-358-6932 16021 * W01-358-8929 16081 152
WO01-358-6951 17076 * WO01-358-8997 16023 *
WO01-358-7001 90107 * W01-358-9010 15739 148
WO01-358-7008 15631 - W01-358-9033 15740 :
WO01-358-7022 90205 2 WO01-358-9039 15608 145
W01-358-7043 15596 * WO01-358-9043 15741 )
W01-358-7094 15595 129 W01-358-9048 15742 )
W01-358-7101 90108 * W01-358-9053 16073 -
WO01-358-7135 15647 133 W01-358-9057 15744 -
WO01-358-7136 15726 - WO01-358-9065 15746 *
WO01-358-7143 16022 133 W01-358-9069 15747 149, 93
W01-358-7177 15643 116 W01-358-9082 15610 150
W01-358-7180 15646 134 W01-358-9093 15749 )
W01-358-7191 16004 * WO01-358-9096 15611 150
WO01-358-7215 15730 * W01-358-9101 15612 185
WO01-358-7224 15766 * W01-358-9104 15751 -
WO01-358-7266 15734 * W01-358-9105 15644 146
W01-358-7325 16036 137 W01-358-9106 15628 *
WO01-358-7400 15645 116 W01-358-9121 15613 164
W01-358-7401 16006 * W01-358-9122 15616 167
WO01-358-7403 15650 134 W01-358-9130 16008 157
W01-358-7411 15735 118, 135 W01-358-9192 15614 155
WO01-358-7431 90206 * W01-358-9200 16015 163
WO01-358-7447 15798 135 WO01-358-9243 16095 *
WO01-358-7472 15793 135 WO01-358-9262 15993 162
W01-358-7731 90109 * W01-358-9270 15994 147
W01-358-7808 15736 138 W01-358-9321 16052 112
WO01-358-7816 16007 * WO01-358-9335 16016 149
WO01-358-7842 17075 * W01-358-9361 15633 151
W01-358-7880 90201 * W01-358-9362 16093 )
WO01-358-8017 15673 138 W01-358-9371 16028 .
W01-358-8019 15607 138 W01-358-9373 16013 158
WO01-358-8021 15627 138 W01-358-9391 16077 145
W01-358-8050 15738 172 W01-358-9402 15755 93

- Granning UK Ltd +44 (0) 1925 810 400
H H Granning Ireland Ltd +353 (0) 45 875 996
airsprings Granning (NI) Ltd +44 (0) 2890 740 055 3 7

Granning Poland +48 (0) 785 875 996



Airspring Supplier Cross Reference Lists C —Q "
Firestone airs rlw

Firestone Airsprings.com Firestone Airsprings.com
139

WO01-358-9422 16009 145 WO01-681-7314 15737

W01-358-9453 15649 * W01-681-7329 16120 165
W01-358-9454 15770 * W01-681-7359 16124 169
W01-358-9466 15998 158, 92 W01-681-7368 15692 151
WO01-358-9586 15716 * W01-681-7440 15666 135
W01-358-9648 91802 * WO01-681-7581 12875 )
W01-358-9780 17065 173 W01-681-7688 15666 2
WO01-358-9922 16069 * WO01-681-7700 15663 133
WO01-358-9923 16072 * WO01-681-9084 15690 151
WO01-379-1622 15756 * W01-681-9086 15707 148
W01-379-1623 15757 * W01-681-9091 16122 169
WO01-379-6315 15769 142 WO01-681-9098 15694 156
W01-379-9089 15615 150 W01-681-9242 15699 e
W01-379-9091 15617 155 W01-703-9023 16010 -
W01-379-9131 15630 155 WO01-749-9816 15709 112
W01-379-9207 15758 152 W01-932-7000 15761 *
WO1-455-6252 16087 152 W01-932-7001 15762 .
W01-455-6260 91400 113 W01-932-7002 15605 123, 160
WO01-455-6269 17033 153 W01-932-7003 15763 )
W01-455-6279 16087 152 W01-932-9165 15764 )
W01-455-6288 17028 152 W01-968-6286 15785 144
WO01-455-6822 17029 137 W01-968-6316 15782 143
WO01-455-7246 15994 147 W01-968-6318 15783 144
WO01-455-7756 15784 131 WO01-968-8186 15782 143
W01-455-8835 92100 158 WO01-D08-6388 16270 89
WO01-455-9635 15994 147 WO01-D08-6391 16270 89
WO01-455-9657 17105 149 W01-D08-8196 16265 89
W01-458-4037 15817 201 WO01-D08-8693 16224 88
WO01-458-4058 15807 198 W01-D08-8707 17066 90
WO01-458-4059 15809 199 W01-D08-9056 15609 148
WO01-458-4061 15813 200 W01-D08-9079 16024 *
WO01-458-4064 15821 202 W01-D08-9310 15618 87
W01-530-4102 15661 * W01-D08-9311 15674 )
W01-653-7124 90207 * W01-D08-9352 15675 )
WO01-675-9446 15760 * WO01-F79-7349 15676 93
WO01-675-9448 16039 * WO01-F79-9397 15677 93
W01-681-0212 15682 140 WO01-M58-0028 15772 -
W01-681-2120 15792 * WO01-M58-0031 16054 *
WO01-681-5331 15684 140 WO01-M58-0491 16056 *
WO01-681-6808 15664 134 WO01-M58-0687 15773 "

Granning UK Ltd +44 (0) 1925 810 400
Granning Ireland Ltd +353 (0) 45 875 996 H i
3 8 Granning (NI) Ltd +44 (0) 2890 740 055 airsprings

Granning Poland +48 (0) 785 875 996



Airspring Supplier Cross Reference Lists

Firestone
WO01-M58-0747 16059 W01-M58-6344 16082
WO01-M58-0749 16057 * WO01-M58-6345 15635 164
W01-M58-0776 15991 * WO01-M58-6346 16063 *
WO01-M58-0777 15999 . WO01-M58-6348 16091 168
W01-M58-0780 16200 * WO01-M58-6359 16050 *
WO01-M58-1631 15754 * WO01-M58-6360 16064 *
W01-M58-1639 15757 * W01-M58-6361 16084 168
WO01-M58-5339 16001 140 W01-M58-6363 92901 169
W01-M58-6008 90105 130 W01-M58-6364 15634 167
W01-M58-6011 15592 * W01-M58-6365 16086 *
WO01-M58-6126 90300 - WO01-M58-6366 15651 161
WO01-M58-6127 15673 138 WO01-M58-6367 16099 161
W01-M58-6140 90100 * WO01-M58-6371 90106 130
W01-M58-6155 15590 * WO01-M58-6374 90104 130
W01-M58-6166 90103 130 W01-M58-6377 16271 *
WO01-M58-6188 15668 131 WO01-M58-6381 16031 *
W01-M58-6223 93003 170 WO01-M58-6385 16275 136
WO01-M58-6225 92805 166 WO01-M58-6875 16276 136
W01-M58-6238 91450 - WO01-M58-6887 15603 131
W01-M58-6251 15619 115, 160 W01-M58-6891 15710 116, 132
WO01-M58-6252 16087 152 WO01-M58-6988 15774 *
WO01-M58-6253 15665 141 W01-M58-6989 15775 94
WO01-M58-6254 92400 141 W01-M58-6990 15776 *
W01-M58-6259 17035 159 WO01-M58-7074 15732 142
W01-M58-6260 91400 113 WO01-M58-7275 15711 116, 146
W01-M58-6269 17033 153 WO01-M58-7283 15712 117, 148
WO01-M58-6276 17034 158 WO01-M58-7295 15713 117, 151
WO01-M58-6285 15657 144 WO01-M58-7308 15714 117, 156
WO01-M58-6287 15768 144 W01-M58-7313 16032 94
WO01-M58-6289 16080 157 WO01-M58-7315 15601 115, 160
WO01-M58-6297 15731 142 W01-M58-7320 16076 145
WO01-M58-6307 15799 161 WO01-M58-7335 15606 164
WO01-M58-6315 15769 142 WO01-M58-7348 15715 117, 156
W01-M58-6317 15750 142 WO01-M58-7358 15653 167
WO01-M58-6318 15783 144 WO01-M58-7364 15731 142
WO01-M58-6320 16097 * WO01-M58-7367 15795 118
WO01-M58-6333 16061 * WO01-M58-7370 15660 *
WO01-M58-6334 15907 167, 91 W01-M58-7380 15672 170
WO01-M58-6338 16092 165 W01-M58-7385 15671 172
WO01-M58-6339 15634 167 WO01-M58-7392 15796 *

- Granning UK Ltd +44 (0) 1925 810 400
H H Granning Ireland Ltd +353 (0) 45 875 996
airsprings Granning (NI) Ltd +44 (0) 2890 740 055 3 9

Granning Poland +48 (0) 785 875 996



Airspring Supplier Cross Reference Lists

Firestone

W01-M58-7393 15797 W01-M58-8629 15654

W01-M58-7501 16022 133 W01-M58-8642 92585 *
W01-M58-7502 16065 168 W01-M58-8643 92600 162
WO01-M58-7523 15777 94 W01-M58-8653 92550 *
WO01-M58-7524 15778 134 W01-M58-8663 92606 *
W01-M58-7526 15780 * WO01-M58-8666 16905 181
WO01-M58-7527 15781 * WO01-M58-8667 16917 181
WO01-M58-7531 16190 136 W01-M58-8668 16918 181
WO01-M58-7548 92000 157 W01-M58-8669 92584 *
WO01-M58-7582 16033 * WO01-M58-8670 92581 *
WO01-M58-7679 15670 132 WO01-M58-8671 92583 *
W01-M58-7710 15779 133 WO01-M58-8678 16195F 88
WO01-M58-7756 15784 131 W01-M58-8679 16225 89
W01-M58-7887 15603 131 WO01-M58-8681 16218 88
WO01-M58-7894 15599 131 W01-M58-8682 16226 89
WO01-M58-7953 90301 * W01-M58-8683 16224 88
W01-M58-7992 15777 94 W01-M58-8701 17061 90
WO01-M58-8098 16105 119, 172 WO01-M58-8703 17063 *
W01-M58-8106 93002 170 W01-M58-8705 17060 90
WO01-M58-8107 93004 171 W01-M58-8712 15683 *
W01-M58-8108 92806 166 WO01-M58-8714 17062 *
W01-M58-8172 91801 114 WO01-M58-8715 15990 87
W01-M58-8185 15657 144 W01-M58-8721 15996 87
WO01-M58-8186 15782 143 WO01-M58-8722 17066 90
W01-M58-8502 15669 171 WO01-M58-8747 15654 162
W01-M58-8584 15902 177 W01-M58-8762 17002 171
W01-M58-8585 16919 182 W01-M58-8765 15672 170
WO01-M58-8587 92607 163 WO01-M58-8766 15671 172
W01-M58-8590 92582 * WO01-M58-8769 93001 170
W01-M58-8601 15961 178 W01-M58-8772 92800 *
W01-M58-8602 15905 179 W01-M58-8773 92801 165
W01-M58-8608 92605 163 WO01-M58-8775 15635 164
W01-M58-8609 15919 180 WO01-M58-8786 16046 112
W01-M58-8610 15868 173 WO01-M58-8835 92100 158
W01-M58-8611 15902 177 W01-M58-8840 91401 *
W01-M58-8612 16098 161 WO01-M58-8859 15617 155
W01-M58-8613 15916 177 WO01-M58-8948 16034 118
W01-M58-8619 15918 179 W01-M58-8966 15917 179
W01-M58-8620 15901 177 W01-M58-8969 15867 172
WO01-M58-8621 15959 178 W01-M58-8973 91800 101

Granning UK Ltd +44 (0) 1925 810 400
Granning Ireland Ltd +353 (0) 45 875 996 H i
4 O Granning (NI) Ltd +44 (0) 2890 740 055 airsprings

Granning Poland +48 (0) 785 875 996



Airspring Supplier Cross Reference Lists

Firestone
Part No. Part No Part No. Part No.

W01-M58-8978 15790 W21-760-6957 15598 137
WO01-M58-8988 15791 176 W21-760-9000 15597 85
W01-M58-9089 15615 150 W26-600-9902 15506 *
W01-M58-9131 15630 155 WC1-358-0600 16041 *
W01-M58-9207 15758 152 WC1-358-0651 16030 *
W01-M58-9706 15656 123 WC1-358-0652 16090 *
W01-M58-9707 16048 124 WC1-358-0658 16025 *
W01-M58-9908 16070 154 WC1-358-0658 16025 *
W01-M58-9910 15709 112 WC1-358-0686 16038 *
WO01-M58-9924 16071 154 WC1-358-0689 11740 *
WO01-R58-4038 16136 200 WC1-358-0697 11739 -
WO1-R58-4055 15803 197 WC1-358-1619 16037 )
WO01-R58-4062 15816 . WC1-358-1626 16260 .
WO01-R58-4065 15824 203 WC1-358-9452 15648 *
WO01-R58-4067 15829 204 WC1-358-9453 15649 *
WO01-R58-4074 15822 203 WC1-379-1622 15770 *
WO01-R88-6298 15731 142 WC1-675-9445 15759 *
W01-S05-6251 15619 115, 160 WC1-675-0448 16039 *
W01-S05-6891 15710 116, 132 WC1-M58-1632 15767 )
W01-S05-7182 15710 116, 132 WC1-M58-1639 15757 *
W01-S05-7275 15711 116, 146 WC1-M58-1643 15789 *
W01-S05-7283 15712 117, 148
W01-S05-7295 15713 117, 151
W01-S05-7308 15714 117, 156
WO01-S05-7315 15601 115, 160
W01-S05-7348 15715 117, 156
W01-S05-7358 15653 167
W01-S15-7367 15795 118
W01-S15-7392 15796 *
W01-S15-7393 15797 118
W01-S15-8192 15717 .
WO01-515-8193 15720 :
W02-358-7002 15505 *
W02-358-7007 15620 i
W02-358-7012 15501 .
W02-358-7031 15620 y
W02-358-7035 15510 68
W02-D08-9903 15725 87
W02-M58-3000 15500 *
W21-760-0335 16089 137

- Granning UK Ltd +44 (0) 1925 810 400
H H Granning Ireland Ltd +353 (0) 45 875 996
airsprings Granning (NI) Ltd +44 (0) 2890 740 055 4 1

Granning Poland +48 (0) 785 875 996



Airspring Supplier Cross Reference Lists TCHrNAG
Airs @Irsprings

Gart Airsprings.com Gart Airsprings.com

C 282 D 276, R-2F 15679
C282,B * 5 D 277 15634 167
15907 167, 91
C 282, H 119, 172
16105 16091 168
C 289 17026 192 D 277, 2F 16084 168
C 289, BS * : D277.B 15635 164
C 289B 17025 192 D 277, B 16092 165
C 292 15790 177
D 277, B-2F 165
16917 81 16082
C292, A 15961 178 P2 e
16905 181 LI * ;
C292,S 16100 * D277, DA * *
15867 172
15868 73 D 278 17052 192
C 293 15901 177 D278.B ’ )
16918 181 D 278, C * *
C 293, A 15916 177 D278, E * *
16919 132
D 278, EB @ *
C 294 15731 142
15732 142 D 278, F ) '
C 295 x * D278, G 15633 151
C 299 15702 186 D 278, H 15617 155
C 299, A 15962 104 15629 *
16160 106 15630 155
16080 157
C 301 S *
D 278, HS 15657 144
C301,B 194
17082 D278, S 15651 161
C 302 15991 * 16099 161
15996 87 D 287 15634 167
15999 15653 167
17066 % D 287 A 15634 167
C 304 15956 104 ’ 16084 168
15957 104
D 287 B @ *
D 276 15641 184
D 287 D * *
D 276, B 15622 183
D 290 187
D 276, BS 17091 * 15844
D 290, B *
D 276, C 15704 186 15845
D E 1
A . . 290, 17074 95
5 .
D 276, D 15696 * =6 17073
D 296, B S *
D276, DR * *
D 296, C * *
D 276, E 17056 N
- - D 296, D 17090 107
D 276, L 15966 190
D 276, LR * * D 297 15621 183
D 276, LRS & * D 298 17081 )
D 276, LRS * * D 298, B 17080 193
D 276, R * * D 298, C 17092 ¥

Granning UK Ltd +44 (0) 1925 810 400
Granning Ireland Ltd +353 (0) 45 875 996 H i
4 : 2 Granning (NI) Ltd +44 (0) 2890 740 055 airsprings

Granning Poland +48 (0) 785 875 996



Airspring Supplier Cross Reference Lists

Gart & Goodyear

Gart Alrsprmgs com Goodyear Alrsprlngs com

D 298, D 1R 10-702 94002
D 298, E 16017 * 1R 10-704 92500 124
T 271 * * 1R 11-028 16009 145
To71,2 15646 134 1R 11-086 17036 147
15778 134 1R 11-106 15732 iz
T271,2C * ’ 1R 11111 15731 142
T271,S 17040 139 1R 11113 * *
T272,N :ggg? ' 1R 11-163 * -
o T . 1R 11-165 17036 147
16270 89 1R 11-185 92502 120
T274,3 15780 - 1R 11-196 G )
T274,B 15779 133 1R 11-700 15901 177
T274,C 15775 94 1R 11-701 16918 181
T275 15680 129 1R 11-702 16918 181
T275,B * : 1R 11-703 15916 177
T 275, F & * 1 R 11-703 (no 15919 180
T 279 * * piston)
o708 . X 1R 11-704 15959 178
Tor9.C X . 1R 11-705 15651 161
o790 X . 1R 11-706 15651 161
- X . 1R 11-707 15651 161
- X X 1R 11-708 16099 161
T o8t . X 1 R 11-709 * )
Tt 2 15599 131 1R 11-710 16099 161
291 2 15603 131 1R 11-711 16101 173
T291,2 15776 iy R ) *
1291, 28 15670 130 1R 11-713 15651 161
T 291 28 15710 T T 1R 11-714 16099 161
o0t B X X 1R 11-715 15967 180
T 300, 2 15808 . TRITTS ) *
T 300, 3 15810 . TR ) *
1R 11-739 16918 181
1R 11-740 92602 147
1R 11-743 16918 181
1R 11-750 15651 161
1R 11-751 16099 161
1R 11-752 16919 182
1R 11-753 S ¥
1 R 11-754 * )
1 R 11-760 * )

- Granning UK Ltd +44 (0) 1925 810 400
H H Granning Ireland Ltd +353 (0) 45 875 996
airsprings Granning (NI) Ltd +44 (0) 2890 740 055 4 3

Granning Poland +48 (0) 785 875 996



Airspring Supplier Cross Reference Lists

Goodyear

Goodyear Alrsprlngs com Goodyear Alrsprlngs com

1R 11-762
1R 11-763
1R 11-764

1R 11-765
1R 11-772
1R 11-773
1R 11-781
1R 11-798
1R 11-799
1R 11-800
1R 11-801
1R 11-802
1R 11-803
1R 11-804
1R 11-805
1R 11-806
1R 11-807
1R 11-820
1R 11-825
1R 11-826
1R 11-827
1R 11-828
1R 11-829
1R 11-830
1R 11-831
1R 11-832
1R 11-833
1R 11-834
1R 11-835
1 R 12-069
1R 12-092
1 R 12-095
1R 12-103
1R 12-130
1R 12-131
1R 12-132
1R 12-134
1R 12-135
1 R 12-142

44

16918 1R 12-155
16919 182 1R 12-167
15731 142 1R 12-173
15782 143 1R 12-188

’ ' 1R 12-223
15769 142 1R 12-244
2 142 1 R 12-249
16098 101 1R 12-256
ezt 88 1R 12-281
16241 180 1 R 12-290
ez 181 1R 12-303
15909 178 1R 12-313
s 180 1R 12-328
93400 ' 1R 12-341
e 102 1R 12-353
93914 126 1R 12-355
el 19 1R 12-364
91501 ' 1R 12-365
94001 102 1R 12-369
90211 ' 1R 12-375
U 115, 160 1R 12-384
15796 ' 1 R 12-398
Lol 115,160 1 R 12-400
92505 121 1 R 12-401
92502 120 1 R 12-405
92507 121 1R 12-433
92501 120 1R 12-461
92506 121 1 R 12-470
92509 122 1R 12-471
17105 149 1R 12-472
e 150 1R 12-473
15610 150 1R 12-476
15608 145 1R 12-482
15612 195 1 R 12-506
i3638 1o 1R 12-538
15652 123 1 R 12-603
e 140 1 R 12-608
15610 150 1 R 12-700
15612 158 1 R 12-701

’ ' 1R 12-702

Granning UK Ltd
Granning Ireland Ltd
Granning (NI) Ltd
Granning Poland

+44 (0) 1925 810 400
+353 (0) 45 875 996
+44 (0) 2890 740 055
+48 (0) 785 875 996

15611

15614 155
15998 158, 92
15995 92
15994 147
16052 159
15614 155
15662 )
17065 173
16012 159
15651 161
17110 -
15602 146
91900 *
15998 158, 92
15994 147
16081 152
16028 )
17034 158
16081 152
17110 .
91900 *
93000 122
15678 92
17035 159
16012 159
91802 *
15994 147
17065 173
15991 )
15617 155
15617 155



Airspring Supplier Cross Reference Lists

Goodyear
Part No. Part No Part No. Part No.
1 R 12-703 16080 1R 13-133 *
1 R 12-704 * * 1R 13-147 15654 162
1R 12-705 & * 1R 13-148 15654 162
1R 12-706 15615 150 1R 13-149 15993 162
1R 12-707 & * 1R 13-150 15654 162
1R 12-708 * * 1R 13-165 93210 90
1 R 12-709 15773 * 1R 13-167 92600 162
1R 12-710 15999 * 1 R 13-706 * *
1R 12-711 15996 87 1R 13-708 92600 162
1R 12-712 17066 90 1 R 13-709 17106 )
1R 12-713 15714 117, 156 1R 13-711 16046 112
1R 12-714 16008 157 1R 13-713 * *
1R 12-715 15629 * 1R 13-714 16230 13
1R 12-716 15633 151 1R 13-715 * *
1 R 12-717 15612 155 1R 13-732 17002 171
1 R 12-719 15633 151 1R 13-734 * *
1R 12-720 o * 1R 13-738 16046 112
1R 12-721 15630 155 1R 13-744 16067 119
1R 12-722 * * 1 R 13-745 16068 119
1R 12-723 15990 87 1R 13-746 92504 120
1R 12-739 17034 158 1 R 13-747 16066 *
1 R 12-740 17035 159 1 R 13-800 17003 *
T * : 1R 13-801 17004 ’
1 R 12-749 15657 144 1 R 13-802 15837 164
1 R 12-760 @ * 1R 13-803 17002 171
1 R 12-761 * * 1 R 13-804 * *
1 R 12-762 15656 123 1R 13-805 15672 170
1 R 12-763 * * 1 R 14-028 15635 164
1 R 12-764 * * 1 R 14-030 15634 167
1 R 12-768 17061 90 1 R 14-037 * *
1R 12-799 91501 * 1R 14-038 16015 163
1R 12-807 17034 158 1 R 14-039 15738 172
1R 12-809 92508 * 1 R 14-059 15635 164
1R 12-810 93000 122 1 R 14-061 15634 167
1R 13-038 15616 167 1R 14-065 15653 167
1 R 13-039 15613 164 1 R 14-068 16015 163
1 R 13-077 15994 147 1 R 14-082 15606 164
1 R 13-081 15993 162 1 R 14-091 * *
1 R 13-118 15993 162 1R 14-104 * *
1R 13-119 15994 147 1R 14-121 * *

- Granning UK Ltd +44 (0) 1925 810 400
H H Granning Ireland Ltd +353 (0) 45 875 996
airsprings Granning (NI) Ltd +44 (0) 2890 740 055 4 5

Granning Poland +48 (0) 785 875 996



Airspring Supplier Cross Reference Lists

Goodyear
Goodyear Alrsprlngs com Goodyear Alrsprlngs com
1R 14-122 1R 14-758 15671
1 R 14-150 93001 170 1R 14-759 * *
1 R 14-700 15903 - 1R 14-781 15903 179
1 R 14-700 (no 15902 177 1R 14-782 93002 170
piston) 1 R 14-783 92802 166
1 R 14-701 16905 *
1R 14-784 93004 171
1 R 14-701(without 15961 178
piston 1R 14-812 93004 171
1 R 14-702 16917 181 1R 14-813 15867 172
1 R 14-703 16917 181 1R 14-814 15868 173
1 R 14-704 16100 * 1R 14-815 93005 ¥
1 R 14-705 15634 167 1R 14-823 93003 170
1 R 14-706 16084 168 1R 14-824 15635 164
1 R 14-707 * * 1R 14-825 92802 166
1 R 14-708 16917 g 1 R 14-831 15606 164
1 R 14-708 (no 15790 177 1 R 14-846 93002 170
piston) 1R 14-847 93004 171
1 R 14-709 16065 168
1R 14-848 93003 170
1 R 14-710 15660 *
2 B 12-2450 16136 200
1R 14-712 16917 181
2 B 12-300 * *
1R 14-715 15772 *
2 B 12-305 15666 135
1R 14-716 15635 164
2 B 12-307 15650 134
1 R 14-717 * *
2 B 12-309 15645 116
1R 14-718 15907 167, 91
2B 12-313 * *
1 R 14-719 15907 167, 91
2B 12-319 & *
1 R 14-724 16905 181
2 B 12-320 16006 i
1 R 14-726 * *
2B 12-327 * *
1R 14-727 15653 167
2B 12-345 * *
1R 14-728 15669 171
2B 12-416 * *
1R 14-729 16091 168
16091ATP - 2B 12-425 15646 134
1 R 14-730 16092 165 2 B 12-426 * *
1 R 14-739 16059 . 2B 12-434 * *
1R 14-746 93001 170 2B 13-307 15650 134
1R 14-747 15867 172 2B 14-354 * i
1R 14-748 16917 181 2B 14-356 * .
1R 14-749 * - 2B 14-359 15663 133
1R 14-753 16105 119, 172 2 B 14-360 15647 133
1 R 14-755 16105 119, 172 2B 14-365 * *
1R 14-756 15868 173 2B 14-462 * .
1R 14-757 16905 181 2 B 14-465 16022 133
2 B 8-2150 15803 197

Granning UK Ltd +44 (0) 1925 810 400
Granning Ireland Ltd +353 (0) 45 875 996 H i
4 6 Granning (NI) Ltd +44 (0) 2890 740 055 airsprings

Granning Poland +48 (0) 785 875 996



TrechrinAc Airspring Supplier Cross Reference Lists
CLIRS rl@§ Goodyear

Goodyear Airsprings.com Page Goodyear Airsprings.com
Part No. Part No. g Part No. Part No.

2B 8-2152 16036 137 556-03-9004 15908 187
2 B 9-200 15603 131 556-03-9005 15954 190
15784 12 556-03-9006 15997 174
2B 9201 ’ ' 556-03-9006 15706 186
2B 9-202 15603 131 15997 174
15784 L2 556-03-9007 15623 183
2B 9-206 " ) 556-03-9008 15702 186
2B9-223 }gggi 121 556-03-9009 15845 )
5 B 99950 15599 131 556-03-9010 15698 185
e 15784 131 556-03-9012 15945 *
5B 9051 N . 556-03-9013 15703 -
2B 9-252 15710 116, 132 556-03-9014 15641 184
2B 9-269 15670 132 556-03-9015 15912 187
AR 15784 131 556-03-9047 15956 104
2B 9.287 15599 131 556-03-9047 15956 104
3B 12-300 15607 138 ey s
556-03-9074 15964 105
3B14-354 15736 138 556-03-9079 15962 104
3B 14-359 * * 16160 106
3 B 14-360 * * 556-03-9080 94516 194
556-03-8012 15704 186 556-03-9081 94514 193
556-03-8013 15703 * 556-03-9082 94515 194
556-03-8014 15641 184 566-03-9016 15687 185
556-03-8015 15626 184 566-03-9042 * *
556-03-8016 15687 185 566-03-9048 15944 189
556-03-8017 15622 183 566-03-9050 16109 -
556-03-8018 15621 183 566-03-9051 15927 188
556-03-8019 15689 * 566-03-9066 15929 188
556-03-8028 15642 185 566-03-9067 94506 5
556-03-8037 15637 184 566-03-9068 15702 186
556-03-8040 15639 184 566-03-9072 15960 190
556-03-8042 15625 183 566-03-9073 15693 ’
556-03-8043 17086 ) 566-03-9074 15940 )
556-03-8053 15705 * 566-03-9075 16017 *
556-03-8117 15700 185 566-03-9075 16227 106
556-03-8118 15701 186 16228 1o
cce.05.631 15642 85 566-03-9076 * -
556-03-8314 17092 : See08077 16018 he
c56.08.9001 15606 . 566-03-9078 16019 *
£56.03.6002 15946 . 566-03-9101 16166 191
556-03-9003 15948 189 906-05-9108 ) *

- Granning UK Ltd +44 (0) 1925 810 400
H H Granning Ireland Ltd +353 (0) 45 875 996
airsprings Granning (NI) Ltd +44 (0) 2890 740 055 4 7

Granning Poland +48 (0) 785 875 996



Airspring Supplier Cross Reference Lists TCHrNAG
Alrspring (@Irsprings

Goodyear Airsprings.com Goodyear Airsprings.com
142

566-03-9500 15997 174 566-22-3-521 15731
15732 142
566-03-9505 15956 104
15782 143
566-03-9506 15957 104 15750 142
566-03-9517 * * 566-22-3-522 15731 142
566-03-9519 15962 104 15732 142
566-03-9520 16160 106 506-22-3-523
566-22-3-525 * *
566-03-9522 15964 105
566-22-3-526 15651 161
566-03-9523 16227 106 16098 161
566-03-9524 16228 106 16099 161
566-20-3-502 94002 102 566-22-3-527 * *
566-20-3-504 92500 124 566-22-3-533 16224 88
566-20-3-540 94001 102 566-22-3-534 94003 102
566-22-2-101 * * 566-22-3-535 93914 126
566-22-2-102 92505 121 566-22-3-536 91501 *
566-22-2-103 92501 120 566-22-3-543 15619 115, 160
566-22-2-109 * * 15796 123
566-22-3-544 15601 115, 160
566-22-2-116 92506 121
566-22-3-545 92502 120
566-22-2-117 92503 120 92505 121
566-22-3-036 17036 147 566-22-3-546 92501 120
566-22-3-042 17036 147 92507 121
566-22-3-045 17036 147 Sel e 92506 s
566-22-3-058 15731 142 566-22-3-548 17105 149
15732 142 566-23-3-501 16241 180
566-22-3-059 17036 147 566-24-3-004 15644 146
566-22-3-063 * * 566-24-3-007 15608 145
566-22-3-143 * * 566-24-3-010 15610 150
566-22-3-500 15901 177 566-24-3-013 15608 145
180
123‘1‘: 181 566-24-3-014 15612 155
93400 * 566-24-3-017 15610 150
566-22-3-501 15909 178 566-24-3-019 15612 155
177
:ggl? - 566-24-3-033 15608 145
16244 181 566-24-3-038 15610 150
16919 182 15611 150
566-22-3-502 15959 178 15633 151
15967 180 15988 *
566-22-3-503 15651 161 16081 1?2
16099 161 91802
91900 *
566-22-3-504 16101 173 566.04-3-044 15644 116
566-22-3-517 90211 ’ 566-24-3-045 15610 150
566-22-3-520 92602 147 566.24-3.048 15610 150
566-24-3-049 15608 145

Granning UK Ltd +44 (0) 1925 810 400
Granning Ireland Ltd +353 (0) 45 875 996 H i
4 8 Granning (NI) Ltd +44 (0) 2890 740 055 airsprings

Granning Poland +48 (0) 785 875 996



Airspring Supplier Cross Reference Lists

Goodyear
Goodyear Alrsprlngs com Goodyear Alrsprmgs com
566-24-3-050 15608 566-24-3-501 15612
566-24-3-051 15644 146 :gg;g 155
566-24-3-052 15652 123 15630 155
566-24-3-053 15612 155 15714 117,156
16026 *
566-24-3-054 15612 155 16008 157
15614 155 16080 157
566-24-3-055 15644 146 17034 158
566-24-3-057 * 2 566-24-3-502 15615 150
566-24-3-059 * * 15633 191
566.54.3.066 15612 - 566-24-3-510 15657 144
15614 155 566-24-3-513 15656 123
17034 158 566-24-3-522 16105 119, 172
17035 159
566-24-3-524 *
566-24-3-067 15608 145 91501
566-24-3-528 171
566-24-3-074 15998 198, 92 17002
16081 162 566-24-3-530 92508 *
17030 * 566-26-3-005 15613 164
566-24-3-076 :gggg 1 9426 566-26-3-007 15616 167
15995 92 566-26-3-011 15613 164
566-24-3-077 17110 * 566-26-3-012 15616 167
566-24-3-090 16052 159 566-26-3-015 15616 167
93000 122 566-26-3-017 15616 167
266-24-3-095 ’ ; 566-26-3-018 15613 164
566-24-3-097 :g;}g 1;9 566-26-3-034 15993 162
e — 15662 . 566-26-3-036 15994 147
566-24-3-105 15994 147 566-26-3-039 15993 162
17034 158 566-26-3-051 15613 164
17035 159 566-26-3-053 15994 147
566-24-3-108 152, 173
}sgg; 566-26-3-056 * *
566-24-3-140 15662 * 566-26-3-068 15654 162
162
566-24-3-148 15654 162 92600
566-26-3-075 15654 162
566-24-3-173 15998 158, 92 93210 90
566-24-3-313 16012 159 566-26-3-148 15654 162
566-24-3-500 15991 * 566-26-3-200 * *
1:332 8*7 566-26-3-501 17106 *
17061 90 566-26-3-502 16046 112
gggg Zg 566-26-3-505 16230 13
566-26-3-518 17002 171
566-26-3-521 16067 119
566-26-3-522 16068 119
566-26-3-523 92504 120

- Granning UK Ltd +44 (0) 1925 810 400
H H Granning Ireland Ltd +353 (0) 45 875 996
airsprings Granning (NI) Ltd +44 (0) 2890 740 055 4 9

Granning Poland +48 (0) 785 875 996



Airspring Supplier Cross Reference Lists C —Q "
Goodyear & Keva airs rlmg

Goodyear Airsprings.com Goodyear Airsprings.com
164

566-26-3-524 16066 & 566-28-3-530 15635
566-26-3-801 15837 164 92802 165
566-28-3-548 164
566-26-3-802 17002 171 15606
15672 170 578-92-2-234 15784 131
566-26-3-803 * * 578-92-2-285 15784 131
566-26-3-804 17003 * 578-92-3-200 15603 131
17004 578-92-3-202 15603 131
566-28-3-011 15635 164 15784 131
15606 12: 578-92-3-206 15599 .
16092 15670
566-28-3-015 16015 163 578-92-3-2150 197
15738 170 15803
566-28-3-020 15634 167 578-92-3-2151 16036 137
15653 167 578-92-3-2250 15603 131
16084 168 15599 131
16091 168 578-92-3-2450 16136 200
566-28-3-021 15635 164 578-92-3-307 135
e 164 15666
16092 o 578-92-3-309 15650 134
15645 116
566-28-3-023 172
15738 15646 134
566-28-3-026 & 578-92-3-310 15666 135
566-28-3-030 93001 170 578-92-3-315 15645 116
566-28-3-035 93001 170 578-92-3-353 15663 133
566-28-3-500 15660 * 15647 133
15672 170 16022M *
16059 * 578-92-3-356 * *
16084 108 578-93-3-100 15607 138
566-28-3-501 15790 177 15627 138
15867 172 15673 138
15868 173
16917 - 578-93-3-350 15737 139
138
566-28-3-502 16100 * 15736
15867 172
15868 173
566-28-3-503 16065 198
15907 197; o Keva Airsprings.com
15660 Part No. Part No. Page
16091ATP 168
566-28-3-504 15902 177 5644 15622 183
15903 179 5661 15621 183
566-28-3-505 15961 178 5662 15623 183
16905 121 5673 15927 188
566-28-3-506 16056 * 59
16057 5701 15706 186
566-28-3-510 15669 171 5706 94506 *
15671 e 5713 15929 188
566-28-3-518 * *
5715 15626 184
566-28-3-529 93003 170 X
93004 171 o716 15693

Granning UK Ltd +44 (0) 1925 810 400
Granning Ireland Ltd +353 (0) 45 875 996 H i
5 O Granning (NI) Ltd +44 (0) 2890 740 055 airsprings

Granning Poland +48 (0) 785 875 996



TrechrinAc Airspring Supplier Cross Reference Lists
CLIRS rl@§ Goodyear

Keva Airsprings.com Page Keva Airsprings.com
Part No. Part No. 9 Part No. Part No.
186

5719 15701 5941 15901 177
5720 15702 186 16918 i
5724 16101 173 o gggg 1;;
5725 15867 172 5943 15696 i
5727 15700 185 5944 15704 186
5728 15930 * 5945 15641 184
5737 16017 - 5951 15959 178
5746 & * 5975 15937 189
5757 16018 190 51415 94604 .
5767 15698 185 51421 15960 190
5768 16019 : 51774 15913 188
5769 15705 . 51788 * .
5775 16238 i 51819 * )
5782 15703 - 51885 15948 189
5786 15933 189 51924 16214 )
5788 15934 * 54004 15651 161
5813 15634 167 54008 15672 170
5817 15938 * 54022 16099 161
5819 15966 190 16098 11
s836 Er— = 54023 16091 168
536 15940 . 54028 93002 170
5873 15941 . e o
54150 15608 145
5876 17092 * 54154 91801 114
5881 :g;?g :Z 54156 15610 150
S0 15944 189 54158 15657 144
c883 = . 54390 15956 104
S804 15946 . 54420 16048 124
s e 88 54713 15656 123
5806 15639 184 54718 15658 124
5857 e 7 54758 94006 .
5001 93200 . 54810 16092 165
5002 E— - 54813 15653 167
so16 15912 187 54838 15963 104
so1 e R 54881 15961 178
16905 181
5927 15637 184 54882 94005 )
5928 15625 183 94102 103
5936 * * 54883 94003 102
5940 15916 177 94101 s
15919 132 54884 94001 102
94100 103

- Granning UK Ltd +44 (0) 1925 810 400
H H Granning Ireland Ltd +353 (0) 45 875 996
airsprings Granning (NI) Ltd +44 (0) 2890 740 055 5 1

Granning Poland +48 (0) 785 875 996



Airspring Supplier Cross Reference Lists

Keva

Keva Airsprings.com Page Keva Airsprings.com Page
Part No. Part No. 9 Part No. Part No. 9

54913
54915
54940
54941
54942
54960
54961
54962
56605
56606
56607
56608
234506
240301
240302
240303
240304
240305
240306
240307
286199
286200
404530
415104
415112
415151
415401
415501
415603
415607
415611
417111
419112
419602
419702
516251
541525
541528
54156CAO01
54156CA03

52

16105
16232
16241
16242
93401
15909
16244
93400
93914
93910
93911
92500
92501
15717
92508
92506
92505
92502
92507
92503
16067
16068
16166
15993
15601
16009
16077
16028
15998
17065
15654
15616
15738
15613
15619
15908
15954
15633
15615

Granning UK Ltd
Granning Ireland Ltd
Granning (NI) Ltd
Granning Poland

119, 172 54156CA04
* 54157CA01
180 54157CA02
180 54157CA03
5 54157CA06
178 54159CAO01
181 54159CA03
* 54159CA05
126 54159CA08
125 54159CA10
125 54390CAO01
124 54390CA02
120 54390CA03
* 54390CA04
@ 54390CA05
121 54737CA
121 54737CA01
120 54757CA
121 54757CA02
120 54838CAO01
119 54838CA02
119 54911 CAO01
191 54912CA01
162 5725CA01

115, 160 5809BB
145 5809BC
145 5810CA
* 5811CA
& 5836CAO01

158, 92 5836CA02
173 5836CA03
162 5836CA04
167 5912CA01
172 5912CA02
164

115, 160
187
190
151
150

+44 (0) 1925 810 400
+353 (0) 45 875 996
+44 (0) 2890 740 055
+48 (0) 785 875 996

16081

15731 142
15732 142
15782 143
15769 142
15612 155
15617 155
15630 155
15614 155
16008 157
15957 104
16155 105
16156 105
93916 107
93917 108
16227 106
16228 106
15962 104
16160 106
15964 105
15965 105
16230 13
16046 112
15868 173
15773 .
16054 ¥
15635 164
15907 167,91
15990 87
17066 90
17060 90
17061 90
15669 171
15671 172



Airspring Supplier Cross Reference Lists
Meritor

Meritor Airsprings.com Page Meritor Airsprings.com
Part No. Part No. 9 Part No. Part No.

17204516 15606 MLF7012 15948 189
17204517 15635 164 MLF7013 15944 189
21208082 15635 164 MLF7014 15937 189
21208327 15606 164 MLF7015 15630 155
21215632 15635 164 MLF7016 * *
21215633 15634 167 MLF7017 15990 87
21215761 15633 151 MLF7018 15991 *
21215762 15633 151 MLF7019 15999 *
21215891 15629 * MLF7020 16200F *
21221307 15731 142 MLF7022 15619 115, 160
21221349 15672 170 MLF7023 15769 142
21221356 15670 132 MLF7025 16092 165
21221393 15603 131 MLF7026 15634 167
21221395 15603 131 MLF7027 15635 164
21222239 15634 167 MLF7028 16091 168
21222442 15732 142 MLF7029 16092 165
21222663 15603 131 MLF7030 16099 161
21222673 15671 172 MLF7031 * *
21223269 16077 145 MLF7032 * *
21225331 92801 165 MLF7033 15601 115, 160
21226039 15629 * MLF7034 15653 167
21226046 15633 151 MLF7035 * *
21226068 16276 136 MLF7036 15599 131
21229214 92605 163 MLF7037 15657 144
21229455 92583 * MLF7038 15783 144
21229530 92584 * MLF7039 15669 171
21229914 92581 * MLF7040 15961 178
21229915 92582 * MLF7041 16905 181
MLF7000 15621 183 MLF7042 * *
MLF7001 15622 183 MLF7043 15902 177
MLF7002 15845 * MLF7044 16098 161
MLF7003 15700 185 MLF7045 15961 178
MLF7004 15702 186 MLF7046 15918 179
MLF7005 15703 * MLF7047 15901 177
MLF7006 15927 188 MLF7048 15959 178
MLF7007 15625 183 MLF7050 15709 112
MLF7008 15642 185 MLF7051 15712 117, 148
MLF7009 15637 184 MLF7052 15714 117, 156
MLF7010 15639 184 MLF7053 16224 88
MLF7011 15954 190 MLF7055 16228 106

- Granning UK Ltd +44 (0) 1925 810 400
H H Granning Ireland Ltd +353 (0) 45 875 996
airsprings Granning (NI) Ltd +44 (0) 2890 740 055 5 3

Granning Poland +48 (0) 785 875 996



Airspring Supplier Cross Reference Lists

Meritor
MLF7056 17060 MLF7104 15917
MLF7057 17066 90 MLF7105 15868 173
MLF7058 15996 87 MLF7107 15903 179
MLF7059 15996 87 MLF7108 15956 104
MLF7060 15061 * MLF7109 15957 104
MLF7061 15654 162 MLF7110 15905 179
MLF7062 & * MLF7111 15907 167,91
MLF7063 16046 112 MLF7112 15738 172
MLF7064 15617 155 MLF7113 15747 149, 93
MLF7065 16917 181 MLF7114 15916 177
MLF7066 15790 177 MLF7115 15612 155
MLF7067 15615 150 MLF7116 16101 173
MLF7068 15630 155 MLF7117 15610 150
MLF7069 15709 112 16019 )
LF7070 15647 133 MLF7118 15907 167, 91
MLF7074 15778 134 MLF7T19 UERIES 190
L7075 15783 " MLF7120 15608 145
L7076 16051 X MLF7121 16016 149
L7077 e e MLF7122 15671 172
MLF7078 15816 X MLF7123 15940 *
MLF7079 15613 164 MLF7124 15941 )
MLF7080 15750 142 MLF7125 15641 184
MLF7081 16105 119, 172 MLF7126 16081 102
MLF7082 15960 19 MLF7127 15946 *
LF7083 15669 . MLF7128 15614 155
VILF7084 15946 . MLF7129 15954 190
L7085 e &7 MLF7130 16077 145
MLF7086 15908 187 MLF7131 17028 152
LF7087 15698 185 MLF7132 15712 117, 148
VL7088 15045 X MLF7133 15714 117, 156
MLF7089 15623 183 MLF7135 16098 s
MLF7050 16109 X MLF7136 94002 102
LF7003 e . MLF7137 94003 102
MLF7004 15651 o1 MLF7138 94001 102
VL7065 e 161 MLF7139 16109 *
MLF7097 16080 157 MLF7I 15717 :
\LF 7008 15656 153 MLF7142 92505 121
MLF7100 X X MLF7143 92502 120
L7101 16084 168 MLF7144 92503 120
MLF7108 15867 172 MLF7145 15658 124

Granning UK Ltd +44 (0) 1925 810 400
Granning Ireland Ltd +353 (0) 45 875 996 H i
5 4 Granning (NI) Ltd +44 (0) 2890 740 055 airsprings

Granning Poland +48 (0) 785 875 996



Airspring Supplier Cross Reference Lists

Meritor, Monroe & Phoenix

Meritor Alrsprlngs com Monroe Alrsprlngs com

MLF7146 16067 717262 725 50517
— 15929 188 7172 62 778 50518 )
MLF7148 15705 * 7172 69 647 50514 82
MLF7149 16232 * CB 0006 50514 82
MLF7151 92500 124 CB 0030 50517 81
MLF7152 92500 124 CB 0039 53620 82
MLF7153 16232 * CB 0055 53620 82
MLF7154 93914 126 CB 0074 50516 *
MLF7155 15706 186 CB 0075 15515 76
MLF7156 15701 186 CB 0082 15512 76
MLF7157 93910 125 CB 0083 15513 e
MLF7158 15626 184
MLF7159 15940 i
Ll Fr 15941 ’ Airsprings.com
MLF7163 15653 167 Part No. Part No.
MLF7164 15962 104 1D 23 A-1 @ *
MLF7165 16227 106 1D 23E-2 * *
MLF7166 16228 106 1 D23 E-3 16080 157
MLF7167 16068 119 1D 23 G-1 17038 ¥
MLF7168 15615 150 1 D 24-35L 94902 176
MLF7169 15617 155 1D 28A-10 16092 165
MLF7170 93911 125 1D28A-12 16092 165
MLF7171 16048 124 1D28A-13 92802 166
MLF7172 16045 88 1D28A2 15635 164
MLF7175 16244 181 1D28A-5 15635 164
MLE7177 15916 177 1D 28 B-10 16091 168
MLF7179 15657 144 1D 28 B-12 15634 167
MLF7180 15750 142 1D 28 B-2 15634 167
MLF7181 93910 125 1D 28 B-4 16065 168
MLF7182 92506 121 1D 28B-7 15907 167, 91
MLF7183 15709 112 1D28B-8 15634 167
MLF7184 15603 131 1D 28 B-9 15653 167
MLF7185 15923 188 1D 28C-12 15672 170
MLF7186 15897 202 1D 28 C-126 & *
MLF7190 15816 * 1D 28 C-26 * *
MLF7191 15803 197 1D 28 C-9122 15616 167
1D 28 D-10 15669 171
1D 28 D-2 15671 172
1D 28 F-1 93002 170

- Granning UK Ltd +44 (0) 1925 810 400
H H Granning Ireland Ltd +353 (0) 45 875 996
airsprings Granning (NI) Ltd +44 (0) 2890 740 055 5 5

Granning Poland +48 (0) 785 875 996



Airspring Supplier Cross Reference Lists

Phoenix
1D 28 F-3 93003 1 DK 23 H-0742
1D28F-5 93004 171 1 DK 23 H-0743 15602 146
1D 28 G-26 * & 1 DK 23 H-9105 15644 146
1D 28 G-56 * * 1DK231-15 * *
1 D 28 G-9121 15613 164 1 DK 23 1-21 * 2
1 D28 H-13 * * 1 DK 23 K-28 15633 151
1D 28 H-16 16105 119, 172 1 DK 23 K-54 15615 150
1 DF 22 C-1 15656 123 1 DK 23 K-9082 15610 150
1 DF 25 A-1 * c 1 DK 23 K-9096 15611 150
1 DF 25 A-10 * * 1 DK 23 K-9211 15690 151
1 DF 25 A-2 * * 1 DK 23 K-9780 17065 173
1 DF 25-1 15991 * 1 DK 23 L-1 15783 144
1 DF 25-11 17066 90 1 DK 23 L-25 15617 155
1 DF 25-12 15990 87 1 DK 23 L-27 16008 157
1 DF 25-13 15996 87 1 DK 23 L-55 15617 155
1 DF 25-14 17060 90 1 DK 23 L-7308 15714 117,156
1 DF 25-15 17061 90 1 DK 23 L-9101 15612 155
1 DF 25-4 15999 * 1 DK 23 1-9130 * *
1 DK 19-1 16232 2 1 DK 23 L-9131 15630 155
1 DK 20 A-1 15782 143 1 DK 23 1-9192 15614 155
1 DK 20 A-51 15769 142 1 DK 23 P-9371 16028 2
1 DK 20 B-1 15657 144 1 DK 25-8747 15654 162
1 DK 20 B-4 15785 144 1 DK 28 A-7 92800 2
1 DK 20 C-2 15750 142 1 DK 28 B-7 92900 169
1 DK 20 C-54 15731 142 1 DK 28 B-8 * 2
1 DK 21 15901 177 1 DK 28 D-3 15617 155
1 DK 21 A3 15732 142 1 DK 28 F-3 93003 170
1 DK 21 A-31 15732 142 1 DK 28 F-4 16046 12
1 DK 21 A4 15731 142 1 DK 32 15790 177
1 DK 21 A9 * * 1 DK 32 E-4 15791 176
1 DK 21 B-4 16008 157 1DK 32 L 15902 177
1DK 21K 15916 177 1E 06 * *
1 DK 21 K-3 15909 178 1E 14 15966 190
1 DK 22 E-11 16098 161 1E16 * *
1 DK 22 E-5 15651 161 1E 16-1 * 2
1 DK 22 E-6 16099 161 1E17 * *
1 DK 22 E-8 15651 161 1E 17 A-1 * a
1 DK 22 E-9 16099 161 1 E 17 B-1 15997 174
1 DK 23 F-1 91801 114 1E18 15705 o
1 DK 23 F-9039 15608 145 1E 21 15622 183

Granning UK Ltd +44 (0) 1925 810 400
Granning Ireland Ltd +353 (0) 45 875 996 H i
5 6 Granning (NI) Ltd +44 (0) 2890 740 055 airsprings

Granning Poland +48 (0) 785 875 996



TrechrinAc Airspring Supplier Cross Reference Lists
@irsprings ce Lists

Phoenix Airsprings.com Page Phoenix Airsprings.com
Part No. Part No. 9 Part No. Part No.

1E21A 1F26D 15940 .
1E21C 15641 184 1F32 15698 185
1E21D 15703 2 1F32A 15700 185

1 E 21-205 * * 1F32B 15701 186
1 E 21-214 * o 1 G 12 B-04 * *
1E 2122 * * 1G 16 * *
1 E 21-25 * : 1G 21 * *
1E21-6 15687 185 1 KF 21-1 15956 104
1E21-E * « 1 KF 21-2 15957 104

1E23 % * 1 KF 21-21 93917 108
1E25 15621 183 1 KF 21-22 93916 107

1 E 25-21 * * 2D23C-1 * *
1E 25-22 * 2 2 D 24-01 * *

1 E 25-26 * * 2D 24-02 * *

1E 26 15706 186 2D24-35L * *
1E26A * * 2 D 24-35 NP * *

1 E 26 A-01 * : 2D 24-35P * *

1 E 26 A-03 * * 2E18A 15639 184

1 E 26 A-07 * 5 2E18B 15637 184

1 E 26 A-11 * * 2E18C 15639 184

1 E26A-13 * 2 2E23 15642 185
1 E 26-1 15997 174 2E23A * *

1 E 26-3 93603 * 2F 18 * *
1 E 265 * * 2 F 18-1 * *
1E27 16019 * 2G20 15908 187
1E32 15623 183 2G20A 15954 190
1F 14 15933 189 2 G 20-02 * *
1F 16 15944 189 C 075185 15515 76
1F20A 15946 2 C 091340 * *
1F20B 15948 189 SP 1B 04 90101 129
1F 21 15702 186 SP 1B 05 * *
1TF21A 15927 188 SP 1B 07 * *

1F21C-2 * 2 SP 1B 12 90104 130
1F21C5 15912 187 SP 1B 22 90105 130
1F21D 15929 188 SP 1B 34 90106 130

1F25 15626 184 SP 2B 04 R * *
1 F 25-14 * : SP 2B 05 R * *
1F26 * * SP 2B 05 RA * *

1 F 26 B-1 15693 * SP 2B 07 R * *

1F26C 16018 190 SP2B 12R 15670 132

- Granning UK Ltd +44 (0) 1925 810 400
H H Granning Ireland Ltd +353 (0) 45 875 996
airsprings Granning (NI) Ltd +44 (0) 2890 740 055 5 7

Granning Poland +48 (0) 785 875 996



Airspring Supplier Cross Reference Lists

Phoenix & Pirelli

Phoenix Airsprings.com Page Pirelli Airsprings.com Page
Part No. Part No. 9 Part No. Part No. 9

SP 2B 12 R-1 15603 18270-23 17138

SP 2B 12 R-5 15599 131 18270-23 17139 95
SP 2B 12 RA-10 15603 131 15270-23 17141 96
SP 2B 12 RA-3 15599 131 18270-23 17142 96
SP 2B 12 RA-4 * < 15270-23 17143 96
SP 2B 22 R * * 15270-23 17140 95
SP 2B 22 R-1 * * 18270-23C 17136 94
SP 2B 34 R 16022 133 18270-23C 17177 100
18270-23C 17178 101
15270-23C 17179 101

Part No. 18270-23V * *

20 15603 131 15270-23V * *

20 15724 * 18270-23V * *

22 15778 134 15270-26 17058 *

26 15774 * 18270-27 94503 )

245 15846 - 18270-30 94504 )
1GC130-30 50505 70 15280-25 15908 187
1GC170-20 * * 15280-28 15954 190

1GC195-12 * * 15285-18 15696 *

15215-22 17162 97 15285-18 * *

18215-22 15966 190 15285-18 * *
15215-22 * * 15285-18C 17055 192

15215-22 * * 15285-19C 17024 *

15215-23 17071 * 15285-20 17056 *

15215-23C * * 15285-20 17056 *

15215-24 94502 2 15285-20 * *

18215-25 17073 * 15285-20 * *

15215-25 * * 15285-20 * *
15260-34 * * 15285-22 17144 96
18270-19C 17173 99 15285-22 17145 97
15270-19C 17174 100 15285-22 15704 186

18270-19C 17175 100 15285-22 * >

15270-19C 17176 100 15285-22 * *

15270-20V 17074 195 15285-22C 17057 *

15270-20V * * 15285-22C * *

15270-20V * * 15285-22C * *

15270-20V * * 15285-23V * *

15270-20V * * 15285-23V * *
15270-23 17137 95 15285-24 15622 183

Granning UK Ltd

Granning Ireland Ltd
Granning (NI) Ltd
Granning Poland

+44 (0) 1925 810 400
+353 (0) 45 875 996
+44 (0) 2890 740 055
+48 (0) 785 875 996



Airspring Supplier Cross Reference Lists
Pirelli

Pirelli Airsprings.com Page Pirelli Airsprings.com
Part No. Part No. 9 Part No. Part No.

15285-25 15641 1SC240-30BB *
15285-25 * * 15C250-19 17171 99
15285-25 * * 1SC250-19 17172 99
15285-25 * . 15C250-19 17082 194
15285-25BR * * 1SC250-19 * *
15285-25C 17168 98 1SC250-28 15944 189
15285-25C 17169 98 1SC250-28 * .
15285-25C 17170 99 1S8C250-29 * *
15285-26 17058 * 1SC250-29 * *
15285-29 17079 * 15C250-29BB 15945 *
1S290-23V 94505 * 1SC260-30 17163 97
15290-23V * . 15C260-30 17164 97
15290-23V * * 1SC260-30 17166 98
15290-23V * * 1SC260-30 17167 98
15290-23V * * 1SC260-30 17025 192
15290-23V * * 15C260-32 17026 192
15290-23V * * 15C260-32 17026 192
15290-23V * . 15C260-34 * *
15290-23V * : 15C270-19 17072 194
15290-30V 94505 . 18C270-25C 15844 187
18300-27 16109 * 1SC270-28 15948 189
1S310-28RF 15621 183 18C270-30 15948 189
18320-17 * * 1SC290-30 15702 186
15320-23 17051 * 15C300-34 15693 *
15320-23 * * 1SC310-16 15626 184
15320-30 15642 185 1SC360-30 15698 185
15320-30 * * 1SC360-30 * *
18323-23 16017 * 1SC360-34 15700 185
15323-24 17059 * 1SC360-34 * Z
18323-25 * * 1SC360-43 15701 186
18323-25 o * 1T19E-1 15635 164
18323-25 * * 1T19E-1 16092 165
15323-25 * 2 1T19E-1 92801 165
15323-34 * * 1T19E-2 15634 167
15323-36 17080 193 1T19E-2 16091 168
15323-36C * - 1T19E-2 92900 169
15323-36C * * 1T19E-2 * *
18323-40 15629 * 1T19E-2 * *
1S323-40 17081 * 1T19E-2 15907 167, 91
15323-40 * * 1T19E-2L 15669 171

- Granning UK Ltd +44 (0) 1925 810 400
H H Granning Ireland Ltd +353 (0) 45 875 996
airsprings Granning (NI) Ltd +44 (0) 2890 740 055 5 9

Granning Poland +48 (0) 785 875 996



Airspring Supplier Cross Reference Lists

Pirelli & Sachs
1T19E-3 15672 1TS260-28 94015
1T19E-3 * * 1TS290-28 * *
1T19E-4 16046 112 1TS300-28 15656 123
1T19E-6 * * 1VSC285-30 15956 104
1T19E-6 3 * 1VSC285-30 15957 104
1T19E-93 16105 119, 172 1VSC300-26 15962 104
1T252 93600 : 21BBR 15775 94
1T252-2 15992 174 21BR 15779 133
1T252-2 * * 22B 15646 134
1T252-2 * * 28BR 16190 136
1T252-2C * 2 322BB 17040 139
17275 94501 * 322BR 15777 94
1T275-2 * * AS.E2 15634 167
1T280-30 93300 * A.S.E2BR 15653 167
1T280-40 15769 142
1T280-40 * *
1T300-37 15651 161 Part No. Part No.
1T300-37 16099 161 105408 50532 75
1T323-32 15633 151 105414 50533 75
1T323-32 * * 115731 50508 70
17323-32 * * 135194 15523 72
1T323-33 15633 151 135195 15524 72
17323-33 15651 161 135196 15523 72
1T323-40 15617 155 135197 15524 72
1T323-40 15630 155 135198 53307 74
1T323-40 16008 157 135199 53308 74
1T323-40 16080 157 135200 53308 74
1T323-40 * * 290987 50519 81
1T323-40 * * 290998 50533 75
17323-40BG & * 310619 50515 81
1T323-40BG * * 50517 81
1TC300-30K 16919 182 310620 ggg;: 8*1
1TC300-36 16918 181 310820 50521 71
1TC300-36 16918 181 310821 50525 72
1TC300-38 15732 142 311663 50533 75
1TC300-38 & * 312465 50531 )
1TC360-40K 16905 181 312465 15528 79
1TC360-45 16917 181 50519 81
1TC360-45 16917 181

Granning UK Ltd +44 (0) 1925 810 400
Granning Ireland Ltd +353 (0) 45 875 996 H i
6 O Granning (NI) Ltd +44 (0) 2890 740 055 airsprings

Granning Poland +48 (0) 785 875 996



@irsprings”

Taurus Airsprings.com Page Taurus
Part No. Part No. g Part No.
189

Airspring Supplier Cross Reference Lists

B 101 15937 K114-16
B 102 15933 189 K121-06
5 106 . » K 121-17
B 116 15706 186 K144-14
B 126 16018 190 K144-16
B 127 16017 . K144-17
B 132 * * K 147-03
B 141 15927 188 K147
B 144 15626 184 K151-09
B 149 15698 185 K 156-05
B 153 15701 186 K159-03
B 154 15702 186 K159-07

15912 187 K 159-13
B 156 15705 ’ K 177-05
B 159 * ’ K 271-02
B 160 16221 i K 402-04
B 165 15642 185 K 402-06
B 178 15625 183 K 404-04
B 179 15637 184 K 414-05
B 197 15693 : K 414-06
B 271 15908 187 K 509-24
B 272 15954 190 K 71-1
B 402 * ’ KF 209-205
B 414 * ’ KF 211-201
BL 114 15621 183 KF 211-202
BL 121 15622 183 KF 218
BL 124 15703 . KF 218-201
BL 128 16109 : KF 218-204
BL 143 15698 185 KF 218-210
BL 249 15946 ’ KF 218-6902
F 21 15923 188 KF 218-6905
F212 * ’ KF 218-6910
F218 15603 131
F 221 * * KF 218-6941
F 222 * » KF 222-302
F 322 * * KF 222-7180

K 114-11 * * KF 222-7185

K 114-12 * * KF 222-7400

K 11413 . . KF 222-7401

K 114-14 . - KF 222-7403

Granning UK Ltd
Granning Ireland Ltd
Granning (NI) Ltd
Granning Poland

Taurus

Airsprings.com

15997

93209

15997

15603
15784
15603
15599

15603
15784

15646
15646

15645
16006
15650

+44 (0) 1925 810 400
+353 (0) 45 875 996
+44 (0) 2890 740 055
+48 (0) 785 875 996

117, 156

*
*
*

*

131
131
131
131

131
131

134
134

116

134

o1



Airspring Supplier Cross Reference Lists C Q "
Taurus & Vibracoustic CLIRS r'@§

Taurus Airsprings.com Page Taurus Airsprings.com Page
Part No. Part No. 9 Part No. Part No. 9

KF 222-7404 PF 212-396

KF 222-7405 * 2 UR 506-28 15615 150

KF 222-7406 * * UR 509-25 * *

KF 222-7408 * 2 UR 622-03 * *

KF 222-7409 * * UR 625-16 16105 119, 172

KF 222-7410 * 2 UR 721-03 15999 *

KF 222-7424 * * UR 721-04 * 2

KF 222-7437 * * UR 721-06 15991 *
KR 504-21 * * UR 725-27 15651 161
KR 504-24 * *

KR 506-28 (NP) 15633 151

KR 509-25 15617 155 Part No. Part No.

KR 509-34 16080 157 V1D23E-2 * *
KR 509-9091 15617 155 V1D23E-3 16080 157
KR 509-9131 15630 155 V1D28A-10 * *

KR 612-26 * * V1D 28A-12 92805 166

KR 621-18 16092 165 V1D28A-2 15635 164

KR 621-26 15635 164 V1D 28 B-10 16091 168

KR 622-01 15653 167 V1D28B-2 15634 167

KR 622-06 16065 168 V1D28B-4 16065 168

KR 622-18 16091 168 V1D28B-6 15634 167

KR 622-23 16084 168 V1D28B-7 15907 167, 91

KR 622-26 * * V1D28B-8 15634 167

KR 622-31 15907 167, 91 V1D28B-9 15653 167

KR 622-58 15634 167 V1D28C-12 15672 170

KR 624-18 16091ATP 168 V1D 28C-126 * *

KR 625-13 * * V1D 28C-26 * *

KR 625-14 15671 172 V1D 28C-9122 15616 167

KR 625-16 16105 119, 172 V1D 28C-9158 * *

KR 625-18 15669 171 V 1D 28 D-10 15669 171

KR 721-01 15990 87 V1D28D-2 * *

KR 721-03 15996 87 V1D28D-4 15671 172

KR 721-13 * 2 V1D 28 F-1 93002 170

KR 725-27 (steel 15651 161 V1D28F-2 * *
piston) V1D 28 F-5 93004 171
KR 725-28 (plastic 15651 161
. V1D 28G-26 * *

KR 915-51 15769 142 V1D28H-13 94103 *

KR 915-52 15782 143 V1D 28 H-16 16105 119, 172

KR 915-53 * * V 1 DF 16-2 94010 *

Granning UK Ltd +44 (0) 1925 810 400
Granning Ireland Ltd +353 (0) 45 875 996 H i
6 : 2 Granning (NI) Ltd +44 (0) 2890 740 055 airsprings

Granning Poland +48 (0) 785 875 996



Airspring Supplier Cross Reference Lists
Vibracoustic

Airsprings.com
Part No.

Vibracoustic | Airsprings.com Page Vibracoustic
Part No. Part No. 9 Part No.

V 1 DF 16-2 NP
V1 DF 18-2
V 1 DF 18-3
V1 DF 19 B-1

V 1 DF 19 B-1 NP

V 1 DF 22 C-1
V 1 DF 25 A-1

V1 DF 25A-1 NP

V 1 DF 25 A-10
V1 DF 25A-2
V 1 DF 25-1
V 1 DF 25-11
V 1 DF 25-12
V 1 DF 25-13
V 1 DF 25-14
V 1 DF 25-15
V 1 DF 25-23
V1 DK 19-1
V 1 DK 20 A-1
V 1 DK 20 A-51
V 1 DK 20 B-1

V1 DK 20 B-1 NP

V1 DK 20 B-3
V1DK20C-2
V1DK20C-5
V1 DK 20 E-1
V1 DK 21
V1DK21A-3
V1 DK 21 A-31
V1DK21A-4
V1DK21A-9
V1 DK21B-4
V1 DK 21 B-6
V1DK21B-9
V1DK21K
V1DK21K-3
V1 DK 22 A-1
V1DK22A-3
V1 DK 22 E-10
V1DK22E-5

94002
16045
94100
94001
15656

*

*

88

103
102
123

177
142
142
142

155
155
177
178

161
161

V1 DK 22 E-6
V1DK22E-8
V1DK22E-9
V1 DK 23 F-1
V 1 DK 23 F-9039
V1DK23I-15
V1 DK 23 I-21
V1DK23I-24
V 1 DK 23 K-28
V 1 DK 23 K-29
V 1 DK 23 K-53
V 1 DK 23 K-54
V 1 DK 23 K-9082
V 1 DK 23 K-9780
V1 DK 23 L-25
V1 DK 23 L-40
V 1 DK 23 L-42
V1 DK 23 L-55
V 1 DK 23 L-9101
V1 DK 23 L-9131
V 1 DK 23 L-9370
V 1 DK 25-8747
V 1 DK 28 A-037
V1 DK 28 A-13
V 1 DK 28 A-7
V 1 DK 28 A-8050
V1DK28B
V1 DK28 B-7
V 1 DK 28 B-8
V1DK28 F-3
V1 DK 28 F-4
V 1 DK 28 F-4 NP
V 1 DK 28 H-3
V1 DK 32
V1 DK 32 E-4
V1DK32K
V1DK32L
V1E10
V1E10A-9
V1E 14

Granning UK Ltd
Granning Ireland Ltd
Granning (NI) Ltd
Granning Poland

16099
15651
16099
91801
15608

*
*

*

15633
15615
16081
15610
17065
15617
92000
15714
15617
15612
15630

*

15654

*

92802
15738
15772
92900
93003
16046
15910
15790
15791
15961
15902
15937
93209
15966

+44 (0) 1925 810 400
+353 (0) 45 875 996
+44 (0) 2890 740 055
+48 (0) 785 875 996

161
161
161
114

145

151
150
152
150
173
155
157
117, 156
155
155
155

*

162

166

172

169

170

112

177
176
178
177
189

190

03



Airspring Supplier Cross Reference Lists

Vibracoustic

Vibracoustic | Airsprings.com Page Vibracoustic | Airsprings.com Page
Part No. Part No. 9 Part No. Part No. 9

V1E 16 V1F 16 15944
V1E 16-1 * * V1F20A 15946 )
V1E17 * * V 1F20A-1 * *
V1E18 15705 * V1F20B 15948 189
V1E18-3 * * V1F21 15702 186
V1E 185 * * V1F21A 15927 188
V 1E 19-1 * * V1F21C-2 * *
V1E19-2 * * V1F21C-5 15912 187
V1E19-3 * * V1F21C-6 * *
V1E 194 * * V1F21D 15929 188
V 1 E 20-1 16237 * V1F25 15626 184
V1E21 15622 183 V 1F25-14 * *
V1E21D 15703 * V 1F 25-16 * *
V1E21E 15641 184 V1F25-17 * *
V 1 E 21-206 * * V1F26 * *
V1E 21-217 * * V 1F 26 B-1 15693 *
V1E21-22 * . V1F26C 16018 190
V1E21-23 * * V1F26D 15940 *
V 1E21-25 * * V 1 F 30-1 * *
V1E21-6 15687 185 V1F32 15698 185
V1E23 * * V1F32A 15700 185
V1E25 15621 183 V1F32B 15701 186
V 1 E 25-21 * * V1G12 * *
V1E25-22 * * V1G12A * *
V 1E 25-24 * . V1G12A4 * G
V 1E 25-26 * * V1G12A6 * *
V 1E 25-5 * * V1G12B-4 * *
V1E25-8 * * V1G12B-5 * *
V1E26 15706 186 V1G12-5 * *
V1E26A * * V1G12-6 * *
V 1E 26 A-11 * * V1G12-7 * *
V1E26A-13 * * V1G16 * *
V 1E26A-14 * * V1G25-A * *
V 1E26A-3 * * V 1 KF 21-1 15956 104
V1E26A-7 * * V 1 KF 21-2 15964 105
V1 E 26-1 15997 174 V 1 KF 24-1 15962 104
V1 E 26-3 92603 174 V 1 KF 24-2 94018 *
V1E26-5 * * V 1 KF 25-1 15963 104
V1E32 15623 183 V 1 KF 25-2 15964 105
V1F14 15933 189 V 1 KF 25-3 15965 105

Granning UK Ltd

Granning Ireland Ltd
Granning (NI) Ltd
Granning Poland

+44 (0) 1925 810 400
+353 (0) 45 875 996
+44 (0) 2890 740 055
+48 (0) 785 875 996



TrechrinAc Airspring Supplier Cross Reference Lists
CLIRS I‘IM§ Vibracoustic

Vibracoustic | Airsprings.com

V2B 12R 15774 8
V2E18B 15637 184
V2E23 15642 185
V2E23A 15625 183
V2G 20 15908 187
V2G20A 15954 190

V 2 G 20-02 * :

V SP 2B 07 R-2 * *
VSP2B12R 15603 131
V SP 2B 12 R-1 * *
V SP 2B 12 R-10 15603 131
V SP 2B 12 R-10 * *
V SP 2B 12R-5 15599 131
VSP2B12R-8 * 10
V SP 2 B 12 RA-10 15670 132
V SP 2B 12 RA-3 15599 131
VSP2B22 15646 134

R-7180

V SP 2 B 22 R-7400 15645 116
V SP 2 B 22 R-7401 16006 *
V SP 2 B 22 R-7403 15650 134

- Granning UK Ltd +44 (0) 1925 810 400
H H Granning Ireland Ltd +353 (0) 45 875 996
airsprings Granning (NI) Ltd +44 (0) 2890 740 055 6 5

Granning Poland +48 (0) 785 875 996



00

Airspring Supplier Cross Reference Lists

Granning UK Ltd +44 (0) 1925 810 400
Granning Ireland Ltd +353 (0) 45 875 996
Granning (NI) Ltd +44 (0) 2890 740 055
Granning Poland +48 (0) 785 875 996

@irsprings’



Section 2

Cab Spring
Technical Drawings

Note: Manufactures part numbers used in this catalogue are for cross reference purposes only
and do not imply the origin or manufacturer of the product.



@irsprings’

Airsprings.com Part No. 53489

8 e

Cab Airsprings

"0[7
\Proa”u
OE Part No Cross Ref N\

DAF 95XF 1353451

1285394

1353454

Top M25 - Bottom M14

Airsprings.com Part No. 53490

.

”0\
OE Part No Cross Ref ‘

DAF 95XF 1265281

1285393

1353450

1353453

1622211

Top M14 - Bottom M14

Granning UK Ltd

+44 (0) 1925 810 400

Granning Ireland Ltd +353 (0) 45 875 996

Granning (NI) Ltd
Granning Poland

+44 (0) 2890 740 055
+48 (0) 785 875 996



Cab Airsprings

L

W,
lz?li' Airsprings.com Part No. 15510
__0’ . OE Part No Cross Ref

@irsprings’

Hino 52270-2253 Firestone W02-358-7035

W,
lzfli' Airsprings.com Part No. 15530
\_0’ OE Part No Cross Ref

,/\

—

,/\

Proay

Hino S50C0-0050
' L
0[‘, ) Airsprings.com Part No.
s OE Part No Cross Ref
Hino 70303515
70305D1
0[7 ) Airsprings.com Part No.
s OE Part No Cross Ref
Hino 6100201
60913001

Granning UK Ltd

Granning Ireland Ltd
Granning (NI) Ltd
Granning Poland

+44 (0) 1925 810 400 -
+353 (0) 45 875 996 . :
+44 (0) 2890 740 055 alrsprings

+48 (0) 785 875 996



alrsrlns"" Cab Airsprings

OE Part No Cross Ref
Hino 50893914
7041502

Airsprings.com Part No. 15534

OE Part No Cross Ref
Hino 7032701
7032704

Airsprings.com Part No. 15535

- —

OE Part No Cross Ref
Hino 52270-1350

- Granning UK Ltd +44 (0) 1925 810 400
H H Granning Ireland Ltd +353 (0) 45 875 996
airsprings Granning (NI) Ltd +44 (0) 2890 740 055 6 9

Granning Poland +48 (0) 785 875 996



Cab Airsprings @irsprings’

OE Part No Cross Ref
Iveco 41019150 Airtech 121055
Top M12 x 1.75 - Bottom M12 x 1.75
Airsprings.com Part No. 50506
OE Part No Cross Ref
Iveco 500307338
(Eurotech/Eurostar)
Top M16 x 2 - Bottom OM16
Airsprings.com Part No. 50507
OE Part No Cross Ref
Iveco 41028764 Airtech 128010K
(Eurotech/Eurostar)

Top OM16 - Bottom OM16

W,
.a,zflt' ) Airsprings.com Part No. 50508
‘0’ OE Part No Cross Ref

Iveco 500379698 Airtech 128011K
5003077338 Sachs 115731
99438514
99455937
500352808
98472734
(Eurotech/Eurostar)

Granning UK Ltd +44 (0) 1925 810 400
Granning Ireland Ltd +353 (0) 45 875 996 H i
7 O Granning (NI) Ltd +44 (0) 2890 740 055 airsprings

Granning Poland +48 (0) 785 875 996



alrsrlns’” Cab Airsprings
(Aew

[
OE Part No Cross Ref \\_0'
Iveco 500357351 Airtech 128012K
(Stralis) Sachs 310820
Top J32 - Bottom @20
Airsprings.com Part No. 50522 », 0[‘, |
\ Oty
OE Part No Cross Ref \__
Iveco 500340705 Airtech 128013K
(Stralis)
Top @32 - Bottom @20
Airsprings.com Part No. 50523 \ ~, 0[‘,
\ 0””0’
OE Part No Cross Ref \.__
Iveco 500340706 Airtech 128014K

i (Stralis)

Top @20 - Bottom @20

W,
Airsprings.com Part No. \409
/4

o~/ o

Top @16 - Bottom 16

- Granning UK Ltd +44 (0) 1925 810 400
H H Granning Ireland Ltd +353 (0) 45 875 996
airsprings Granning (NI) Ltd +44 (0) 2890 740 055 7 1

Granning Poland +48 (0) 785 875 996

e,
OE Part No Cross Ref \__
Iveco 504060233 Airtech 128015K
(Stralis)




Cab Airsprings

”\
p,,,gli' Airsprings.com Part No. 50525
f’ OE Part No Cross Ref

@irsprings’

Iveco 500357352 Airtech 128016K
(Stralis) Sachs 310821

Top G20 - Bottom @20

W,
lzfli' Airsprings.com Part No. 15523
\_‘7 OE Part No Cross Ref

,/\

—

MAN 85.41722.6008 Airtech 206014K
85.41722.6014 Sachs 135194
85.41722.6022 135196
eli' ) Airsprings.com Part No.
o OE Part No Cross Ref
MAN 85.41722.6009 Airtech 206015K
85.41722.6015 Sachs 135195
85.41722.6023 135197
OE Part No Cross Ref
MAN 81.41722.6048 Airtech 203001K
81.41722.6051 Connect CA 11004
(F-90, F-2000)
Top J14 - Bottom M12 x 1.5

Granning UK Ltd

Granning Ireland Ltd
Granning (NI) Ltd
Granning Poland

+44 (0) 1925 810 400 -
+353 (0) 45 875 996 = :
+44 (0) 2890 740 055 airsprings

+48 (0) 785 875 996



alrsrlns’” Cab Airsprings

- e

Top @14 - Bottom J14

OE Part No Cross Ref
MAN 81.41722.6049 Airtech 204001K
81.41722.6052 Connect CA 11005
(F-90, F-2000)

\,,,,,59
OE Part No Cross Ref \_0’
MAN 81.41722.6053
(TGA)

>~ W

’/\\

Airsprings.com Part No. 53304 \ ,,,0”?9

OE Part No Cross Ref \_0'

MAN 81.41722.6054

_ (TGA)

Airsprings.com Part No. 53305 \ ,,,059
OE Part No Cross Ref \_0'
MAN 81.41722.6055
(TGA)
\
Granning UK Ltd +44 (0) 1925 810 400

H : Granning Ireland Ltd +353 (0) 45 875 996
airsprings Granning (NI) Ltd +44 (0) 2890 740 055
Granning Poland +48 (0) 785 875 996



Airsprings.com Part No. 53306

Cab Airsprings

@irsprings’

OE Part No Cross Ref
MAN 81.41722.6056
. (TGA)
OE Part No Cross Ref
MAN 81.41722.6057 Airtech 206057 K
85.41722.6006 Sachs 135198
85.41722.6012
85.41722.6023
(TGA)
OE Part No Cross Ref
MAN 81.41722.6058 Airtech 206058 K
85.41722.6007 Sachs 135199
85.41722.6013 135200
85.41722.6024
(TGA)
Granning UK Ltd +44 (0) 1925 810 400 -
Granning Ireland Ltd +353 (0) 45 875 996 H i
Granning (NI) Ltd +44 ((g) )2890 740 055 alrsprl ngs
Granning Poland +48 (0) 785 875 996

/4




@irsprings”

Cab Airsprings

Airsprings.com Part No.
OE Part No Cross Ref
Mercedes A 94289029 19 Airtech 205001K
(Actros) Connect CA 11006
Top U325 - Bottom @14
Airsprings.com Part No. 50512
OE Part No Cross Ref
Mercedes A 94289002 19 Airtech 206001K
(Actros) Connect CA 11007
Top @14 - Bottom J14
Airsprings.com Part No. 50532 \ p,”elt'
\ 0””0’
OE Part No Cross Ref \\__
Mercedes | A 94289052 19 Airtech 207001K
. ii (Actros) Sachs 105408
Top @14 - Bottom @25
Airsprings.com Part No. 50533 \ p,”eli'
\ 0””0’
OE Part No Cross Ref \.__
Mercedes | A 94289053 19 Airtech 208001K
A 942 890 59 19 Sachs 105414
A 943890 38 19 290998
(Actros) 311663

Top @14 - Bottom @25

- Granning UK Ltd
i i Granning Ireland Ltd
alrsprlngs Granning (NI) Ltd

Granning Poland

+44 (0) 1925 810 400

+353 (0) 45 875 996
+44 (0) 2890 740 055
+48 (0) 785 875 996



Airsprings.com Part No. 15512

Cab Airsprings

@irsprings’

OE Part No Cross Ref
3 Renault 5.010.092.916 Airtech 121053
Monroe CB0082
Contitech SZ50-8
@92 x 115
Airsprings.com Part No. 15513
OE Part No Cross Ref
Renault 5.010.313.619 Airtech 121054
5.010.266.845 Monroe CB0083
Contitech SZ50-10
Connect C 321054
@92 x 115
Airsprings.com Part No. 15514
OE Part No Cross Ref
Renault 5.010.133.079 Contitech S750-6
Connect C 21005
092 x 93
Airsprings.com Part No. 15515
OE Part No Cross Ref
Renault 5.010.130.797 Airtech 121051
5.010.629.414 Monroe CB0075
(Kerax/Premium) Contitech SZ50-9
Connect C 321051
Phoenix C 075185
@92 x 125

/0

Granning UK Ltd
Granning Ireland Ltd
Granning (NI) Ltd
Granning Poland

+44 (0) 1925 810 400
+353 (0) 45 875 996
+44 (0) 2890 740 055
+48 (0) 785 875 996




@irsprings”

Airsprings.com Part No. 15516

Cab Airsprings

%@
0”00’
Cross Ref \

OE Part No
Renault 5.010.320.096 Contitech 816-Z
5.000.791.272
MAGNUM E-TECH 00/05
Airsprings.com Part No. 15519
OE Part No Cross Ref
Renault 5.010.228.908 Airtech 228908K
(Premium) Contitech S736-10
5.010.316.783
5.010.269.674
5.010.316.783
Top M12 x 1.75 - Bottom M12 x 1.75 &
Airsprings.com Part No. 15521 ,ffglv
OE Part No Cross Ref \01
Renault 5.010.615.879 SACHS 25376537
440 DXI
450 DXI

-]

Airsprings.com Part No. 15522

h -

OE Part No

/
( A 'ogy
Cross Ref \c,

Renault

5.010.491.301 Airtech

121086

Contitech

SK86-10

DXI 12

Granning UK Ltd
Granning Ireland Ltd
Granning (NI) Ltd
Granning Poland

+44 (0) 1925 810 400
+353 (0) 45 875 996
+44 (0) 2890 740 055
+48 (0) 785 875 996

Va4



Cab Airsprings @lirsprings
lzeli' | Airsprings.com Part No. 15525
1‘7 OE Part No Cross Ref
Renault 5.010.629.414 Airtech 121414
(Premium) Contitech SZ 50-9 P02
,f,,/”%y Airsprings.com Part No. 50534
- OE Part No Cross Ref
Renault 5.010.228.849 Airtech 228849
Monroe CB0070
* MAGNUM E-TECH

/8

Granning UK Ltd
Granning Ireland Ltd
Granning (NI) Ltd
Granning Poland

+44 (0) 1925 810 400
+353 (0) 45 875 996
+44 (0) 2890 740 055
+48 (0) 785 875 996




@irsprings”

Cab Airsprings

A

Airsprings.com Part No. 15528

e \
Cross Ref \__

OE Part No
Scania 1444016 Airtech 121209
(R Series) Sachs 312465
043 x 265
OE Part No Cross Ref
Scania 1435859 Airtech 202186K
1476415 Connect CA 11002
1381919
1381904
1397400
] (4 Series)
Top M12 x 1.75 - Bottom M12 x 1.75
OE Part No Cross Ref
Scania 1476415 Airtech 202187K
1381919 Connect CA 11003
1435856
1382826
1381906
1 (4 Series)
Top M12 x 1.75 - Bottom M16 x 2
OE Part No Cross Ref
Scania 1349840 Airtech 201180K
1424228 Connect CA 11008
1381904
1363122
1397396
(4 Series)
Top M12 x 1.75 - Bottom M12 x 1.75

- Granning UK Ltd
i i Granning Ireland Ltd
alrsprlngs Granning (NI) Ltd

Granning Poland

+44 (0) 1925 810 400
+353 (0) 45 875 996
+44 (0) 2890 740 055
+48 (0) 785 875 996

79



Cab Airsprings

@irsprings’

Airsprings.com Part No.

OE Part No Cross Ref
Scania 1382827 Airtech 201181K
1389840 Connect CA 11009
1424229
1349844
(4 Series)
Top M12 x 1.75 - Bottom M16x 2
OE Part No Cross Ref
Scania 370227 Airtech 101169K
550365 Connect CA 11001
1116535
1117334
1314279
1331621
1348117
1348120
1348211
Top M12 x 1.75 - @14 (3 Series)
OE Part No Cross Ref
Scania 1349840 Airtech 121201
- (4 Series) Connect C 321201
@93 x 256
Airsprings.com Part No.
OE Part No Cross Ref
Scania Airtech 121101
(3 Series) Connect C 321101
@97 x 263
Granning UK Ltd +44 (0) 1925 810 400

Granning Ireland Ltd +353 (0) 45 875 996
Granning (NI) Ltd +44 (0) 2890 740 055
Granning Poland +48 (0) 785 875 996




@irsprings”

Cab Airsprings

Airsprings.com Part No. 50503

OE Part No Cross Ref
Scania 1476415 Airtech 121202
1381919 Connect C 321202
(4 Series)
@90 x 249
W,
w’i‘;’ﬁ
OE Part No Cross Ref \._0’
Scania 1424231 Airtech 121207
(4 Series) Sachs 310619
@93 x 275
Y
w’i‘;‘ﬂ
OE Part No Cross Ref \\_0'
- Scania 1424231 Airtech 128001K
1505563 Sachs 310619
(R Series) 310620
W Monroe CB0030
717262725
Top M12 x 1.75 - Bottom M14
A\
Airsprings.com Part No. \%?9
OE Part No Cross Ref \__0'
Scania 1444016 Airtech 128003K
1424227 Sachs 312465
1363120 290987
\ 1397386
1397390
1397392
(R Series)
Top M12 x 1.75 - Bottom M12 x 1.75

Granning UK Ltd

airsprings Granning Ireland Ltd

Granning (NI) Ltd

Granning Poland

+44 (0) 1925 810 400
+353 (0) 45 875 996
+44 (0) 2890 740 055
+48 (0) 785 875 996

31



Cab Airsprings @irsprings’

Airsprings.com Part No. 50509
OE Part No Cross Ref
Volvo 1629724 Airtech 128020K
Airsprings.com Part No. 50510
OE Part No Cross Ref
Volvo 1075076 Airtech 128022K
,f,,{gfy ) Airsprings.com Part No.
OE Part No Cross Ref
Volvo 20427897 Airtech 128021K
20721169 Monroe CB0006
(FH12 /FH16) 7172 69 647

N,

.a,zfli' ) Airsprings.com Part No. 53620
\_‘7 OE Part No Cross Ref

Volvo 20453256 Airtech 128023K
20889132-1 Monroe CB0039
(FH12) CB0055

Granning UK Ltd +44 (0) 1925 810 400
Granning Ireland Ltd +353 (0) 45 875 996 H i
8 : 2 Granning (NI) Ltd +44 (0) 2890 740 055 airsprings

Granning Poland +48 (0) 785 875 996



Section 3

Car Spring
Technical Drawings

Note: Manufactures part numbers used in this catalogue are for cross reference purposes only
and do not imply the origin or manufacturer of the product.



@irsprings’

Car Airsprings

Airsprings.com Part No. 90900

OE Part No Cross Ref
Range Rover NTC9819
Classic 1993-97
OE Part No Cross Ref
Range Rover NTC9820
Classic 1993-97
Airsprings.com Part No. 90902
OE Part No Cross Ref
Range Rover RKB101740
1997-2001
Airsprings.com Part No. 90903
OE Part No Cross Ref
Range Rover RKB101460

1997-2001

g

Granning UK Ltd
Granning Ireland Ltd
Granning (NI) Ltd

Granning Poland

+44 (0) 1925 810 400
+353 (0) 45 875 996
+44 (0) 2890 740 055
+48 (0) 785 875 996

33



Car Airsprings @irsprings’

W,
I',#M?W ) Airsprings.com Part No. 90904
,__0’ OE Part No Cross Ref

Range Rover Discovery 2

/) Airsprings.com Part No. 90907
ct 4
—~— OE Part No Cross Ref
Range Rover RNB000740
1322 Models (02-06)
OE Part No Cross Ref
Range Rover RNBO000750
1322 Models (02-06)
Airsprings.com Part No. 15593
OE Part No Cross Ref
Driverite 9002 Firestone W21-760-9002

100x70

Granning UK Ltd +44 (0) 1925 810 400
Granning Ireland Ltd +353 (0) 45 875 996 H i
8 4 Granning (NI) Ltd +44 (0) 2890 740 055 airsprings

Granning Poland +48 (0) 785 875 996



alrsrlns"" Car Airsprings

OE Part No Cross Ref
. o Driverite 9000 Firestone W21-760-9000
@ 100x70
OE Part No Cross Ref
Glide Rite Contitech SZ135-23
OE Part No Cross Ref
- Glide Rite Contitech $7135-19

- Granning UK Ltd +44 (0) 1925 810 400
H H Granning Ireland Ltd +353 (0) 45 875 996
airsprings Granning (NI) Ltd +44 (0) 2890 740 055 8 5

Granning Poland +48 (0) 785 875 996



30

Car Airsprings

Granning UK Ltd
Granning Ireland Ltd
Granning (NI) Ltd
Granning Poland

+44 (0) 1925 810 400
+353 (0) 45 875 996
+44 (0) 2890 740 055
+48 (0) 785 875 996

@irsprings’



Section 4

Airspring
Technical Drawings

Manufacturer Page
DAF Truck & BUS......cccoovviviririeiiieieieieies 87
ERF TrUCK. ... 92
Foden Truck .......cccooereieinieeeee, 93
lveco Truck & BUS......cooeovrciicice 94
MAN Truck & BUS .....covoveriririririicnes 102
Mercedes Truck & BuS.......ccccovvvreennene 104
Renault Truck & BUS ......cccoovieviciine, 112
Scania Truck & BUS........cccovveevrieririnnne, 115
Volvo Truck & BuS ......ccoveeveiiiiie 123
General Airsprings .......cccooveeeveeeveevennanee, 129

Fixings Key

Metric Imperial
. Bolt/Stud M12 x 1.75mm . Bolt/Stud 1/2" - 13 UNC
@ Threaded Hole M8 x 1.75mm on Top Plate @ Threaded Hole  3/8" UNC on Top Plate
M12 x 1.756mm on Piston 1/2" - 13 UNC on Piston
® Air Inlet M22 x 1.5mm or M14 or M12 ® Air Inlet 3/4” NPT or 1/4” NPT
O Combo Stud External M20 x 1.5mm, Internal M12 O Combo Stud External 3/4” - 16, Internal 1/4” NPT

External M22 x 1.5mm, Internal M12
External M20 x 1.5mm, Internal M14

Note: Manufactures part numbers used in this catalogue are for cross reference purposes only
and do not imply the origin or manufacturer of the product.



@irsprings’ DAF Truck & Bus

Airsprings.com Part No. 15618
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
DAF 609861 Firestone 1T26D-7
s o W01-D08-9310
70 Service Assy.
DAF 696229
Granning 15674
o X O
Height: 533mm - 155mm |mperia|
Airsprings.com Part No. 15725
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
= DAF 1234880 Contitech SK 145-25
135 Firestone 127mm
W02-D08-9903
M10
130
o
Height: 612mm - 208mm
Airsprings.com Part No. 15990
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
M16x1.5 DAF 0297721 Contitech 836 MK7
i X013 232 Dunlop Fr D13B33
Firestone 1T17AR-4.5
WO01-M58-8715
Goodyear 1R12-723
Keva 5836CA01
Meritor MLF7017
M16x2 Phoenix 1 DF 25-12
Vibracoustic V 1 DF 25-12
Height: 505mm - 165mm Metric
Airsprings.com Part No. 15996
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
IxMI0X1.5 DAF 0083656 Airtech 3836-02K
| e 22 Connect MD 1836K02
Contitech 836 M2K1
Dunlop Fr D13B31
Firestone 1T17AR-4.5
WO01-M58-8721
Goodyear 1R12-711
M16x2 Meritor MLF7058
Phoenix 1 DF 25-13
Height: 505mm - 165mm Metric Vibracoustic V 1 DF 25-13

@® Bolt/Stud | @ Threaded Hole | & Airinlet | O Combo Stud

- Granning UK Ltd +44 (0) 1925 810 400
H H Granning Ireland Ltd +353 (0) 45 875 996
airsprings Granning (NI) Ltd +44 (0) 2890 740 055 8 7

Granning Poland +48 (0) 785 875 996



DAF Truck & Bus

@irsprings’

Airsprings.com Part No. 16045
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
0 DAF 1141525 Airtech 3887K
H\ Connect MD 1887K01
7 - S 236 [ 192 |
134 Contitech 887 MBK6
Meritor MLF7172
Vibracoustic V 1DF 18-3
I 3xM10
J M16x1.5 M1e
Height: 470mm - 165mm Metric
Airsprings.com Part No. 16195
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
DAF 1448543 Firestone 1T15AAAZ-6
220 240 WO01-M58-8678
3xM10x1.5 7658
178
20 @\
o 50
' i & ;a
7 °
Height: 510mm - 130mm Metric
Airsprings.com Part No. 16218
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
3xM10x1.5 DAF 1286251 Contitech 887 MK4
wexa.s 229 188 Firestone 1T15LNR-3
7658 WO01-M58-8681
188
20 O\t
i iy
T f
135 i & ° 50
Lﬁ 121 4_‘ M16x2.0
Height: 470mm - 165mm Metric
Airsprings.com Part No. 16224
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
3xM10x1.5 DAF 0392022 Airtech 38683K
Heas Connect MD 1887K
229
76——-58 1o Contitech 887 MK1
hd Firestone 1T15LNR-3
20 ¢ WO01-M58-8683
. 50
—L 2 ! Goodyear 1R11-798
135 f 50
@ 7 o Keva 5887
Meritor MLF7053
L—121 M16x2.0
Height: 470mm - 165mm Metric

@ Bolt/Stud | @ Threaded Hole | & Airinlet | O Combo Stud

Granning UK Ltd
Granning Ireland Ltd
Granning (NI) Ltd
Granning Poland

+44 (0) 1925 810 400
+353 (0) 45 875 996
+44 (0) 2890 740 055
+48 (0) 785 875 996

a8



@irsprings’ DAF Truck & Bus

Airsprings.com Part No. 16225
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
DAF 1279141 Contitech 889 MK2
ne:s " 1698434 Firestone 1T15LNR-5
WO01-M58-8679
3xM10x1.5
203
Lﬁ1214’1 M16x2.0
Height: 530mm - 165mm Metric
Airsprings.com Part No. 16226
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
DAF 1266382 Contitech 887 MK3
3xM10x1.5
M16x1.5 229 173 Firestone 1T15LNR-3
76-ss WO01-M58-8682
173 .
el Ny
' f ® st
135 7 o
%‘T 4( M16x2.0
121
Height: 470mm - 165mm Metric
Airsprings.com Part No. 16265
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Wexts S DAF 0396714 Contitech BZ 450

Firestone 1T15V-6
W01-D08-8196

144.5

Height: 512mm - 148mm Metric
Airsprings.com Part No. 16270
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
DAF 1307058/00 Firestone W01-D08-6388
1698435 Gart T274

4xM8x1.25

Height: 79mm Metric

@® Bolt/Stud | @ Threaded Hole | & Airinlet | O Combo Stud

- Granning UK Ltd +44 (0) 1925 810 400
H H Granning Ireland Ltd +353 (0) 45 875 996
airsprings Granning (NI) Ltd +44 (0) 2890 740 055 8 9

Granning Poland +48 (0) 785 875 996



DAF Truck & Bus @irsprings’

Assembly View Top Plate Bottom Plate OE Part No Cross Ref
DAF 0377498 Airtech 3836-04K
M16x1.5 3xM10x1.5 Contitech 836 MBK4
264 [ 232 |
155 Firestone 1T17AR-4.5
5 |
2 W01-M58-8705
il
85 Py Keva 5836CA03
h 232 —+ | ® [T
T S 5 Meritor MLF7056
I f
H 133 5 55 Phoenix 1 DF 25-14
°
A e Vibracoustic V 1 DF 25-14
Lﬁ1584’j 19 M16x 2.0
Height: 505mm - 220mm Metric
Airsprings.com Part No. 17061
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
DAF 0526651 Airtech 3836-06K
264 Contitech 836 MBK6
1% Firestone 1T17AR-4.5
51+ 232
2;8 WO01-M58-8701
®” P - Goodyear 1R12-768
e | T Keva 5836CA04
H ° ° 55 Phoenix 1 DF 25-15
ﬁ Vibracoustic V 1 DF 25-15
I 1584_‘ I M16x2.0
Height: 515mm - 215mm Metric
Airsprings.com Part No. 17066
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
3x M10x1.5 7 DAF 0388165 Airtech 3836K
M16x1.5 232 Connect MD 1836K01
Contitech 836 MK1
Dunlop Fr D13B32
Firestone 1T17AR-4.5
W01-M58-8722
Goodyear 1R12-712
m\ ] M16x2.0
Keva 5836
‘ 158 ‘ .
Phoenix 1 DF 25-11
Height: 505mm - 165mm Metric Vibracoustic V 1 DF 25-11
Airsprings.com Part No. 93210
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
DAF 1604668 Goodyear 1R13-165
100
Li 350 ——l
Height: 410mm - 200mm Metric

@ Bolt/Stud | @ Threaded Hole | & Airinlet | O Combo Stud

Granning UK Ltd +44 (0) 1925 810 400
Granning Ireland Ltd +353 (0) 45 875 996 H i
9 O Granning (NI) Ltd +44 (0) 2890 740 055 airsprings

Granning Poland +48 (0) 785 875 996



@irsprings’ DAF Truck & Bus

Assembly View Top Plate Bottom Plate OE Part No Cross Ref
DAF 526823 Airtech 391324K
676122 Contitech 811MB-3

@® Bolt/Stud | @ Threaded Hole | & Airinlet | O Combo Stud

- Granning UK Ltd +44 (0) 1925 810 400
H H Granning Ireland Ltd +353 (0) 45 875 996
airsprings Granning (NI) Ltd +44 (0) 2890 740 055 9 1

Granning Poland +48 (0) 785 875 996



ERF Truck @irsprings’

p,,,g@ Airsprings.com Part No. 15678
_0’ Assembly View Top Plate Bottom Plate OE Part No Cross Ref
3/8"16UNC2B 3/4" 16UNF2A ERF 1300807000 Goodyear 1R12-476
1/4” 18NPTF 566-24-3-076
T:st r:mj
O) &
é +~——158
1/2"13UNC2A
Height: 445mm - 1771mm
Airsprings.com Part No. 15995
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Hendrickson NS 500300 Goodyear 1R12-223
228 256
157
(@] ® 140 105
Height: 448mm - 152mm Imperial
Airsprings.com Part No. 15998
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Hendrickson 49048 Airtech 39466K
228 49674 Firestone 1T15MT-6
157 WO01-358-9466
Goodyear 1R12-173
Keva 415607
° o
Height: 508mm - 205mm Imperial

@ Bolt/Stud | @ Threaded Hole | & Airinlet | O Combo Stud

Granning UK Ltd +44 (0) 1925 810 400
Granning Ireland Ltd +353 (0) 45 875 996 H i
9 : 2 Granning (NI) Ltd +44 (0) 2890 740 055 airsprings

Granning Poland +48 (0) 785 875 996



@irsprings’ Foden Truck

Airsprings.com Part No. 15676

Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Foden Firestone 1T15M-6
WO01-F79-7349

<| m20x2.50D
M14x1.51D

Height: 512mm - 203mm Metric
Airsprings.com Part No. 15677
Assembly View Top Plate Bottom Plate OE Part No Cross Ref

Foden 1300521000 Firestone 1T15T-1
WO01-F79-9397

X 73
® ®
157
Height: 321mm - 122mm Imperial
Airsprings.com Part No. 15747
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Foden 1300248000 Airtech 39069K
Peterbuilt 037112 Firestone 1T15M-4
WO01-358-9069
24
Meritor MLF7113
73
Height: 457mm - 190mm Imperial (Replaces 16010)
Airsprings.com Part No. 15755
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Foden 1300335000 Firestone 1T15T-1
197 WO01-358-9402
235
O =====@ N
178
| 73
j
70
Height: 330mm - 140mm Metric

@® Bolt/Stud | @ Threaded Hole | & Airinlet | O Combo Stud

- Granning UK Ltd +44 (0) 1925 810 400
H H Granning Ireland Ltd +353 (0) 45 875 996
airsprings Granning (NI) Ltd +44 (0) 2890 740 055 9 3

Granning Poland +48 (0) 785 875 996



Iveco Truck & Bus @irsprings’

Airsprings.com Part No. 15775
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Cardi 58053100 Firestone WO01-M58-6989
307 Iveco 42107588 Gart T274,C
210 287 Pirelli 21BBR
P o) (=0
Height: 330mm - 140mm Metric
Airsprings.com Part No. 15777
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Ilveco 42107595 Firestone WO01-M58-7523
247 247 Pirelli 322BR
Height: 457mm - 115mm Metric
Airsprings.com Part No. 16032
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
2x(M10x1.5) Ilveco 93163955 Firestone 1T15AA-6
93163956 WO01-M58-7313
240
Neway
Height: 500mm - 185mm Metric

Y
Airsprings.com Part No. 17136 \459
ey

Assembly View Top Plate Bottom Plate OE Part No Cross Ref \_
Tm jﬁ Iveco 42127021 CF Gomma 200392
% |o /;@O’\ o Turbostar 15 270-23 C
| 190 |
—— 7501A392
118
D e M14x 80
g M14x1.5
Height: 398mm - 187mm

@ Bolt/Stud | @ Threaded Hole | & Airinlet | O Combo Stud

Granning UK Ltd +44 (0) 1925 810 400
Granning Ireland Ltd +353 (0) 45 875 996 H i
9 4 Granning (NI) Ltd +44 (0) 2890 740 055 airsprings

Granning Poland +48 (0) 785 875 996



@irsprings”

lveco Truck & Bus

#,

Airsprings.com Part No. 17137 \%59
Assembly View Top Plate Bottom Plate OE Part No Cross Ref \_c’
Iveco 41026256 CF Gomma 206790
Eurostar 15 270-23
— Eurotech 7501206790
190 @
T M4
M16x1.5
Height: 374mm - 164mm
Airsprings.com Part No. 17138 \%59
Assembly View Top Plate Bottom Plate OE Part No Cross Ref \_0’
Iveco 41026257 CF Gomma 206791
09 Eurostar 1S 270-23
s ) Eurotech 7501206791
~ R H 190
37
110!
o o M14
M16x1.5
Height: 374mm - 164mm
Airsprings.com Part No. 17139 \%59
Assembly View Top Plate Bottom Plate OE Part No Cross Ref \_0’
Iveco 41026285 CF Gomma 206792
O Ol
ong Eurostar 1S 270-23
Eurotech 7501206792
Stralis
T o
1
T M14
Height: 374mm - 164mm
Airsprings.com Part No. 17140 \%59
Assembly View Top Plate Bottom Plate OE Part No Cross Ref \_0’
50 Iveco 41026286 CF Gomma 206793
ono Eurostar 1S 270-23
9 Eurotech 7501206793
Stralis
D . 190
1
T M4
M16x1.5
Height: 374mm - 164mm

@® Bolt/Stud | @ Threaded Hole | & Airinlet | O Combo Stud

Granning UK Ltd
Granning Ireland Ltd
Granning (NI) Ltd
Granning Poland

+44 (0) 1925 810 400
+353 (0) 45 875 996
+44 (0) 2890 740 055
+48 (0) 785 875 996

05



Iveco Truck & Bus @irsprings’

Prog @ Airsprings.com Part No. 17141
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Iveco 41026270 CF Gomma 206794
Eurostar 18 270-23
Eurotech 7501206794
T~ Euromover
190
37
- M4
M16x1.5
Height: 374mm - 164mm
p,,”i@ Airsprings.com Part No. 17142
- Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Iveco 41026271 CF Gomma 206795
Eurostar 1S 270-23
Eurotech 7501206795
Euromover
190
- M4
Height: 374mm - 164mm
Iz li' Airsprings.com Part No. 17143
— Assembly View Top Plate Bottom Plate OE Part No Cross Ref
0 o Iveco 41026260 CF Gomma 206796
275 Eurostar 18 270-25
T~ Eurotech 7501206796
Euromover
o e w 190
110
famsl M14
M16x 1.5
Height: 374mm - 194mm
'"z lt' Airsprings.com Part No. 17144
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Iveco 4714019 CF Gomma 88817
—47{) o
50 o o Turbostar 1S 285-22
as i) ﬁ:@j Turbotech 75018817
/1) [—@ 35 184
118
j N T M14x75
E M14x1.5
Height: 398mm - 187mm

@ Bolt/Stud | @ Threaded Hole | & Airinlet | O Combo Stud

Granning UK Ltd +44 (0) 1925 810 400
Granning Ireland Ltd +353 (0) 45 875 996 H i
9 6 Granning (NI) Ltd +44 (0) 2890 740 055 airsprings

Granning Poland +48 (0) 785 875 996



@irsprings”

lveco Truck & Bus

#,

Airsprings.com Part No. 17145 Q e‘i’
0000’
Assembly View Top Plate Bottom Plate OE Part No Cross Ref \_
S Iveco 4855242 CF Gomma 97028
® 5 1S 285-22
i ﬁmT 75017028
o e 35 184
118
\ L _—FF—=_ | - M14x75
g M14x1.5
Height: 398mm - 187mm
Airsprings.com Part No. 17162 \%59
Assembly View Top Plate Bottom Plate OE Part No Cross Ref \_0’
Iveco 93817150 CF Gomma 97381
Turbodaily 1S 215-22
ﬁzssj 75017381
% 156
— M10x1
M16
Height: 445mm - 165mm
Airsprings.com Part No. 17163 \%59
Assembly View Top Plate Bottom Plate OE Part No Cross Ref \_0’
T Iveco 8166045 CF Gomma 97385
O] Eurostar 1SC 260-30
7517385
175
M14
Height: 357mm - 187mm
Airsprings.com Part No. 17164 \%59
Assembly View Top Plate Bottom Plate OE Part No Cross Ref \_0’
Iveco 8166046 CF Gomma 97386
o | OO Eurostar 1SC 260-30
N 75017386
TBST
Q ﬁ) 175
M16x1.5 M4
Height: 357mm - 187mm

@® Bolt/Stud | @ Threaded Hole | & Airinlet | O Combo Stud

Granning UK Ltd
Granning Ireland Ltd
Granning (NI) Ltd
Granning Poland

+44 (0) 1925 810 400
+353 (0) 45 875 996
+44 (0) 2890 740 055
+48 (0) 785 875 996

g7



Iveco Truck & Bus @irsprings’

Proay

”e@ Airsprings.com Part No. 17166

Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Iveco 4855242 CF Gomma 97028
1S 285-22
75017028
175
M14
Height: 392mm - 207mm
,f,,/g@ Airsprings.com Part No. 17167
- ‘ Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Iveco 93817150 CF Gomma 97381
Turbodaily 1S 215-22
rzssT 75017381
Q ﬁ> 175
M16x1.5 M1a
Height: 392mm - 207mm

N,

,ff,fw ) Airsprings.com Part No. 17168
,:7 Assembly View Top Plate Bottom Plate OE Part No Cross Ref

Iveco 8166045 CF Gomma 97385
Eurostar 1SC 260-30
7517385

M14

138

Height: 420mm - 205mm

N,

.a,!glt' ) Airsprings.com Part No. 17169
;_‘7 Assembly View Top Plate Bottom Plate OE Part No Cross Ref

0 0 Iveco 8166046 CF Gomma 97386
0 6 Eurostar 1SC 260-30
=P 75017386

138 M4

- —

Height: 420mm - 205mm

@ Bolt/Stud | @ Threaded Hole | & Airinlet | O Combo Stud

Granning UK Ltd +44 (0) 1925 810 400
Granning Ireland Ltd +353 (0) 45 875 996 H i
9 8 Granning (NI) Ltd +44 (0) 2890 740 055 airsprings

Granning Poland +48 (0) 785 875 996



@irsprings”

lveco Truck & Bus

#,

Airsprings.com Part No. 17170 Q e‘i’
0000’
Assembly View Top Plate Bottom Plate OE Part No Cross Ref \_
0 0 Iveco 98443123 CF Gomma 97574
06 Eurotech 1S 285-25 C
e U7 75017574
=" R
184
U SIS
138 M14
Height: 420mm - 205mm
Airsprings.com Part No. 17171 \%59
Assembly View Top Plate Bottom Plate OE Part No Cross Ref \_0’
Iveco 41006924 CF Gomma 201749
Eurost 1SC 250-19
0 0 T urostar
)] Eurotech 201749
P S 175
] AN
= i mM14
Height: 252mm - 122mm
Airsprings.com Part No. 17172 \%59
Assembly View Top Plate Bottom Plate OE Part No Cross Ref \_0’
Iveco 41006925 CF Gomma 201750
Eurostar 1SC250-19
o | O O
i ﬁzssT Eurotech 201750
of e\ ] ﬁ> 175
75 J;
fam) ] M16x1.5 14
Height: 252mm - 127mm
Airsprings.com Part No. 17173 \%59
Assembly View Top Plate Bottom Plate OE Part No Cross Ref \_0’
0 0 Iveco 41026279 CF Gomma 204279
ono Eurotech 1S270-19C
84 7501204279
P 37 190
84
L# M16x 1.5 M
Height: 288mm - 138mm

@® Bolt/Stud | @ Threaded Hole | & Airinlet | O Combo Stud

Granning UK Ltd
Granning Ireland Ltd
Granning (NI) Ltd
Granning Poland

+44 (0) 1925 810 400
+353 (0) 45 875 996
+44 (0) 2890 740 055
+48 (0) 785 875 996

airsprings

99



Iveco Truck & Bus @irsprings’

Prog @ Airsprings.com Part No. 17174
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
0 0 Iveco 41026280 CF Gomma 204280
oneG Eurotech 1§ 270-19C
& 7501204280
37 190
S A
84 B
L T M16x1.5 e
Height: 288mm - 138mm
p’””i@ Airsprings.com Part No. 17175
- Assembly View Top Plate Bottom Plate OE Part No Cross Ref
0 0 Iveco 42026246 CF Gomma 204281
ono iy Eurotech 1S 270-19C
. 7501204281
37 190
S
84 I
l ﬁgi M16x1.5 e
Height: 370mm - 140mm
Iz li' Airsprings.com Part No. 17176
— Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Iveco 41026247 CF Gomma 204282
Eurotech 1S 270-19C
} 7501204282
37 190
M16x1.5 e
Height: 270mm - 140mm
'"z lt' Airsprings.com Part No. 17177
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Iveco 41214820 CF Gomma 205312
0 O
ono Eurotech 1S 270-23 C
7501205312
O/ O 15 190
165
110
J _ LN
g M14
Height: 270mm - 140mm

@ Bolt/Stud | @ Threaded Hole | & Airinlet | O Combo Stud

Granning UK Ltd +44 (0) 1925 810 400
Granning Ireland Ltd +353 (0) 45 875 996 H i
1 O O Granning (NI) Ltd +44 (0) 2890 740 055 airsprings

Granning Poland +48 (0) 785 875 996



@irsprings”

lveco Truck & Bus

#,

Airsprings.com Part No. 17178 \%59
Assembly View Top Plate Bottom Plate OE Part No Cross Ref \_c’
Iveco 41214821 CF Gomma 205313
00 & Eurotech 1S 270-23 C
ono
) 7501205313
< =
110
Height: 375mm - 165mm
Airsprings.com Part No. 17179 \%59
Assembly View Top Plate Bottom Plate OE Part No Cross Ref \_0’
lveco 41214813 CF Gomma 205314
00 Eurotech 15270-23C
45
= 7 7501205314
e S
5
110 I
J;A‘rgf 1N
- M16x1.5 M14
Height: 375mm - 235mm
Airsprings.com Part No. 17180 \%59
Assembly View Top Plate Bottom Plate OE Part No Cross Ref \_0’
Iveco 41214814 CF Gomma 205315
Eurotech 15 270-23 C
— 7501205315
5 190 @
— M16x1.5 T M14
Height: 375mm - 165mm
Airsprings.com Part No. 91800
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Neway M0557048 Firestone 1T15M-4
sar Iveco 500379055 WO01-M58-8973
Height: 440mm - 165mm Metric

@® Bolt/Stud | @ Threaded Hole | & Airinlet | O Combo Stud

Granning UK Ltd
Granning Ireland Ltd
Granning (NI) Ltd
Granning Poland

+44 (0) 1925 810 400
+353 (0) 45 875 996
+44 (0) 2890 740 055
+48 (0) 785 875 996

101



MAN Truck & Bus

@irsprings’

)

Airsprings.com Part No. 94001
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
- MAN 81.43601.0152 Airtech 34884
Contitech 4884 N1 PO1
131 Goodyear 1R11-820
Keva 54884
Meritor MLF7138
Pirell 17TS290-28
Vibracoustic V1 DF 19 B-1 NP
Lm#‘ T s S
Metric
Airsprings.com Part No. 94002
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
w2 MAN 81.43601.0151 Airtech 34882
Contitech 4882 N1 PO1
131 Dunlop Fr D10uUOo1
Goodyear 1R10-702
Meritor MLF7136
Vibracoustic V 1 DF 16-2 NP
Lamd
Metric
Airsprings.com Part No. 94003
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
e 12 MAN 81.4301.0153 Airtech 34883
T Contitech 4883 N1 PO1
. ’ 259 131 Goodyear 1R11-804
Keva 54883
5 50 Meritor MLF7137
b 240 —} ®
}-—1314—‘ S
Metric
Airsprings.com Part No. 94015 \ 2o
Assembly View Top Plate Bottom Plate OE Part No Cross Ref \,_
‘ 259 MAN 81.43600.6044 Airtech 34885K
‘Jjﬂ Contitech 4885 N1 P02
Sﬂ M16x1.5 84
F 35
=
1 ZL M12x1.5 M18x2
60
<1
<71784—‘
Metric

@ Bolt/Stud | @ Threaded Hole | & Airinlet | O Combo Stud

Granning UK Ltd
Granning Ireland Ltd
Granning (NI) Ltd
Granning Poland

+44 (0) 1925 810 400
+353 (0) 45 875 996
+44 (0) 2890 740 055
+48 (0) 785 875 996



@irsprings” MAN Truck & Bus

Airsprings.com Part No. 94100
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
MAN 81.43600.6035 Airtech 34884K
e w2 Blacktech RML 75995 C
259 178 Connect MD 14884K
84 Contitech 4884 N1 P06
Keva 54884
= ] ® Vibracoustic | V 1 DF 19 B-1
T 157.5
131.5
"]
M18
Metric
Airsprings.com Part No. 94101
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
2o MAN 81.43600.6037 Airtech 34883K
Imiel w2 Blacktech RML 75994 C
Contitech 4883 N1 P06
= R M16 200
= o Keva 54883
1
X
AL‘T‘ISLS
1315
Jiﬁj [l
\7 | m18
200 —=1
Metric
Airsprings.com Part No. 94102
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
e MAN 81.43601.6036 Airtech 34882K
mis Blacktech RML 75993 C
= 178 Con.nect MD 14882K
Contitech 4882 N1 P05
Keva 54882
ﬁjdjl |
Metric

N,
Airsprings.com Part No. 94104 \4’?9
ey

Assembly View Top Plate Bottom Plate OE Part No Cross Ref \_
MAN 81.43600.6046 Airtech 34886K
Contitech 4886 NPO1
M16x1.5 84
35
m12 M18x2
60
Metric

@® Bolt/Stud | @ Threaded Hole | & Airinlet | O Combo Stud

- Granning UK Ltd +44 (0) 1925 810 400
H H Granning Ireland Ltd +353 (0) 45 875 996
airsprings Granning (NI) Ltd +44 (0) 2890 740 055 1 O 3

Granning Poland +48 (0) 785 875 996



Mercedes Truck & Bus @irsprings’

Airsprings.com Part No. 15956
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Mercedes A 942320 01 21 Airtech 4390-01K
% 150 Actros Connect MD 14390K01
52 Contitech 4390 NPO1
@7‘r . Dunlop Fr D12S10
16‘5 S| o Goodyear 9047
Y L 'O Keva 54390
* Nall 7N Meritor MLF7108
101 I mie m::::;%n Phoenix 1 KF 21-1
275 Pirelli 1VSC285-30
Height: 482mm - 192mm Metric Vibracoustic V 1 KF 21-1
Airsprings.com Part No. 15957
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
M16 Mercedes A 942 320 02 21 Airtech 4390-02K
150ﬂ Actros Connect MD 14390K02
241 50D s Contitech 4390 NP0O2
M16x1.51D Dunlop Fr D12S11
o o ] Goodyear 9506
e Keva 54390CAO01
Meritor MLF7109
N Phoenix 1KF 21-2
101 mis Pirell 1VSC285-30
Height: 482mm - 192mm Metric
Airsprings.com Part No. 15962
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Mercedes A 9743200117 Airtech 34757-01K
Actros Connect MD 14757K
" 0 Contitech 4757 NPO1
Gart C299, A
Goodyear 566-03-9-519
Keva 54757CA
. M16x 15 Meritor MLF7164
Pirelli 1VSC300-26
Vibracoustic V 1 KF 24-1
Height: 270mm Metric
Airsprings.com Part No. 15963
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Mercedes A 946 320 04 21 Airtech 34838-01K
"7325 ﬂ 155 220 Atego Connect MD 14838K
Contitech 4838 NPO1
Keva 54838
o Vibracoustic V 1 KF 25-1
C I
195
IS = M24x1.5 M16x1.5
Height: 585mm - 225mm Metric

@ Bolt/Stud | @ Threaded Hole | & Airinlet | O Combo Stud

Granning UK Ltd +44 (0) 1925 810 400

Granning Ireland Ltd +353 (0) 45 875 996 H i
Granning (NI) Ltd +44 (0) 2890 740 055 airsprings
Granning Poland +48 (0) 785 875 996



@irsprings”

Mercedes Truck & Bus

Airsprings.com Part No. 15964
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Mercedes A 946 320 02 21 Airtech 34838-02K
325
155 220 Atego Contitech 4838 NP02
Goodyear 566-03-9-522
Keva 54838CA01
Vibracoustic V1KF21-2
Q
195
J M24x1.5 M16x1.5
Height: 585mm - 225mm Metric
Airsprings.com Part No. 15965
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Mercedes A 946 320 01 21 Contitech 4838 NP0O3
325
155 230 Atego Keva 54838CA02
Vibracoustic V 1 KF 25-3
©)
195
M24x1.5 M16x1.5
Height: 585mm - 225mm Metric
Airsprings.com Part No. 16155
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Mercedes | A 942320 04 21 Airtech 4390-03K
155 190 Actros Contitech 4390 NP0O3
Keva 54390CA02
135 M1¢sx1.5/Q & ©\
WDW M16X1.5
Height: 462mm - 192mm Metric
Airsprings.com Part No. 16156
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Mercedes | A 94232003 21 Airtech 4390-04K
155 1%0 A 942 320 51 21 Contitech 4390 NP0O4
Actros Keva 54390CA03
155
]
——190 ——= M24X1.5 M16X1.5
Height: 462mm - 192mm Metric

@® Bolt/Stud | @ Threaded Hole | & Airinlet | O Combo Stud

Granning UK Ltd
Granning Ireland Ltd
Granning (NI) Ltd
Granning Poland

+44 (0) 1925 810 400
+353 (0) 45 875 996
+44 (0) 2890 740 055
+48 (0) 785 875 996

105



Mercedes Truck & Bus @irsprings’

Airsprings.com Part No. 16160
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Mercedes A 97432004 17 Airtech 34757-02K
Actros Connect MD 14757P01
155 280
s2 Contitech 4757 NP0O9
Gart C299, A
Goodyear 566-03-9-520
Keva 54757CAQ2
M24x 1.5 Mi6x1.5 Pirelli 1VSC300-26
Height: 310mm Metric
Airsprings.com Part No. 16206
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Mercedes Vario Contitech 819 NPO1
200
156
168
O
M10x3
5 M26x1.5
SN J j WJ 33 M36x2
I
Height: 350mm - 150mm Metric (Bellows 15996)
Airsprings.com Part No. 16227
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Mercedes A946 320 03 21 Airtech 34737-01K
155 220 Actros Connect MD 14737K
Contitech 4737 NPO1
fe——190 —= Goodyear 566-03-9-523
m Keva 54737CA
= = T Meritor MLF7165
155 M24x 1.5 M16x1.5
n |
Height: 498mm - 185mm Metric
Airsprings.com Part No. 16228
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Mercedes A946 320 05 21 Airtech 34737-02K
Actros Connect MD 14737K
155 190
Contitech 4737 NP0O2
190 —= Goodyear 566-03-9-523
m Keva 54737CA
f Meritor MLF7165
155
L M24x 1.5 M16x1.5
@
Height: 498mm - 185mm Metric

@ Bolt/Stud | @ Threaded Hole | & Airinlet | O Combo Stud

Granning UK Ltd +44 (0) 1925 810 400
Granning Ireland Ltd +353 (0) 45 875 996 H i
1 O 6 Granning (NI) Ltd +44 (0) 2890 740 055 airsprings

Granning Poland +48 (0) 785 875 996



@irsprings”

Mercedes Truck & Bus

Airsprings.com Part No. 17090
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
M22x1.5 Mercedes Vario Blacktech RL 92920
194 156 Contitech 819 MB
Gart D296, D
Pirelli 15215-22
95
M18x1.5 M18x1.5
L l M10x1
1
Height: 350mm - 150mm Metric
Airsprings.com Part No. 91300
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Mercedes Citaro Contitech 644 NPO1
112 205
J g A
L 112
Height: 572mm - 192mm Metric
Airsprings.com Part No. 91306
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Mercedes Travego Contitech 4644 NP0O2
155 I 205 |
%2054‘
ﬁ@ﬂ
T M24x 1.5 M16x 1.5
123
f |
Height: 269mm Metric
Airsprings.com Part No. 93916
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
m1s Mercedes | A 94232050 21 Airtech 34390-22K
Actros Contitech 4390 NP22
150 ———+ 200
- Keva 54390CA04
e Phoenix 1 KF 21-22
2 N O | -
165
NI
10‘ 1. me
Height: 482mm - 192mm Metric (VOSS Fitting Included)

@® Bolt/Stud | @ Threaded Hole | & Airinlet | O Combo Stud

Granning UK Ltd
Granning Ireland Ltd
Granning (NI) Ltd
Granning Poland

+44 (0) 1925 810 400
+353 (0) 45 875 996
+44 (0) 2890 740 055
+48 (0) 785 875 996

107



Mercedes Truck & Bus @irsprings’

Airsprings.com Part No. 93917
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Mercedes A942 320 49 21 Airtech 34390-21K
150 200 Actros Contitech 4390 NP21
- Keva 54390CA05
- Phoenix 1 KF 21-21
Z NS
% A
M24x1.50D
M16x1.51D
Height: 482mm - 192mm Metric (VOSS Fitting Included)
Airsprings.com Part No. 93918
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Mercedes 942 320 22 21 Airtech 34183-23K
Connect MD 14183K24
Contitech 4183 NP24
34 39
‘” T
10 [ '
M16 | |ao
Height: 280mm Metric
"'MZ@ Airsprings.com Part No. 93925
- Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Mercedes | A 942320 26 21 Airtech 34187-21K
Contitech 4187 N P21
/\ M16x1.5
39
\\: ;men.s
10| |40
Metric
ngﬁ Airsprings.com Part No. 93931
- “ Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Mercedes | A 94232023 21 Airtech 34183-24K
@50 Contitech 4183 N P24
-
M
/_\ M16x1.5
- M16x1.5 Iy 40 M24x1.5
Metric

@ Bolt/Stud | @ Threaded Hole | & Airinlet | O Combo Stud

Granning UK Ltd +44 (0) 1925 810 400
Granning Ireland Ltd +353 (0) 45 875 996 H i
1 O 8 Granning (NI) Ltd +44 (0) 2890 740 055 airsprings

Granning Poland +48 (0) 785 875 996



@irsprings”

Mercedes Truck & Bus

Airsprings.com Part No. 93932 Uf,,lg@
Assembly View Top Plate Bottom Plate OE Part No Cross Ref \_c’
Mercedes A 942 320 52 21 Airtech 34390-23K
Actros Contitech 4390 NP23
52 M16x1.5
M24x1.5
M16x1.5 45
M16x1.5
Metric
Airsprings.com Part No. 93933 \%59
Assembly View Top Plate Bottom Plate OE Part No Cross Ref \_0’
ﬁmj Mercedes A 942 320 51 21 Airtech 34390-24K
Actros Contitech 4390 NP24
7= | I | =\
165
W M16x1.5
L-iwo;—‘
Metric
Airsprings.com Part No. 93935 \%59
Assembly View Top Plate Bottom Plate OE Part No Cross Ref \_0’
ﬁwoﬂ Mercedes | A 942320 37 21 Airtech 34737-21K
- - Actros Contitech 4737 NP21
M24x1.5
M16x1.5
1(5L
W M16x1.5
Lizzo——l
Metric
Airsprings.com Part No. 93936 \%59
Assembly View Top Plate Bottom Plate OE Part No Cross Ref \_0’
ﬁm Mercedes | A 942320 39 21 Airtech 34737-22K
- ﬂ Actros Contitech 4737 NP22
M24x1.5
M16x1.5
1 SL
W M16x1.5
Li1904—1
Metric

@® Bolt/Stud | @ Threaded Hole | & Airinlet | O Combo Stud

Granning UK Ltd
Granning Ireland Ltd
Granning (NI) Ltd
Granning Poland

+44 (0) 1925 810 400
+353 (0) 45 875 996
+44 (0) 2890 740 055
+48 (0) 785 875 996

109



@irsprings’

Mercedes Truck & Bus

p,,,g@ Airsprings.com Part No. 93937
0 Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Mercedes A942 320 43 21 Airtech 34757-21K
Actros Contitech 4757 NP21
M24x1.5
M16x1.5
M16x1.5
Metric
%,,f@ Airsprings.com Part No. 93938
- ‘ Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Mercedes | A 9423203121 Airtech 34757-22K
Actros Contitech 4757 NP22
M16x1.5
Metric
p,ogli' I Airsprings.com Part No. 93939
,*0 Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Mercedes | A 94232032 21 Airtech 34757-29K
Actros Contitech 4757 NP29
M16x1.5
Metric
.a,aglt' | Airsprings.com Part No. 93940
0 Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Mercedes | A 942320 36 21 Airtech 34838-22K
Actros Contitech 4838 NP22
M24x1.5
_ 0 _
195
\ M16x1.5
5 A
T 220
Metric

@ Bolt/Stud | @ Threaded Hole | & Airinlet | O Combo Stud

Granning UK Ltd +44 (0) 1925 810 400

Granning Ireland Ltd
Granning (NI) Ltd
Granning Poland

+353 (0) 45 875 996
+44 (0) 2890 740 055
+48 (0) 785 875 996



@Irsprings Mercedes Truck & Bus

#,

Airsprings.com Part No. 93941 \p,ofp
Assembly View Top Plate Bottom Plate OE Part No Cross Ref \_00,
Mercedes A 942 320 35 21 Airtech 34838-23K
Actros Contitech 4838 NP23

M24x1.5
d !U B

’E‘ W M16x1.5

Metric

N,
Airsprings.com Part No. 94020 W’”l”?y
et

Assembly View Top Plate Bottom Plate OE Part No Cross Ref \_
Mercedes A 945320 00 17 Airtech 34758-01K
Actros Contitech 4758 NPO1

M24x1.5
M16x1.5

M16x1.5

279

Metric

N,
Airsprings.com Part No. 94021 UZ?Q
l

- e,
Assembly View Top Plate Bottom Plate OE Part No Cross Ref \_
Mercedes | A 942320 48 21 Airtech 34758-21K
Actros Contitech 4758 NP21

M24x1.5
M16x1.5

M16x1.5

Metric

@® Bolt/Stud | @ Threaded Hole | & Airinlet | O Combo Stud

- Granning UK Ltd +44 (0) 1925 810 400
H H Granning Ireland Ltd +353 (0) 45 875 996
airsprings Granning (NI) Ltd +44 (0) 2890 740 055 1 1 1

Granning Poland +48 (0) 785 875 996



Renault Truck & Bus

@irsprings’

Airsprings.com Part No. 15709
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Renault Truck Airtech 39910K
Neway MO0 57 000 Firestone 1T19G-12
mn
177 W01-M58-9910
Meritor MLF7050
© )
145
Height: 545mm - 1775mm Metric
Airsprings.com Part No. 16046
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Renault 5.010.294.307 Airtech 34912K
I 286 0 Blacktech RML 75023 C
012 Connect MD 14912K
230—=| Contitech 4912 N
Fﬁ T Firestone 1T19L-14
165 -
K i WO01-M58-8786
191 % Goodyear 1R13-711
( W M16x1.5 60 Mexts | Miexs Keva 54912CA01
i Phoenix 1 DK 28 F-4
Height: 662mm - 236mm Metric Vibracoustic V 1 DK 28 F-4
Airsprings.com Part No. 16104
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Renault 5.010.211.724 Airtech 3902K
Truck Blacktech RML 7013 C
Connect MD 19902
Contitech 902 N
Keva 5902
145
A 11T
Height: 545mm - 1775mm Metric
p,oglﬁ Airsprings.com Part No. 16204
e, .
- . Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Renault 5.000.738.516 Airtech 3876K
M16x1.5 5.000.640.399 Contitech 876 MB
84 M18x2
- 5.010.073.847
259
M12x1.5
- LZOO

Metric

112

@ Bolt/Stud | @ Threaded Hole | & Airinlet | O Combo Stud

Granning UK Ltd
Granning Ireland Ltd
Granning (NI) Ltd
Granning Poland

+44 (0) 1925 810 400
+353 (0) 45 875 996
+44 (0) 2890 740 055
+48 (0) 785 875 996




@irsprings”

Renault Truck & Bus

#,

Airsprings.com Part No. 16213 , e‘i’
\ 0000’
Assembly View Top Plate Bottom Plate OE Part No Cross Ref \_
Renault 5.010.347.891 Airtech 31924K
’_L/—t ,‘\_r“ Contitech 1924 N1 P05
- M22x1.5
1 28
127 @:
J; _u_ — M16x1.5 M18x1.5
L— 133——‘
Metric
Airsprings.com Part No. 16230
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
M16x1.5 12 Renault 5.010.294.308 Airtech 34911K
M Blacktech RML 75022 C
20 Connect MD 14911K
Contitech 4911 N
Dunlop Fr D13A09
Goodyear 1R13-714
210 Keva 54911CA01
J M24x1.50D
M16x1.5 M16x1.51D
Height: 597mm - 256mm Metric
Airsprings.com Part No. 91303 Uf,,lgg
Assembly View Top Plate Bottom Plate OE Part No Cross Ref \_0’
Renault 5.010.073.846 Airtech 3661K
Contitech 661 NPO1
290 TZZST
H M10x1 M10
}749 I M18x1.5 M18x1.5
Metric
Airsprings.com Part No. 91400
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Renault 5.010.383.616 Firestone 1T15MPW-7
201 Hendrickson 59053-2 WO01-M58-6260
|-I¥M12)(1.25
Height: 290mm - 122mm Metric

@® Bolt/Stud | @ Threaded Hole | & Airinlet | O Combo Stud

Granning UK Ltd
Granning Ireland Ltd
Granning (NI) Ltd
Granning Poland

+44 (0) 1925 810 400
+353 (0) 45 875 996
+44 (0) 2890 740 055
+48 (0) 785 875 996

113



Renault Truck & Bus @irsprings’

Airsprings.com Part No. 91801
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Renault 5.010.294.252 Airtech 34154KPP
M10x1.25
5.010.239.525 Blacktech RML 75265 CP5
Contitech 4154 NPO5
Firestone WO01-M58-8172
Keva 54154
Phoenix 1 DK 23 F-1
Vibracoustic V 1 DK 23 F-1
M12 hs
Metric
om Part No. 93100
Top Plate Bottom Plate OE Part No Cross Ref
Renault 5.010.557.355 Airtech 34912-10K
286 | 226
75
20
M16x1.5
M12x1.5
20x1.5
Metric
Top Plate Bottom Plate OE Part No Cross Ref
Renault 5.006.172.377 Airtech 31415.01K
Contitech 1415 NPO1
289 TWOT
M22x1.5 M10x1.5
M18x1.5 M18x1.5
Metric
Airsprings.com Part No. 94511
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
12 Renault E 316800035 Dunlop Fr E 316 800 035
m 151 110
CJ
I ———"
T
— ©
Height: 263mm - 107mm Metric

@ Bolt/Stud | @ Threaded Hole | & Airinlet | O Combo Stud

Granning UK Ltd +44 (0) 1925 810 400
Granning Ireland Ltd +353 (0) 45 875 996 H i
1 1 4 Granning (NI) Ltd +44 (0) 2890 740 055 airsprings

Granning Poland +48 (0) 785 875 996



@irsprings” Scania Truck & Bus

Airsprings.com Part No. 15580 \,ggﬁ
Assembly View Top Plate Bottom Plate OE Part No Cross Ref \_ “
Scania 1863244

Height: 275mm - 76mm Metric
Airsprings.com Part No. 15600
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Scania Bus 660252 Firestone 1T15S-6
WO01-358-0622
135 140
70
e X e
Imperial
Airsprings.com Part No. 15601
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Scania 1314904 Airtech 37315K
o 276696 Blacktech RML 77315 C
105 Connect MD 17315K
Firestone 1T15S-11
I WO01-M58-7315
|+ ® ® Goodyear 1R11-828
Keva 415112
Meritor MLF7033
Height: 705mm - 246mm Metric
Airsprings.com Part No. 15619
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Scania 1314903 Airtech 36251K
rs 7 210 1402423 Firestone 1T155-6
157 —f 105 WO01-M58-6251
Goodyear 1R11-826
5 Keva 516251
O] ® Meritor MLF7022
Height: 464mm - 127mm Metric

@® Bolt/Stud | @ Threaded Hole | & Airinlet | O Combo Stud

- Granning UK Ltd +44 (0) 1925 810 400
H H Granning Ireland Ltd +353 (0) 45 875 996
airsprings Granning (NI) Ltd +44 (0) 2890 740 055 1 1 5

Granning Poland +48 (0) 785 875 996



Scania Truck & Bus @irsprings’

Airsprings.com Part No. 15643
Assembly View Top Plate Bottom Plate OE Part No Cross Ref

Scania Bus 670210 Firestone 22C
WO01-358-7177

3x(1/2-20)

1/4NPT

Height: 200mm |mperia|
Airsprings.com Part No. 15645
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Scania Bus 670199 Firestone 22C
229 Neway 905 016 WO01-358-7400
157 Goodyear 2B12-309
Taurus KF 222-7400
73 Vibracoustic VSP 2 B 22R-7400
O) O)
1/4NPT
Height: 305mm - 107mm Imperial
Airsprings.com Part No. 15710
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Scania 1319761 Airtech 2B-225
Contitech FD 200-19
Firestone 20C-2
WO01-M58-6891
A Gart T291, 2B
®© Goodyear 2B9-252
M14x1.5
Height: 330mm - 77mm Metric
Airsprings.com Part No. 15711
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Scania 1304528 Firestone 1T15M-2

WO01-M58-7275

1
73
|4

Height: 360mm - 155mm Metric

@ Bolt/Stud | @ Threaded Hole | & Airinlet | O Combo Stud

Granning UK Ltd +44 (0) 1925 810 400
Granning Ireland Ltd +353 (0) 45 875 996 H i
1 1 6 Granning (NI) Ltd +44 (0) 2890 740 055 airsprings

Granning Poland +48 (0) 785 875 996



@irsprings” Scania Truck & Bus

Airsprings.com Part No. 15712

Assembly View Top Plate Bottom Plate OE Part No Cross Ref
16030M Scania 1320151 Airtech 34154-04K
Firestone 1T15M-4
229 o 241 —+
WO01-M58-7283
157
Meritor MLF7051
j MLF7132
® @® 200
Height: 440mm - 145mm Metric
Airsprings.com Part No. 15713
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Scania 1123386 Airtech 34156-12K
Connect MD 197295KP
Firestone 1T15M-6

WO01-M58-7295

[ r
73
4

Height: 527mm - 200mm Metric
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Scania 1314905 Airtech 34159-06KPP
2556294 Connect MD 197308KP
Hendrickson Firestone 1T15M-9
WO01-M58-7308
Goodyear 1R12-713
200 Meritor MLF7052
Phoenix 1 DK 23 L-7308
Taurus K 509-24
Vibracoustic V 1DK 23 L-42
Height: 650mm - 245mm Metric
Airsprings.com Part No. 15715
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Piston 1T15M-7 Scania 1327144 Connect MD 199104KP
Firestone 1T15M-9

241 ——

WO01-M58-7348

Height: 634mm - 216mm Metric

@® Bolt/Stud | @ Threaded Hole | & Airinlet | O Combo Stud

- Granning UK Ltd +44 (0) 1925 810 400
H H Granning Ireland Ltd +353 (0) 45 875 996
airsprings Granning (NI) Ltd +44 (0) 2890 740 055 1 1 7

Granning Poland +48 (0) 785 875 996



Scania Truck & Bus @irsprings’

Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Scania Bus 411726 Firestone 22
WO01-358-7411

Height: 305mm - 107mm Imperial
Airsprings.com Part No. 15795
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
232 Scania Bus 463100 Firestone 1T15LD-5
WO01-M58-7367
229 224
=22\ 140 180
T 183 T
It o ° ® ®
T
Height: 450mm - 150mm Metric
Airsprings.com Part No. 15797
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Scania Bus 463102 Firestone 1T15LN-3
WO01-M58-7393
229 224
140
o °
Height: 425mm - 200mm Metric
Airsprings.com Part No. 16034
Assembly View Top Plate Bottom Plate OE Part No Cross Ref

Scania 1363007 Firestone 1T15LUX-11
WO01-M58-8948

241

105

Height: 704mm - 243mm Metric (Service Assy.)

@ Bolt/Stud | @ Threaded Hole | & Airinlet | O Combo Stud

Granning UK Ltd +44 (0) 1925 810 400
Granning Ireland Ltd +353 (0) 45 875 996 H i
1 1 8 Granning (NI) Ltd +44 (0) 2890 740 055 airsprings

Granning Poland +48 (0) 785 875 996



@irsprings” Scania Truck & Bus

Airsprings.com Part No. 16067
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Scania 1386199 Airtech 36199K
Blacktech RML 76199 C
MZ12271 5-6H Goodyear 1R13-744
80—~ Keva 286199
O Meritor MLF7146
|| a
125 o o O ° Il
——s75—
Metric
Airsprings.com Part No. 16068
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Scania 1386200 Airtech 36200K
Blacktech RML 76200 C
e Goodyear 1R13-745
Keva 286200
f Meritor MLF7167
73
Metric
Airsprings.com Part No. 16105
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Scania 1379392 Airtech 34913K
226—— 1440294 Blacktech RML 75024 C
15 Contitech 4913 N
Firestone 1T19L-14
A WO01-M58-8098
210 Goodyear 1R14-753
L Keva 54913
M6 Meritor MLF7081
M6x2.0 Phoenix 1D 28 H-16
Height: 350mm Metric Vibracoustic V1D 28 H-16
Airsprings.com Part No. 90208 \%59
e,
Assembly View Top Plate Bottom Plate OE Part No Cross Ref \__ .
Scania 1510249
C M14x1.5
.
@ ®
M10-6H M10-6H
158 158
Height: 181mm Metric

@® Bolt/Stud | @ Threaded Hole | & Airinlet | O Combo Stud

- Granning UK Ltd +44 (0) 1925 810 400
H H Granning Ireland Ltd +353 (0) 45 875 996
airsprings Granning (NI) Ltd +44 (0) 2890 740 055 1 1 9

Granning Poland +48 (0) 785 875 996



Scania Truck & Bus

@irsprings’

Airsprings.com Part No. 92501
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
227 Scania 1434506 Airtech 334506K
i i 12.5 Connect MD 14506K
27— fgj Goodyear 1R11-832
/\ 5 |ynan s Keva 234506
/%N
186.5 jf
12L -
11.9
Metric
Airsprings.com Part No. 92502
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Scania 1440305 Airtech 330305K
Goodyear 1R11-185
227 —— 206
127 Keva 240305
M14x1.5 Meritor MLF7143
' Y T
56
Metric
Airsprings.com Part No. 92503
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Scania 1440307 Goodyear 566-22-2-117
b Keva 240307
227 ——| [ 200 |
Meritor MLF7144
127
N | s
M14x1.5.
1315 ’ & | 36
1
12
11.9
Metric
Airsprings.com Part No. 92504
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
259
_ irule
b A
= 180
P o®\ o 17
zof_r L— 140 ——j
m
J— I M14x1.5 240
21
Metric

@ Bolt/Stud | @ Threaded Hole | & Airinlet | O Combo Stud

Granning UK Ltd
Granning Ireland Ltd
Granning (NI) Ltd
Granning Poland

+44 (0) 1925 810 400
+353 (0) 45 875 996
+44 (0) 2890 740 055
+48 (0) 785 875 996



@irsprings”

Scania Truck & Bus

Airsprings.com Part No. 92504/1
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
259 Scania 1440301 Airtech 330301K
Goodyear 1R13-746
480
[
zorr
ML
J— = I M14x1.5 L“‘)J
1?’”‘
Metric
Airsprings.com Part No. 92505
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
s Scania 1440304 Airtech 330304K
Connect MD 10304K
227 —— 185
127 Goodyear 1R11-829
?v“ Keva 240304
) e 2 L, Meritor MLF7142
164 56
94
11.9
Metric
Airsprings.com Part No. 92506
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Scania 1521114 Airtech 331114K
Goodyear 1R11-833
Keva 240303
| | Meritor MLF7182
56
5
Height: 420mm - 240mm Metric
Airsprings.com Part No. 92507
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Scania 1440306 Airtech 330306K
206 Goodyear 1R11-831
Keva 240306
Height: 590mm - 330mm Metric

@® Bolt/Stud | @ Threaded Hole | & Airinlet | O Combo Stud

Granning UK Ltd
Granning Ireland Ltd
Granning (NI) Ltd
Granning Poland

+44 (0) 1925 810 400
+353 (0) 45 875 996
+44 (0) 2890 740 055
+48 (0) 785 875 996

121



Scania Truck & Bus

@irsprings’

A

\ "%?@

Airsprings.com Part No. 92509
Assembly View Top Plate Bottom Plate OE Part No Cross Ref \\_
Scania 1726240 Goodyear 1R11-834
259
140 240
M14x1.5
\
15° 15°
180
Metric
Airsprings.com Part No. 93000
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
323 Scania 1404701 Goodyear 1R12-472
S N 1R12:810
229
157
O
M12
M22 0D
M141D
Height: 234mm - 745mm Metric

122

@ Bolt/Stud | @ Threaded Hole | & Airinlet | O Combo Stud

Granning UK Ltd
Granning Ireland Ltd
Granning (NI) Ltd
Granning Poland

+44 (0) 1925 810 400
+353 (0) 45 875 996
+44 (0) 2890 740 055
+48 (0) 785 875 996



@irsprings” Volvo Truck & Bus

Airsprings.com Part No. 15605
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Volvo Bus 367405 Firestone 1T15S-6
220 240 W01-932-7002
157 105
1
73
® ® ® ®
3/4 NPTF
Height: 489mm - 163mm Imperial
Airsprings.com Part No. 15652
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Volvo 1698416 Goodyear 1R12-131
257 —————] 8393786 566-24-3-052
196 ———
92
2PN
"7 220
ﬂ T o o\
D ﬂ -
1(12 46
Height: 324mm - 142mm Imperial
Airsprings.com Part No. 15655
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
— Volvo 1081785 Airtech 140075
120 80 20455245 Contitech SK95-26
685
M20x1.50D
M12x1.51D
Airsprings.com Part No. 15656
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Volvo 1076594 Airtech 34713K
300 259
" 189 Blacktech RML 75824 C
o
Connect MD 147134
Contitech 4713 NP0O2
Dunlop Fr D12B24
Firestone 1T17BR-8
155 W01-M58-9706
M16x1.5
— l J Goodyear 1R12-762
93
it Keva 54713
Height: 491mm - 201mm Imperial Vibracoustic V 1 DF 22 C-1

@® Bolt/Stud | @ Threaded Hole | & Airinlet | O Combo Stud

- Granning UK Ltd +44 (0) 1925 810 400
H H Granning Ireland Ltd +353 (0) 45 875 996
airsprings Granning (NI) Ltd +44 (0) 2890 740 055 1 : 2 3

Granning Poland +48 (0) 785 875 996



Volvo Truck & Bus

@irsprings’

Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Volvo 1075363 Airtech 34718K
s Blacktech RML 75829 C
‘ D\ ‘ = Connect MD 14718K
Contitech 4718 NPO1
25— Keva 54718
[T T %6 Meritor MLF7145
160
o1
Height: 541mm - 206mm
Airsprings.com Part No. 16048
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
‘ Volvo 1076075 Airtech 36075K
‘ * a5 Blacktech RML 75531 C
2\ Connect MD 14420K
Contitech 4420 NPO1
235— Firestone 1T17BR-8
I—T RO ﬂ:%g W01 M58 9707
s Keva 54420
= \ Meritor MLF7171
Height: 471mm - 186mm Metric
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Volvo 1076416 Airtech 36416K
168 Blacktech RML 77527 C
Connect MD 16416K
Contitech 6416 N
Goodyear 1R10-704
Keva 56608
Meritor MLF7151
W63
Height: 475mm - 245mm Metric
Dy
.a,%ecft' ) Airsprings.com Part No.
. Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Volvo 20452472 Airtech 36753K
20554753
2987630
168
M16x1.5 r T
174153
Metric

@ Bolt/Stud | @ Threaded Hole | & Airinlet | O Combo Stud

124

Granning UK Ltd
Granning Ireland Ltd
Granning (NI) Ltd
Granning Poland

+44 (0) 1925 810 400
+353 (0) 45 875 996
+44 (0) 2890 740 055
+48 (0) 785 875 996



@irsprings”

Airsprings.com Part No. 93910

Volvo Truck & Bus

Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Volvo 20427804 Airtech 37804K
Connect MD 17804K
200
Contitech 7804 N
Keva 56606
Meritor MLF7157
M24x1.50D
M16x1.51D
Height: 400mm - 240mm Metric
Airsprings.com Part No. 93911
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Volvo 1076418 Airtech 36418K
168 Connect MD 16418K
Contitech 6418 N
Keva 56607
Meritor MLF7170
M24x1.50D
M16x1.5ID
Height: 400mm - 240mm Metric
Airsprings.com Part No. 93912
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Volvo 1076420 Airtech 36420-01K
Connect MD 16420K
168
Contitech 6420 N
M24x1.50D
M16x1.51D
Height: 340mm - 200mm Metric
Airsprings.com Part No. 93913
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
m10 Volvo 1629780 Contitech 9780 N

3
145

258 ——

Height: 520mm - 300mm

Metric

@® Bolt/Stud | @ Threaded Hole | & Airinlet | O Combo Stud

Granning UK Ltd
Granning Ireland Ltd
Granning (NI) Ltd
Granning Poland

+44 (0) 1925 810 400
+353 (0) 45 875 996
+44 (0) 2890 740 055
+48 (0) 785 875 996

125



Volvo Truck & Bus @lirsprings

Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Volvo 20427803 Airtech 37803K
200 20582206 Blacktech RML 78914 C
20531984 Connect MD 17803K
20456150 Contitech 7803 N
20427800 Goodyear 1R11-805
Keva 56605
Meritor MLF7154
M6 5D
Height: 420mm - 245mm Metric
Airsprings.com Part No. 93915
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Volvo 20427805 Airtech 37805K

M24 0D
M161D

Height: 350mm - 220mm Metric

200 20427802 Contitech 7805 N
20456158
20531988
205682212
N,

/gglﬁ Airsprings.com Part No. 93919
,,_0' Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Volvo 20573108 Airtech 36108K

Contitech 6604 NPO1
.a,!glt' I Airsprings.com Part No. 93920
,f' Assembly View Top Plate Bottom Plate OE Part No Cross Ref

Metric

230 Volvo 20452136 Airtech 36760K
20554760 Contitech 2136 M
M16x1.5 54760 M
M10
76
\ﬁv 160
227
Metric

@ Bolt/Stud | @ Threaded Hole | & Airinlet | O Combo Stud

Granning UK Ltd +44 (0) 1925 810 400
Granning Ireland Ltd +353 (0) 45 875 996 H i
1 : 2 6 Granning (NI) Ltd +44 (0) 2890 740 055 airsprings

Granning Poland +48 (0) 785 875 996



@irsprings” Volvo Truck & Bus
w’o',fQ

Assembly View Top Plate Bottom Plate OE Part No Cross Ref \_
Volvo 20386350 Airtech 36247KPP
20532247
Airsprings.com Part No. 93924 \%59
Assembly View Top Plate Bottom Plate OE Part No Cross Ref \_0’
1o Volvo 20554762 Airtech 36762K
160 20452138 Contitech 54762 M
g 3 Mrex1-3 20479802 6609 NPO1
i o 9802 M
P Rl
124
hat
Metric

N,
Airsprings.com Part No. 93926 \/ng
et

Assembly View Top Plate Bottom Plate OE Part No Cross Ref \_
Volvo 20573113 Airtech 36113K
20041697 Contitech 6602 NP02

M10x1.5

Metric

L
Airsprings.com Part No. 93930 \4’?9
ey

Assembly View Top Plate Bottom Plate OE Part No Cross Ref \\_
Volvo 20554770 Airtech 36770K
3173271 Contitech 54770 M
3271 M

Metric

@® Bolt/Stud | @ Threaded Hole | & Airinlet | O Combo Stud

- Granning UK Ltd +44 (0) 1925 810 400
H H Granning Ireland Ltd +353 (0) 45 875 996
airsprings Granning (NI) Ltd +44 (0) 2890 740 055 1 : 2 7

Granning Poland +48 (0) 785 875 996



Volvo Truck & Bus @irsprings’

Airsprings.com Part No. 93808
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Volvo 20573311
3195249
Metric
Top Plate Bottom Plate OE Part No Cross Ref
w2 Volvo 20534645 Airtech 126045
_I= :
120 80 Contitech SZ130-25 P04
162 M20x1.50D
M12x1.51D
~—M12x1.5
M20x1.5
Metric
Top Plate Bottom Plate OE Part No Cross Ref
Volvo 20534646 Airtech 126046
120 80 Contitech S7130-25 P05
Q,
M20x1.50D
M12x1.51D

@ Bolt/Stud | @ Threaded Hole | & Airinlet | O Combo Stud

Granning UK Ltd +44 (0) 1925 810 400
Granning Ireland Ltd +353 (0) 45 875 996 H i
1 : 2 8 Granning (NI) Ltd +44 (0) 2890 740 055 airsprings

Granning Poland +48 (0) 785 875 996



@irsprings” 110, 113, FS40-6, FS70-7

Airsprings.com Part No. 15595
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Tug Master Firestone WO01-358-7094
Firestone 113B
2.70
Min. Ht.
i
Imperial
Airsprings.com Part No. 15680
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
ROR 21212549 Gart T275
TWOT
Metric
Airsprings.com Part No. 90101
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Various Contitech FS40-6
% %0 Phoenix SP 1B 04
‘ 20 20
u|ljm—( )
) ;
@ 10G
1/4NPT 2xmM8 2xM8
Height: 100mm - 50mm Metric
Airsprings.com Part No. 90102
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Various Contitech FS70-7
108 108
) 45 45
L
) °
1/4NPT 2xM8 2xM8
Height: 115mm - 50mm Metric

@® Bolt/Stud | @ Threaded Hole | & Airinlet | O Combo Stud

- Granning UK Ltd +44 (0) 1925 810 400
H H Granning Ireland Ltd +353 (0) 45 875 996
airsprings Granning (NI) Ltd +44 (0) 2890 740 055 1 : 2 9

Granning Poland +48 (0) 785 875 996



113-1, 115, 116, FS200-10 @irsprings’

Airsprings.com Part No. 90103
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Various Contitech FS120-9
1 Firestone 116
7 WO01-M58-6166
L
®
2xm8
Height: 135mm - 55mm Metric
Airsprings.com Part No. 90104
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Various Contitech FS200-10
161—— = 161 Firestone WO01-M58-6374
L s/ane Phoenix SP 1B 12
0
® ®
2xmM8 2xM8
Height: 140mm - 55mm Metric
Airsprings.com Part No. 90105
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Various Contitech FS330-11
228 Firestone 115
158 - -
- WO01-M58-6008
Phoenix SP 1B 22
®
2xM8
Height: 150mm - 50mm Metric
Airsprings.com Part No. 90106
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Various Contitech FS530-11
Firestone 113-1
WO01-M58-6371
1/4NPT|
Phoenix SP 1B 34
4xM8
Height: 170mm - 50mm Metric

@ Bolt/Stud | @ Threaded Hole | & Airinlet | O Combo Stud

Granning UK Ltd +44 (0) 1925 810 400
Granning Ireland Ltd +353 (0) 45 875 996 H i
1 3 O Granning (NI) Ltd +44 (0) 2890 740 055 airsprings

Granning Poland +48 (0) 785 875 996



@irsprings”

Airsprings.com Part No.
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
SAF 4.229.1004.00 Airtech 2B-220-3
60—~ 60—~ Connect MD 1895-01
Contitech FD 200-19 P04
Dunlop Fr S09208
i3 @ j Firestone WO01-M58-7894
89 Goodyear 2B9-2250
O] Meritor MLF7036
M12x1.5 Phoenix SP2B 12 R-5
Taurus KF 218-210
Height: 275mm - 76mm Metric Vibracoustic VSP2B12R-5
Airsprings.com Part No. 15603
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
1/4N.P.T ROR 21221395 Airtech 2B-220
160 21222663 Connect MD 1895
89 Weweler US 06910 F Contitech 895 N
Firestone WO01-M58-7887
A Goodyear 2B9-200
@® @® Meritor MLF7184
Phoenix SP 2B 12 R-1
Pirelli 20
Taurus KF 218
Height: 275mm - 76mm Metric Vibracoustic VSP2B12R
Airsprings.com Part No. 15668
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Firestone W01-M58-6188
160
89
O] ®
Height: 275mm - 107mm Metric
Airsprings.com Part No. 15784
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Hendrickson HS505613 Airtech 2B-215
160 160 Contitech FD 200-19 NP0O2
89 Firestone WO01-M58-7756
Goodyear 2B9-234
2B9-285
® ® Taurus KF 218-201
mf;ﬂ : to accept VOSS Fitting
Height: 233mm - 91mm Metric

@® Bolt/Stud | @ Threaded Hole | & Airinlet | O Combo Stud

Granning UK Ltd
Granning Ireland Ltd
Granning (NI) Ltd
Granning Poland

+44 (0) 1925 810 400
+353 (0) 45 875 996
+44 (0) 2890 740 055
+48 (0) 785 875 996

131



20-2,T245, 620N @irsprings’

Airsprings.com Part No. 15670
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
AN T ROR 21221356 Airtech 2B-225
Weweler US 07394 F Contitech FD 200-25
1,: Dunlop Fr S09280
Firestone W01-M58-7679
Gart T291, 2B
® ® Goodyear 2B9-269
Phoenix SP2B 12 R

Vibracoustic V SP 2B 12 RA-10

Height: 330mm - 77mm Metric
Airsprings.com Part No. 15710
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Scania 1319761 Airtech 2B-225
Contitech FD 200-19
Firestone 20C-2
WO01-M58-6891
Gart T291, 2B
44
® — Goodyear 2B9-252
M14x1.5
Metric
Airsprings.com Part No. 15914
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
BPW 05.419.00.28.0 Contitech 620N
200 200 Gigant 186090
Height: 310mm - 80mm Metric
Airsprings.com Part No. 15915
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Gigant 186034 Contitech 620N
200 200
f 270 {
%
Height: 310mm - 80mm Metric

@ Bolt/Stud | @ Threaded Hole | & Airinlet | O Combo Stud

Granning UK Ltd +44 (0) 1925 810 400
Granning Ireland Ltd +353 (0) 45 875 996 H i
1 3 : 2 Granning (NI) Ltd +44 (0) 2890 740 055 airsprings

Granning Poland +48 (0) 785 875 996



@irsprings”

Airsprings.com Part No. 15663
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Firestone WO01-681-7700
Goodyear 2B14-359
1/4NPT
Height: 304mm - 122mm Imperial
Airsprings.com Part No. 15647
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Neway 905 57 001 Airtech 2B-355
MO5 57 003 Firestone W01-358-7135
Goodyear 2B14-360
Meritor MLF7070
1/4NPT
Height: 304mm - 77mm Imperial
Airsprings.com Part No. 15779
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Neway 905 57 001 Airtech 2B-355
2xB1.0) 307 MO5 57 003 Firestone W01-358-7135
368 287 Goodyear 2B14-360
Meritor MLF7070
Height: 304mm - 77mm Metric
Airsprings.com Part No. 16022
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Chereau Airtech 2B-355
Contitech FD 530-22
368 Firestone WO01-M58-7501
Goodyear 2B14-465
Phoenix SP2B 34R
Height: 304mm - 77mm Metric

@® Bolt/Stud | @ Threaded Hole | & Airinlet | O Combo Stud

- Granning UK Ltd +44 (0) 1925 810 400
H H Granning Ireland Ltd +353 (0) 45 875 996
airsprings Granning (NI) Ltd +44 (0) 2890 740 055 1 3 3

Granning Poland +48 (0) 785 875 996



@irsprings’

Airsprings.com Part No. 15664

Top Plate Bottom Plate OE Part No Cross Ref
Firestone W01-358-6808

Assembly View

Height: 355mm - 122mm |mperia|
Airsprings.com Part No. 15646
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Hendrickson NA1816 Airtech 2B-301
220 SAF 3.229.1001.00 Connect M 1608-01
157 Contitech FD 330-22
(11— — L
Dunlop Fr S$12201
Firestone WO01-358-7180
® ® Gart T271, 2
Goodyear 2B12-425
Pirelli 22B
Taurus KF 222-302
Height: 305mm - 76mm Imperial Vibracoustic | VSP2B22R-7180
Airsprings.com Part No. 15650
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Hendrickson NA1060 Firestone WO01-358-7403
229 B1159 Goodyear 2B12-307
157 Taurus KF 222-7403

Vibracoustic V SP 2 B 22 R-7403

® ®
1/4NPT
Height: 305mm - 107mm Imperial
Airsprings.com Part No. 15778
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Firestone WO01-M58-7524
24x(M8x1.0) Gart T271, 2
Meritor MLF7074
Pirelli 22

c—

¥

Height: 305mm - 76mm Metric

@ Bolt/Stud | @ Threaded Hole | & Airinlet | O Combo Stud

Granning UK Ltd +44 (0) 1925 810 400
Granning Ireland Ltd +353 (0) 45 875 996 H i
Granning (NI) Ltd +44 (0) 2890 740 055 airsprings

1 : ; 4 Granning Poland +48 (0) 785 875 996



@irsprings”

22,22C-1.5

Airsprings.com Part No. 15735
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Scania Bus 411726 Firestone 22
WO01-358-7411
I 299
- T
73
B C
Height: 105mm Imperial
Airsprings.com Part No. 15666
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Airtech 2B-320
229 Dunlop Fr S$12280
bl Firestone 22C-15
WO01-681-7440
Goodyear 2B12-305
® ®
1/4NPT
Height: 330mm - 77mm Metric
Airsprings.com Part No. 15793
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Hendrickson Firestone 22C-1.5
229 229 WO01-358-7472
140 157
o ® ®
1/4NPT
Height: 330mm - 77mm Imperial
Airsprings.com Part No. 15798
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Hendrickson NA1825 Firestone 22C-1.5
299 WO01-358-7447
157
O) O)
1/4NPT
Height: 330mm - 107mm Imperial

@® Bolt/Stud | @ Threaded Hole | & Airinlet | O Combo Stud

Granning UK Ltd
Granning Ireland Ltd
Granning (NI) Ltd
Granning Poland

+44 (0) 1925 810 400
+353 (0) 45 875 996
+44 (0) 2890 740 055
+48 (0) 785 875 996

135



@irsprings’

22C-1.5, 28, 210C-1.5

Airsprings.com Part No. 16276
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
ROR 21226068 Airtech 2B-320
Connect MD 1608-02
2 Firestone 22C-15
157
WO01-M58-6875
73
® R ®
Height: 77mm Metric
Airsprings.com Part No. 16275
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Weweler US 06385 F Firestone 210C-1.5
220 WO01-M58-6385
157
O) ®
Height: 79mm Metric
Airsprings.com Part No. 16190
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Kassbohrer 4731007000 Firestone 28
36x(M10x1.5)
Austeras WO01-M58-7531
Calabrese Pirelli 28BR
Veras
Volvo
Height: 79mm Metric

@ Bolt/Stud | @ Threaded Hole | & Airinlet | O Combo Stud

Granning UK Ltd +44 (0) 1925 810 400

1306

Granning Ireland Ltd
Granning (NI) Ltd
Granning Poland

+353 (0) 45 875 996
+44 (0) 2890 740 055
+48 (0) 785 875 996



@irsprings” 26, 224C, 228-1.5, 255C-1.5

Airsprings.com Part No. 16036
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Hendrickson NA1821 Airtech 2B-180
133 Contitech FD 120-17
70
Dunlop Fr S08200
Firestone 26
W01-358-7325
® @®
Goodyear 2B8-2152
1/4NPT
Height: 266mm - 77mm Imperial
Airsprings.com Part No. 16089
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Driverite Firestone W21-760-0335
135 —— 135 Firestone 224C
70 70
| r
55
® ®
1/4NPT
Height: 229mm - 72mm Imperial
Airsprings.com Part No. 17029
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Hendrickson NA100095 Firestone 228-1.5
229 29 WO01-455-6822
140 157
Q ®
1/4NPT
N i — )
Height: 77mm Imperial
Airsprings.com Part No. 15598
Assembly View Top Plate Bottom Plate OE Part No Cross Ref
Driverite Firestone 255C-1.5
1a 1a W21-760-6957
r 44 r T
1
22
1/4NPT
Height: 205mm - 77mm Imperial

@® Bolt/Stud | @ Threaded Hole | & Airinlet | O Combo Stud

- Granning UK Ltd +44 (0) 1925 810 400
H H Granning Ireland Ltd +353 (0) 45 875 996
airsprings Granning (NI) Ltd +44 (0) 2890 740 055 1 3 7

Granning Poland +48 (0) 785 875 996



38C, 313C